[Freed puters EUR AUD [auD

|Code |Product Pricing before 1st Aug 2021 |Pricing from 1st August 2021 |Pricing before 1st Aug 2021 |Pricing from 1st August 2021
#3151 Silicone protection cover 12.06 13.30 19.36 213
#4031 Advanced Nitrox to Closed Circuit (without cable) 250 275.00 401.23 441.4
#4032 Basic Nitrox to Closed Circuit (without cable) 375 412.00 601.84 650
#1283 Freedom connector cap 5.48 6.10 8.79 9.7
#8078 Spare parts of USB charger 16.44 18.10 26.38 29.1
#1483 Attachment strap for a dry suit 9.86 10.90 15.82 17.5
#1487 Connector cap 5.48 6.10 8.79 9.7
#1481 Attachment bungee 1.08 1.20 1.73 2
#8075 USB charger 54.8 60.30 87.95 96.8
#8074 Protector display overlay for Freedom (2,4" displayj 12.06 13.30 19.36 21.3
#8273 Freedom CCR Bottom Timer without cable 699 748.00 1121.83 1200.4
#8102 Freedom Advanced Bottom Timer 480 513.60 770.35 824.3
#8272 Freedom Closed Circuit without cable 760 813.20 1219.72 1305.2
#8058 Freedom Full Trimix 690 738.30 1107.38 1184.9
#8057 Freedom Advanced Nitrox 590 631.30 946.89 1013.2
#8056 Freedom Basic Nitrox 530 567.10 850.6 910.2
#4016 CCR Bottom Timer to Closed Circuit (without Cable| 200 214.00 320.98 343.5
#4030 Advanced Bottom Timer to Closed Circuit (without 310 331.70 497.52 532.4
#4033 Full Trimix to Closed Circuit (without cable) 160 171.20 256.78 274.8
#4013 Advanced Bottom Timer to Full Trimix 274 293.20 439.74 470.6
#4012 Advanced Bottom Timer to Advanced Nitrox 191.8 205.30 307.82 329.4
#4011 Advanced Bottom Timer to Basic Nitrox 64.66 69.20 103.77 1111
#4008 Advanced Nitrox to Full Trimix 100.5 107.60 161.29 172.6
#4006 Basic Nitrox to Full Trimix 228.3 244.30 366.4 392.1
#4005 Basic Nitrox to Advanced Nitrox 155.3 166.20 249.24 266.7
#1482 Attachment strap 9.86 10.90 15.82 17.5
#8077 Freedom USB cable 44.94 49.50 72.12 79.4
Freedom computers > Bottom Timers 0.00 0
Code Product

#8273 Freedom CCR Bottom Timer without cable 699 748.00 1121.83 1200.4
#8102 Freedom Advanced Bottom Timer 480 513.60 770.35 8243
Freedom computers > Deco computers 0.00 0
Code Product 0.00 0
#8272 Freedom Closed Circuit without cable 760 813.20 1219.72 1305.2
#8058 Freedom Full Trimix 690 738.30 1107.38 1184.9
#8057 Freedom Advanced Nitrox 590 631.30 946.89 1013.2
#8056 Freedom Basic Nitrox 530 567.10 850.6 910.2
Freedom computers > Software upgrade 0.00 0
Code Product 0.00 0
#4031 Advanced Nitrox to Closed Circuit (without cable) 250 267.50 401.23 429.4
#4032 Basic Nitrox to Closed Circuit (without cable) 375 401.30 601.84 644
#4016 CCR Bottom Timer to Closed Circuit (without Cable| 200 214.00 320.98 343.5
#4030 Advanced Bottom Timer to Closed Circuit (without 310 331.70 497.52 532.4
#4033 Full Trimix to Closed Circuit (without cable) 160 171.20 256.78 274.8
#4013 Advanced Bottom Timer to Full Trimix 274 293.20 439.74 470.6
#4012 Advanced Bottom Timer to Advanced Nitrox 191.8 205.30 307.82 329.4
#4011 Advanced Bottom Timer to Basic Nitrox 64.66 69.20 103.77 1111
#4008 Advanced Nitrox to Full Trimix 100.5 107.60 161.29 172.6
#4006 Basic Nitrox to Full Trimix 228.3 244.30 366.4 392.1
#4005 Basic Nitrox to Advanced Nitrox 155.3 166.20 249.24 266.7
Freedom computers > Accessories 0.00 0
Code Product

#3151 Silicone protection cover 12.06 13.30 19.36 213
#1283 Freedom connector cap 5.48 6.10 8.79 9.7
#8117 Freedom Nitrox Analyzer 131.52 144.70 211.08 232.2
#8078 Spare parts of USB charger 16.44 18.10 26.38 29.1
#1483 Attachment strap for a dry suit 9.86 10.90 15.82 17.5
#1487 Connector cap 5.48 6.10 8.79 9.7
#1481 Attachment bungee 1.08 1.20 1.73 2
#8075 USB charger 54.8 60.30 87.95 96.8
#8074 Protector display overlay for Freedom (2,4" displayj 12.06 13.30 19.36 213
#1482 Attachment strap 9.86 10.90 15.82 17.5
#8077 Freedom USB cable 44.94 49.50 72.12 79.4
Analyzers 0.00 0
Code Product

#7114 Flow limiter for 2nd stage hose 11 12.10 17.65 19.5
#8009 Connection hose 10.1 11.20 16.21 17.9
#8063 Professional flow limiter M26x2 142.68 157.00 228.99 251.9
#8133 Steel balls — 5 pcs 2.19 2.50 3.51 3.9
#8021 Professional flow limiter 133 146.30 213.45 234.8
#8104 Rechargeable battery upgrade 55 60.50 88.27 97.1
#8314 Set Diver Basic

#8317 Set Diver Max

#8020 Standard flow limiter

#1504 Upgrade of the standard flow limiter

#8260 Service kit - Professional flow limiter 8 8.80 12.84 14.2
#8062 Standard flow limiter M26x2 117 128.70 187.77 206.6
#8064 Standard flow limiter W21.8-14

#8300 Analyzer SOLO 579 629.00 929.24 991
#1052 Flow limiter for an inflator 14.58 16.10 23.4 25.8
#8313 Analyzer He/02 722 789.00 1158.74 1244
#8315 Set Blender Basic 843 928.00 1352.93 1463
#3026 Adapter with endings for the whole world 36.5 40.20 58.58 64.5
#8024 Bleed valve 10.41 11.50 16.71 18.4
#3367 SEMI-HARD ZIPPER CASE FOR ANALYZER SOLO 25 27.50 40.12 44.2




#8014
#8019
#1210
#8023
#8316
#8018
#8069
#1741
#8049
#1533
#8017
#3362
#8012
#8306
#8065
#8087
#8088
#3001
#1512
#1534
#8258
#8015

Measuring cables

Analyzer replacement parts

Relief valve screw

Upgrade of the standard limiter to the professional
Set Blender Max

Ohmmeter

Service kit - Standard flow limiter
Oxygen sensor connection block (thread M5)
Programming connector DVI
Adapter M12x1 -> G1/2"
Voltmeter

USB-C cable - 1m

Simple flow limiter

Simple flow limiter for SOLO
Professional flow limiter W21.8-14
Flowmeter

Flowmeter with a hose

Oxygen sensor Divesoft 225
Adapter M12x1 -> G5/8"

Adapter M12x1 -> G1/4"

Service kit - He/O2 analyzer

Peli 1200 Protector Case

Analyzers > Analyzers

Code
#8300
#8313

Product
Analyzer SOLO
Analyzer He/02

Analyzers > Sets

Code

#6019
#8314
#8317
#8315
#8316

Product

SOLO FLOW bundle
Set Diver Basic

Set Diver Max

Set Blender Basic
Set Blender Max

Analyzers > Accessories

Code

#3489
#3491
#8009
#8104
#3026
#3433
#3367
#8014
#8019
#8018
#1741
#8049
#1533
#3536
#8017
#3362
#3001
#1512
#1534
#8258
#1035
#8015

Product

Transport case Analyzer

Transport case Analyzer

Connection hose

Rechargeable battery upgrade

Adapter with endings for the whole world
Semi-hard zipper case for Analyzer He/02
SEMI-HARD ZIPPER CASE FOR ANALYZER SOLO
Measuring cables

Analyzer replacement parts

Ohmmeter

Oxygen sensor connection block (thread M5)
Programming connector DVI

Adapter M12x1 -> G1/2"

Transport case - personal label 70 x 30
Voltmeter

USB-C cable - 1Im

Oxygen sensor Divesoft 225

Adapter M12x1 -> G5/8"

Adapter M12x1 -> G1/4"

Service kit - He/02 analyzer

02 sensor cable

Peli 1200 Protector Case

Analyzers > Flow limiters

Code

#8063
#8133
#8021
#8020
#1504
#8260
#8062
#8064
#1052
#8024
#1210
#8023
#8069
#8012
#8306
#8065
#8087
#8088

Product

Professional flow limiter M26x2
Steel balls — 5 pcs

Professional flow limiter

Standard flow limiter

Upgrade of the standard flow limiter
Service kit - Professional flow limiter
Standard flow limiter M26x2
Standard flow limiter W21.8-14
Flow limiter for an inflator

Bleed valve

Relief valve screw

Upgrade of the standard limiter to the professional
Service kit - Standard flow limiter
Simple flow limiter

Simple flow limiter for SOLO
Professional flow limiter W21.8-14
Flowmeter

Flowmeter with a hose

Analyzers > Flow limiters > Flow limiters

Code

#8063
#8021
#8020
#1504
#8062
#8064
#1052
#8023

Product

Professional flow limiter M26x2
Professional flow limiter

Standard flow limiter

Upgrade of the standard flow limiter
Standard flow limiter M26x2
Standard flow limiter W21.8-14
Flow limiter for an inflator

Upgrade of the standard limiter to the professional

7.34
4.49
5.48
57.1

875
18.3

30.4
4.49
21.92
183
8.2
8.22
8.22
140.49
13.15
23.02
68
38.36
15.34
76.9
100.5

579
722

579

843
875

45

45
10.1
55
36.5
35

25
7.34
4.49
183
30.4
4.49
21.92
15
18.3
8.2
68
38.36
15.34
76.9

100.5

142.68
2.19
133
109
52.74

117

14.58
10.41
5.48
57.1

8.22
8.22
140.49
13.15
23.02

142.68
133
109

52.74
117

14.58
57.1

8.10
5.00
6.10
62.90
963.00
20.20
8.80
33.50
5.00
24.20
20.20
9.10
9.10
9.10
154.60
14.50
25.40
74.80
42.20
16.90
84.60
110.60
0.00

629.00
789.00
0.00

636.90

928.00
963.00
0.00

49.50
49.50
11.20
60.50
40.20
38.50
27.50
8.10
5.00
20.20
33.50
5.00
24.20
16.50
20.20
9.10
74.80
42.20
16.90
84.60
5.50
110.60
0.00

157.00
2.50
146.30
119.90
58.10
8.80
128.70

16.10
11.50
6.10
62.90
8.80
9.10
9.10
154.60
14.50
25.40
0.00

157.00
146.30
119.90

58.10
128.70

16.10
62.90

11.78
7.21
8.79

91.64

1404.29

29.37

12.84

48.79
7.21

35.18

29.37

13.16

13.19

13.19

225.47
21.1
36.94
109.13
61.56
24.62
123.42
161.29

929.24
1158.74

929.24

1352.93
1404.29

72.22
72.22
16.21
88.27
58.58
56.17
40.12
11.78
7.21
29.37
48.79
7.21
35.18
24.07
29.37
13.16
109.13
61.56
24.62
123.42
8.02
161.29

228.99
3.51
213.45
174.93
84.64
12.84
187.77

234
16.71
8.79
91.64
12.84
13.19
13.19
225.47
21.1
36.94

228.99
213.45
174.93

84.64
187.77

234
91.64

13

9.7
100.9
1550
324
14.2
53.7

38.7
324
14.5
14.6
14.6
248.1
233
40.7
120.1
67.8
27.1
135.8
177.5

991
1244

1022.2

1490
1550

79.5
79.5
17.9
97.1
64.5
61.8
44.2

13

324
53.7

38.7
26.5
324
14.5
120.1
67.8
27.1
135.8
8.9
177.5

251.9
39
234.8
192.5
93.2
14.2
206.6

25.8
18.4
9.7
100.9
14.2
14.6
14.6
248.1
233
40.7

251.9
234.8
192.5

93.2
206.6

25.8
100.9




#8012 Simple flow limiter

#8306 Simple flow limiter for SOLO
#8065 Professional flow limiter W21.8-14
#8087 Flowmeter

#8088 Flowmeter with a hose

Analyzers > Flow limiters > Spare parts

Code Product

#8133 Steel balls — 5 pcs

#8260 Service kit - Professional flow limiter
#8024 Bleed valve

#1210 Relief valve screw

#8069 Service kit - Standard flow limiter
Gadgets

Code Product

#1731 Ladder lock for double strap
#8101 QRF Buckle active part

#8066 Fluorescein

#444 Added costs

#1201 QRF Buckle, passive part

#8054 Emergency spool with a 90 m cord
#1166 Black spool, no cord

#8016 Silencer

#8025 Black spool with a 25 m cord
#3144 Cord 200 m

#8051 SOS kit

#8182 Apeks DST, technical connection
#8140 Blanking plug with pressure release button 300 bat|
#1734 Ladder lock Titanium

#1989 Sidemount Bungee Hook Titanium
#1970 Power drill line winder

#8029 Narrow reel with a 150 m cord
#8206 Krytox GPL-201

#8028 Primary reel with a 200 m cord
#1164 QRF buckle, ladder lock part
#1161 D-ring 50 mm

#7062 QRF buckle, adjustable

#1162 Ladder lock

#8027 Primary reel without a cord

#1529 Tight Screw Cap M26x2

#8052 Signal mirror

#8033 Krytox GPL-226

#1076 Tight Screw Cap DIN G5/8

#8032 quick release buckle QRF

#1955 Line Stop

#1987 Ladder lock for double strap Titanium
#1988 Drop ring Titanium

Gadgets > Reels and spools

Code Product

#8054 Emergency spool with a 90 m cord
#1166 Black spool, no cord

#8025 Black spool with a 25 m cord
#3144 Cord 200 m

#1970 Power drill line winder

#8029 Narrow reel with a 150 m cord
#8028 Primary reel with a 200 m cord
#8027 Primary reel without a cord

#1955 Line Stop

Gadgets > Reels and spools > Reels

Code Product

#3144 Cord 200 m

#1970 Power drill line winder

#8029 Narrow reel with a 150 m cord
#8028 Primary reel with a 200 m cord
#8027 Primary reel without a cord

#1955 Line Stop

Gadgets > Reels and spools > Reels > Spare parts
Code Product

#1180 Brake rubber - Reel

#1186 Spacer C - Reel

#1184 Spacer A - Reel

#1185 Spacer B - Reel

#1190 Knob screw - Reel

#1191 Lock screw - Reel

#1181 Line lead - Reel

#1188 Handle - Reel

Gadgets > Reels and spools > Spools

Code Product

#8054 Emergency spool with a 90 m cord
#1166 Black spool, no cord

#8025 Black spool with a 25 m cord
Gadgets > Gadgets

Code Product

#8066 Fluorescein

#8016 Silencer

#8051 SOS kit

#8182 Apeks DST, technical connection
#8140 Blanking plug with pressure release button 300 bat|

8.22
8.22
140.49
13.15
23.02

2.19

10.41
5.48

10.92
30.69
13.15
aldl
6.5
65

24

35

36

19
138.59
85.49
39

12

14

145
18.63
150
13.15
3.29
17.5
6.5
131
5.48
16.44
12.28
4.49
39

12.8
34

65
24
36
19

145
150
131

19

145
150
131

0.1
145
9.1

33
7.3
11.8
85.3

65
24
36

13.15
35
138.59
85.49
39

9.10
9.10
154.60
14.50
25.40
0.00

2.50
8.80
11.50
6.10
8.80
0.00

12.10
33.80
14.50
1.30
7.20
71.50
26.40
38.50
39.60
20.90
152.50
94.10
42.90
13.20
15.40
9.90
159.50
20.50
165.00
14.50
3.70
19.30
7.20
144.10
6.10
18.10
13.60
5.00
42.90
6.60
14.10
37.40
0.00

71.50
26.40
39.60
20.90
9.90
159.50
165.00
144.10
6.60
0.00

20.90
9.90
159.50
165.00
144.10
6.60
0.00

0.20
16.00
10.10

8.80

3.70

8.10
13.00
93.90

0.00

71.50
26.40
39.60

0.00

14.50
38.50
152.50
94.10
42.90

13.19
13.19
225.47
21.1
36.94

3.51
12.84
16.71

8.79
12.84

17.53
49.25
211
1.75
10.43
104.32
38.52
56.17
57.78
30.49
222.42
137.2
62.59
19.26
22.47
14.44
232.71
29.9
240.74
211
5.28
28.09
10.43
210.24
8.79
26.38
19.71
7.21
62.59
9.63
20.54
54.57

104.32
38.52
57.78
30.49
14.44

232.71

240.74

210.24

9.63

30.49
14.44
232.71
240.74
210.24
9.63

0.16
23.27
14.6
12.84
5.3
11.72
18.94
136.9

104.32
38.52
57.78

211
56.17
222.42
137.2
62.59

14.6
14.6
248.1
233
40.7

38
14.2
18.4

9.7
14.2

19.3
54.2
233

11.5
114.8
42.4
61.8
63.6
33.6
244.7
151
68.9
21.2
24.8
15.9
256
329
264.9
233
5.9
30.9
11.5
231.3
9.7
29.1
21.7

68.9
10.6
22,6
60.1

114.8
424
63.6
33.6
159

256

264.9

231.3
10.6

33.6
159
256
264.9
231.3
10.6

0.2
25.6
16.1
14.2

5.9
129
20.9

150.6

114.8
42.4
63.6

233
61.8
244.7
151
68.9




#8206
#1529
#8052
#8033
#1076

Krytox GPL-201

Tight Screw Cap M26x2
Signal mirror

Krytox GPL-226

Tight Screw Cap DIN G5/8

Gadgets > Buckles

Code Product

#1731 Ladder lock for double strap

#8101 QRF Buckle active part

#444 Added costs

#1201 QRF Buckle, passive part

#1734 Ladder lock Titanium

#1989 Sidemount Bungee Hook Titanium

#1164 QRF buckle, ladder lock part

#1161 D-ring 50 mm

#7062 QRF buckle, adjustable

#1162 Ladder lock

#8032 quick release buckle QRF

#1987 Ladder lock for double strap Titanium

#1988 Drop ring Titanium

CCR Liberty

Code Product

#1732 Titanium backplate

#8111 Travel head cover

#8098 Backplate D-ring

#8119 Hanging D-ring for Long and Wide stand

#3192 Nautec cylinder valve SLS, DIN G5/8, green
#1112 Counterlung Attachment Clip

#8307 Counterlung Attachment Clip - set

#2944 Buoyancy compensator bladder (Horseshoe)
#1224 Overpressure valve, body

#1229 Manual bypass valve, core spring

#3295 Buoyancy compensator bladder (Donut)
#1520 Counterlung bayonet connection, clamping plate, |
#1199 Bleed valve body

#1537 Spare ribbon Remove before dive

#7071 CCR Liberty handle

#8116 O-rings pocket

#3250 Pressure gauge cover - black

#1313 Connector 02, banjo, 9/16-18 UNF

#8114 Mouthpiece, elbow 38.1 mm set

#3249 Pressure gauge cover - green

#1629 BOV, gate lock piece

#2269 Screw M4 x 10, socket head, stainless

#2270 Screw M5 x 30, flat head Phillips, stainless
#2271 Screw M5 x 25 socket head, stainless

#2121 O-ring 28 x 2.60, NBR, 70 Sh

#1841 Diaphragm ADV straight right, body

#2027 O-ring 1.78 x 1, NBR, 70 Sh

#8187 Cleaning set

#8188 Gadget set

#8194 Liberty Sidemount EU

#1261 Fixing strap for 3 hoses

#1919 Connector 02, banjo, 9/16-18 UNF

#1077 Counterlung bayonet connection, holding ring
#3161 Nautec cylinder valve SLS, DIN G5/8, black (with Byl
#1744 BOV, gate with valve chamber

#1895 BOV MAV, connector 30.5 x 32 — left, inhale
#1330 Fixing strap for lock lever

#1322 Closeable connector M12x1 to 2nd stage 9/16-18 |
#3194 Membrane Apeks ATX

#7023 Multi-purpose USB connector

#7024 Counterlung, left

#1833 Low profile dump valve, body

#7019 Handset OLED 2.4

#3137 Nautec cylinder valve SLS, DIN G5/8, green (with By
#2110 0O-ring 26 x 2, NBR, 70 Sh

#1132 Canister, lock plate

#3255 Hose MAV diluent sidemount, 1410 mm
#7160 Hose MAV diluent sidemount, 1410 mm
#3370 Buoyancy compensator (wing) donut shape - Red
#1225 Overpressure valve, retaining ring

#2067 0O-ring 13,95 x 2,62, FPM (oxygen compatible), 80 |
#8137 Titanium backplate and extended narrow stand
#1580 Mouthpiece, elbow 38.1 mm (1 1/2") — inhale
#1223 Overpressure valve, ratchet spring

#1911 Sidemount CCR, Banjo cover

#8090 Adapter DIN G5/8 -> M26x2

#1323 Carrier frame, lumbar support

#1859 Banjo connection, hollow screw, w. sintered metal
#1581 Mouthpiece, elbow 38.1 mm (1 1/2") — exhale
#1579 Regulating screw, extended

#1136 1st stage manifold block, right

#3197 Sintered metal filter 7x16 mm

#7169 Spare stickers for scrubber cover - 10 pieces
#1012 One-way valve insert

#3506 2nd Divesoft Liberty Summit

N/A
N/A
N/A
N/A

N/A

N/A

N/A
N/A

18.63
5.48
16.44
12.28
4.49

10.92
30.69
aldl
6.5
12

14
13.15
3.29
17.5
6.5
39
12.8
34

438.4
64.66
16.44
19.73
107.8

42
122.08
49.32
0.22
116.48
5.48
9.52
3.29
16.44
10.96
6.58
20.82
191.8
6.58
2.56

139.6

119
105

3.29
15.6
4.38
122.12
55.6
324
2.19
8.77
15
178.65
272
21.84
548
122.12
0.22
10.96
Sil.2
51.2
345.24
3.29
1.64
844

83
0.22
5.6
69.05
121.66
20.16

162.21
16.8
10
13.15
250

N/A
N/A

20.50
6.10
18.10
13.60
5.00
0.00

12.10
33.80
1.30
7.20
13.20
15.40
14.50
3.70
19.30
7.20
42.90
14.10
37.40
0.00

482.30
71.20
18.10
21.80

118.60

7.70
46.20

134.30

54.30

0.30
128.20
6.10
10.50
3.70
18.10
12.10
7.30
23.00
211.00
7.30
2.90

153.60

130.90
115.50

3.70
17.20
4.90
134.40
61.20
35.70
2.50
9.70
16.50
196.60
299.20
24.10
602.80
134.40
0.30
12.10
56.40
56.40
379.80
3.70
1.90
928.40
91.30
0.30
6.20
76.00
133.90
22.20

178.50
18.50
11.00
14.50

275.00

N/A
N/A
N/A
N/A

N/A

N/A

N/A
N/A

29.9
8.79
26.38
19.71
7.21

17.53
49.25

1.7/
10.43
19.26
22.47

21.1

5.28
28.09
10.43
62.59
20.54
54.57

703.59
103.77
26.38
31.66
173.01
11.23
67.41
195.93
79.15
0.35
186.94
8.79
15.28
5.27
26.38
17.59
10.56
3341
307.82
10.56
4.11

224.04

190.89
168.51

5.28
25.04
7.03
195.99
89.23
52
3.51
14.07
24.07
286.72
436.53
35.05
879.49
195.99
0.35
17.59
82.17
82.17
554.08
5.28
2.63
1354.54
133.21
0.35
8.99
110.76
195.25
3235

260.33
26.96
16.05

21.1

401.23

N/A
N/A

329

9.7
29.1
21.7

19.3
54.2

11.5
21.2
24.8
233

5.9
30.9
115
68.9
22,6
60.1

774
114.2
29.1
349
190.4
12.4
74.2
215.6
87.1
0.4
205.7
9.7
16.9
5.8
29.1
19.4
11.7
36.8
338.7
11.7
4.6

246.5

210
185.4

5.9
27.6
7.8
215.6
98.2
57.2
39
15.5
26.5
315.4
480.2
38.6
967.5
215.6
0.4
19.4
90.4
90.4
609.5
5.9
29
1490
146.6
0.4
9.9
1219
214.8
35.6

286.4
29.7
17.7
233

441.4




#2132
#1606
#8003
#1480
#1104
#1855
#1122
#2244
#2217
#1799
#2153
#1084
#1825
#2041
#3124
#1920
#1492
#1488
#1640
#2064
#3123
#3202
#8105
#8153
#1781
#1883
#7114
#1792
#1319
#1788
#2088
#1134
#1894
#8009
#8106
#2059
#2074
#1507
#2077
#2222
#2206
#1494
#1915
#1916
#1917
#1918
#1324
#1215
#1884
#1590
#2028
#2264
#2253
#7075
#2030
#8155
#1770
#2223
#2014
#2231
#2220
#2249
#1819
#2248
#1129
#3252
#7162
#1227
#3025
#7073
#1530
#2042
#2050
#1793
#3203
#2018
#1628
#3130
#1934
#1925
#1610
#3021
#1931
#1019
#8208
#3011
#3008

O-ring 8 x 1.50, NBR, 70 Sh

Scrubber cartridge XT 3.3 kg, central tube
Dive/Surface Valve

Bleed valve connector

Block of oxygen sensors, cell holder
Counterlung back mounted, left, bladder PES (yellg|
Scrubber cartridge, inner tube

Screw M3 x 10, socket head, stainless

Screw M3 x 10, flat head Phillips, stainless
BOV, fastening screw for connector

O-ring 37x2, MVQ70

Elbow 38.1 mm 65°, keyway code 1 (two tabs)
Manual add valve, body, key 2 (three tabs)
O-ring 4 x 1.80, NBR, 70 Sh

Nautec cylinder valve SLS, M26x2 green
Closeable connector UNF, stem

Modular high-pressure system, inflator hose conne
Block of oxygen sensors, cell holder pad
Compression spring

O-ring 5 x 2, NBR, 70 Sh

Nautec cylinder valve SLS, DIN G5/8 black
Protective sleeve for handset cable

Quick release harness kit

Set of covers for corrugated hoses

Diaphragm ADV T-piece, body

BOV, MAV plug left

Flow limiter for 2nd stage hose

Diaphragm ADV, dispensing valve, lever
Handset, hinge screw

Diaphragm ADV, dispensing valve, body
O-ring 6 x 1.50, NBR, 70 Sh

1st stage manifold block, left

BOV MAV, connector 30.5 x 32 — right, exhale
Connection hose

CCR Liberty caps set

O-ring 5.40 x 2, NBR, 70 Sh

0O-ring 54 x 2, NBR, 70 Sh

Pushrod (opening pressure 4 kPa)

O-ring 58x2, NBR, 70 Sh

Screw M2 x 6, flat head Phillips, stainless
Screw M2 x 8, flat head Phillips, stainless
Manual addition valve swivelling, stop
Sidemount CCR, tank strap, left

Sidemount CCR, tank strap, right

Sidemount CCR, canister strap, left (longer) part
Sidemount CCR, canister strap, right (shorter) part
Carrier frame, bracket

Tee-piece 38.1 mm, split (water trap)

BOV, MAV plug right

Front Mounted Counter Lungs Drying Hanger
0O-ring 6.08 x 1.78, NBR, 70 Sh

Screw M4 x 70, socket head, stainless

Screw M4 x 70, socket head, stainless for block of (
BOV manual add valve (MAV) — right, exhale, oxyg|
O-ring 28.30 x 1.78, NBR, 70 Sh

Manual add valve, oxygen, key 2 (three tabs)
BOV, MAV rotary dice

Screw M4 x 8, flat head hex, stainless

0O-ring 13,5 x 1.50, NBR, 70 Sh

Screw M5 x 12, flat head Phillips, stainless
Screw M5 x 16, flat head Phillips, stainless
Screw M6 x 16, T30, stainless

Manual add valve, valve insert 4 L/s

Screw M6 x 8, T30, stainless

Scrubber cartridge, retaining ring

Hose for oxygen supply sidemount, 445 mm
Hose for oxygen supply sidemount, 445 mm
Overpressure valve, spindle

1st stage regulator Apeks DST with left manifold bl
Strap for Argon tank

Hose cap 9/16-18 UNF

O-ring 8.10 x 1.60, NBR, 70 Sh

O-ring 8.74 x 1.78, NBR, 70 Sh

Diaphragm ADV, dispensing valve, plug
Neoprene pouch - black

O-ring 6 x 2, NBR, 70 Sh

BOV, body (with mouthpiece)

Buoyancy compensator (wing)

BOV MAV, left lever, short, green

BOV MAV, valve body - exhale

Scrubber cartridge XT 3.3 kg, inner tube

Hose for inflator 878 mm

BOV MAV, left lever, green

Counterlung bayonet connection, retaining nut
Loop hose weights

Retaining ring DIN 471, shaft 312 mm

Retaining ring DIN 472, bore 032 mm

0.08
45.6
373.74
5.48
87.68
64
37.26
0.2
0.08
8.88
1.04
62.47
27.11
0.08
107.8
13.76
16.44
26.3
1.68
0.08
107.8
9.86
86.58
23.02
115.76
9.68
11

A
1.6
0.11
162.21
324
10.1
42.74
0.11
0.66
5.48
0.77
0.11
0.11
11
216
21.6
14.64
20.16
53.7
72.34
9.68
27.4
0.11
0.33
5.28
148
0.33
114.8
12.12
0.11
0.13
0.11
0.11
0.55
15.12
0.33
9.86
28

28
17.54
264
16.44

0.08
0.11
10.4
16.44
0.11
161.76
345.24
252
12.4
28.8
56.99

16.44
82.2
0.33
1.42

0.10
50.20
411.20
6.10
96.50
70.40
41.00
0.30
0.10
9.80
1.20
68.80
29.90
0.10
118.60
15.20
18.10
29.00
1.90
0.10
118.60
10.90
95.30
25.40
127.40
10.70
12.10
2.20
1.30
1.80
0.20
178.50
35.70
11.20
47.10
0.20
0.80
6.10
0.90
0.20
0.20
12.10
23.80
23.80
16.20
22.20
59.10
79.60
10.70
30.20
0.20
0.40
5.90
162.80
0.40
126.30
13.40
0.20
0.20
0.20
0.20
0.70
16.70
0.40
10.90
30.80
30.80
19.30
290.40
18.10
6.60
0.10
0.20
11.50
18.10
0.20
178.00
379.80
2.80
13.70
31.70
62.70
3.30
18.10
90.50
0.40
1.60

0.13
73.18
599.82
8.79
140.72
102.71
59.8
0.32
0.13
14.25
1.67
100.26
43.51
0.13
173.01
22.08
26.38
4221
27
0.13
173.01
15.82
138.95
36.94
185.78
15.54
17.65
3.21
1.77
2.57
0.18
260.33
52
16.21
68.59
0.18
1.06
8.79
1.24
0.18
0.18
17.65
34.67
34.67
235
32.35
86.18
116.1
15.54
43.97
0.18
0.53
8.47
237.53
0.53
184.24
19.45
0.18
0.21
0.18
0.18
0.88
24.27
0.53
15.82
44.94
44.94
28.15
423.69
26.38
9.63
0.13
0.18
16.69
26.38
0.18
259.61
554.08
4.04
19.9
46.22
91.46
481
26.38
131.92
0.53
2.28

0.2
80.5
659.9
9.7
154.8
113
65.8
0.4
0.2
15.7
1.9
110.3
47.9
0.2
190.4
243
29.1
46.5

0.2
190.4
17.5
152.9
40.7
204.4
17.1
19.5
3.6

2.9
0.2
286.4
57.2
17.9
75.5
0.2
1.2
9.7
1.4
0.2
0.2
19.5
38.2
38.2
25.9
35.6
94.8
127.8
17.1
48.4
0.2
0.6
9.4
261.3
0.6
202.7
214
0.2
0.3
0.2
0.2

26.7
0.6
17.5
49.5
49.5
31
466.1
29.1
10.6
0.2
0.2
18.4
29.1
0.2
285.6
609.5
4.5
219
50.9
100.7
53
29.1
145.2
0.6
2.6




#1802
#7078
#1519
#1850
#8158
#2078
#1924
#3087
#1275
#1804
#1627
#2275
#2073
#7084
#1128
#7085
#7083
#1491
#1840
#1470
#1027
#1914
#1937
#2210
#1827
#7021
#1823
#2280
#7076
#1765
#1766
#1014
#7067
#2209
#1486
#2038
#1927
#1010
#2081
#2045
#2016
#2125
#1497
#2021
#1932
#1604
#2058
#1592
#1589
#3201
#1933
#1543
#2236
#7014
#1120
#7189
#3023
#3024
#2084
#1004
#3204
#7025
#1121
#2071
#1498
#3114
#7167
#3364
#1218
#1608
#1214
#1853
#1557
#8262
#1219
#1928
#1334
#3271
#1783
#1612
#1232
#1559
#1255
#1852
#1123
#1130
#7141

BOV MAV, recoil spring

Bailout valve BOV with ADV, mouthpiece
Counterlung bayonet connection, clamping plate, ||
Tightening tool for diaphragm ADV

Manual add valve, swivelling, diluent, key 1 (two tg|
O-ring 75x2, NBR, 70 Sh

BOV MAV, valve body - inhale

Zip tie 280x4.5, black

Handset, hinge

BOV, regulator chamber (with HUD)

BOV, regulator chamber (without HUD)

Screw M3 x 12, flat head, stainless

0O-ring 6 x 1, NBR, 70 Sh

MAV, valve core, diluent 4 L/s

Canister, tube

MAV, valve core, oxygen 0.7 L/s

Diaphragm ADV, dispensing valve (accessory)
Modular high-pressure system, inflator hose conne
Diaphragm ADV straight left, body

Automatic Diluent Valve, Lever

BOV MAV, connector 39.6 x 28 — left, inhale
Sidemount CCR, hose fastening strap

Coupling insert

Screw M4 x 10, flat head Phillips, stainless

Manual add valve, gate valve

Buddy Display

Manual add valve, snap ring

Screw M4 x 30, socket head, stainless

BOV manual add valve (MAV) — left, inhale, diluen
Mouthpiece, straight nipple 44.6 x 18 mm — inhalg
Mouthpiece, straight nipple 44.6 x 18 mm — exhal
Dive/Surface Valve, retaining ring

Apeks DST, Connector DIN (G 5/8), assembly
Screw M3 x 16, socket head, stainless

Bayonet socket, cover

O-ring 65 x 2, NBR, 70 Sh

Multitool for low profile dump valve

Dive/Surface Valve, gate handle

0-ring 7,66 x 1,78, FPM, 80 Sh

O-ring 12.5 x 2, NBR, 70 Sh

0-ring 12 x 2, NBR, 70 Sh

O-ring 12 x 3, NBR, 70 Sh

Mouthpiece, hose branch 38.1 mm (1 1/2") — exh{
O-ring 19 x 2, NBR, 70 Sh

BOV MAV, right lever, black

Scrubber cartridge, retaining ring

0-ring 9.25 x 1.78, NBR, 70 Sh

Relief valve 300 kPa, body

Hanging loop for Argon tank

Silicone protective sleeve for handset

BOV MAV, right lever, short, black

Relief valve 300 kPa, plug

Set screw M3 x 6, flat, hex, stainless

Crotch strap, complete

Scrubber cartridge, cover

Dive/Surface Valve, snap ring with eyelets

Tank strap

Central strap

O-ring 8.10 x 1.60, FPM, 80 Sh

Automatic Diluent Valve, Body

Neoprene pouch - red

Counterlung, right

Scrubber cartridge, plug

0O-ring 9.70 x 1, NBR, 70 Sh

Counterlung bayonet conection, socket, right versij
1st stage regulator Apeks DST with right manifold I
Scrubber cover with stickers

Safety Mouthpiece

Counterlung, left, cover

Scrubber cartridge 3.3 kg, plug

Tee-piece 38.1 mm, through

Counterlung, back mounted, left (cover)

Relief valve 300 kPa, compression spring

Service kit - Liberty o-rings

Counterlung, right, cover

BOV multitool

Canister, edge protector

Hose for manual oxygen bypass 830 mm - green
Diaphragm ADV (T-piece), banjo connector

02 cell test equipment, plug

Modular high-pressure system, inflator hose conne
Relief valve 300 kPa, plug support

Dive/Surface Valve, gate

Counterlung, back mounted,right (cover)

Scrubber cartridge, outer tube

Canister, water trap cover

Scrubber cartridge XT 2.5 kg outer tube with welde|

0.84
868.32
5.48
8.4
114.76
0.88
124
0.36
2.19
155
154
0.08
0.11
40
207.14
40
33.52
24.11
139.6
7.67
43.68
7.36
6.72
0.11
15.48
100
1.68
0.6
148
21.52
21.52
0.22
69.05
0.11
19.73
0.77
9.2
2.19
0.55
0.22
0.12
0.2
29.59
0.22

5.88
0.11
6.4
10.96
12.06
2.52
0.36
0.22
49.32
59.36
35
12.06
15.34
0.66
36.17
16.44
336
51.51
0.04
20.82
264
79
145
100
10.4
72.34
116.8
1.68
19
100
22
10.96
56.99
20.96
24

11
4.2
38.36
116.8
64.66
106.31
105.6

1.00
955.20
6.10
9.30
126.30
1.00
13.70
0.40
2.50
170.50
169.40
0.10
0.20
44.00
227.90
44.00
36.90
26.60
153.60
8.50
48.10
8.10
7.40
0.20
17.10
110.00
1.90
0.70
162.80
23.70
23.70
0.30
76.00
0.20
21.80
0.90
10.20
2.50
0.70
0.30
0.20
0.30
32.60
0.30
3.30
6.50
0.20
7.10
12.10
13.30
2.80
0.40
0.30
54.30
65.30
3.90
13.30
16.90
0.80
39.80
18.10
369.60
56.70
0.10
23.00
290.40
86.90
159.50
110.00
11.50
79.60
128.50
1.90
20.90
110.00
24.20
12.10
62.70
23.10
26.40
12.10
4.70
42.20
128.50
71.20
117.00
116.20

1.35
1393.57
8.79
13.48
184.08
1.41
19.9
0.58
3.51
248.76
247.15
0.13
0.18
64.2
332.44
64.2
53.8
38.69
224.04
12.31
70.1
11.81
10.78
0.18
24.84
160.49
27
0.96
237.53
3454
34.54
0.35
110.82
0.18
31.66
1.24
14.77
3.51
0.88
0.35
0.19
0.32
47.49
0.35
4.81
9.44
0.18
10.27
17.59
19.36
4.04
0.58
0.35
79.15
95.27
5.62
19.36
24.62
1.06
58.05
26.38
539.25
82.67
0.06
33.41
423.69
126.79
232.71
160.49
16.69
116.03
187.45
27
30.49
160.49
3531
17.59
91.46
33.64
38.52
17.65
6.74
61.56
187.45
103.77
170.62
169.48

1.5
1533
9.7
14.9
202.5
1.6
219
0.7
39
273.7
271.9
0.2
0.2
70.7
365.7
70.7
59.2
42.6
246.5
13.6
77.2
13
119
0.2
27.4
176.6

11
2613
38
38
0.4
122
0.2
349
1.4
16.3
3.9

0.4
0.3
0.4
52.3
0.4
53
10.4
0.2
11.3
19.4
213
4.5
0.7
0.4
87.1
104.8
6.2
213
27.1
1.2
63.9
29.1
593.2
91
0.1
36.8
466.1
139.5
256
176.6
18.4
127.7
206.2

33.6
176.6
38.9
19.4
100.7
37.1
42.4
19.5
7.5
67.8
206.2
114.2
187.7
186.5




#8083
#1584
#7045
#1216
#1538
#3270
#1856
#1340
#1028
#1839
#3298
#1131
#1278
#1603
#7064
#1986
#7043
#1791
#8167
#3251
#7079
#8263
#7013
#1845
#2029
#1021
#1126
#2133
#1476
#1475
#7097
#2044
#1500
#1614
#8006
#1558
#1471
#1923
#3213
#8160
#1813
#1125
#1124
#7028
#8072
#7052
#1527
#1838
#7194
#1594
#1593
#1780
#3215
#7080
#8189
#1865
#1796
#2032
#2036
#7026
#8143
#1882
#1617
#8144
#1980
#8082
#1217
#1585
#3007
#7039
#1469
#1926
#8071
#1472
#3195
#1228
#2047
#1262
#1808
#1913
#3120
#8035
#3128
#1806
#1767
#1528
#1141

Counterlung bayonet connection, left version, lock
Transport cover for the head, cover

Charging cable USB

Blind plug

LP hose plug 9/16-18 UNF with lug

Hose for oxygen supply 436 mm - green

Blanking plug 7/16-20 (high pressure)

Automatic Diluent Valve, Plate

BOV MAV, connector 39.6 x 28 — right, exhale
Diaphragm ADV, dispensing valve, seat 20 mm2
CIRCUIT DIRECTION (Right to Left)

Canister, hinge barb

Corrugated hose, 1 1/2" x 13"

Compression spring - scrubber XT

HUD, Buddy Display Connector Blank Plug

HUD, Buddy Display Connector Blank Plug

Crotch strap, raw

BOV MAV, valve cover

Low profile dump valve

Low profile dump valve, umbrella valve

Scrubber cartridge 3.3 kg (complete)

Service kit - Liberty spare parts

Jumper for battery pack

Dispensing valve Apeks, lock

O-ring 20.35 x 1.78, NBR, 70 Sh

Counterlung bayonet connection, socket, left versif
Scrubber cartridge, pressure spring

O-ring 21x2, EPDM

Counterlung bayonet connection, socket, left versif
Counterlung bayonet conection, socket, right versij
Sidemount CCR, loop assembly

O-ring 10 x 2, NBR, 70 Sh

Counterlung bayonet connection, socket, left versif
02 cell test equipment, clamp handle

Counterlung bayonet connection, socket, left versif
Relief valve 300 kPa, screw

Automatic Diluent Valve, Shaft

BOV MAV, connector 44.6 x 18 — left, inhale
Diaphragm ADV, dispensing valve, spring

Divex DMM, connector

Divex DMM, retaining ring

Scrubber cartridge, bottom

Canister, bottom

Canister (complete)

Counterlung bayonet connection, socket, left versif
HUD raiser 17 mm

Rotary stop

Diaphragm ADV, dispensing valve, seat 16 mm2

O ring service kit for BCD inflator

02 cell test equipment, upper plate

02 cell test equipment, bottom plate

BOV, ADV screw

Low profile dump valve, compression spring
Canister XT 3.3 kg

Liberty BMCL

Sidemount CCR, counterlung, exhale (right) bladde
BOV retaining ring for ADV screw

0O-ring 2.90 x 1.78, NBR, 70 Sh

0-ring 20 x 2, NBR, 70 Sh

Head (complete, without HUD, BD, handsets)
Counterlung back mounted, left (complete)
Canister XT, flat bottom

Canister 3.3 kg, bottom

Counterlung back mounted, right (complete)
Helium Sensor — Blind Plug

Counterlung bayonet connection, socket, right very
Adjusting tool for counterlung bayonet connectors|
Transport cover for the head, stopper

Mouthpiece "Divex"

Harness, complete

Automatic Diluent Valve, Sidewall

BOV MAV, connector 44.6 x 18 — right, exhale
Counterlung bayonet connection, socket, right very
Harness, raw strap

Diaphragm protector Apeks ATX

Overpressure valve, knob

O-ring 158 x 2, NBR, 70 Sh

Fixing strap for 4 hoses

Mouthpiece, straight nipple 30.5 x 32 mm — inhalg
Sidemount CCR, rear handle

Schrader valve, JRA core

Overpressure valve

1st stage overpressure relief valve 3/8-24 UNF
Mouthpiece, straight nipple 39.3 x 40.6 mm — exh
Mouthpiece, straight nipple 39.6 x 28 mm — inhalg
Overpressure valve, core spring, hard

Carrier frame, lock lever pivot

N/A

N/A

61.38
64.66
62.47
32.88
6.56
39.46
5.6
6.58
43.68
5.88

56.99
46.03
0.76
12

12
22.24
3.88
96.24
1
320.28
219
20.82
10.5
0.22
20.82
il
1.68
29.59
29.59
1367.52
0.11
24.11
16
48.22
4.2
il
45.88
0.84
65.6
5.2
88.78
119.46
274
61.38
20.82
7.67
5.88
18
52.08
25.2
13.76
0.52
366.24

102.12
0.84
0.11
0.22

3100
196
67.2
67.2
240
55
48.22
24.11
64.66
33.98
89.87
10.96
45.88
61.38
15.34
15
58.09
4.38
3.29
21.52
36
5.49
162.21
21.92
21.52
21.52
0.44
3.29

N/A

N/A

67.60
71.20
68.80
36.20
7.30
43.50
6.20
7.30
48.10
6.50

62.70
50.70
0.90
13.20
13.20
24.50
4.30
105.90
1.10
352.40
240.90
23.00
11.60
0.30
23.00
1.30
1.90
32.60
32.60
1504.30
0.20
26.60
17.60
53.10
4.70
1.30
50.50
1.00
72.20
5.80
97.70
131.50
301.40
67.60
23.00
8.50
6.50
19.80
57.30
27.80
15.20
0.60
402.90

112.40
1.00
0.20
0.30

3410.00
215.60
74.00
74.00
264.00
60.50
53.10
26.60
71.20
37.40
98.90
12.10
50.50
67.60
16.90
16.50
63.90
4.90
3.70
23.70
39.60
6.10
178.50
24.20
23.70
23.70
0.50
3.70

N/A

N/A

98.51
103.77
100.26

52.77

10.53

63.33

8.99
10.56
70.1
9.44

91.46
73.87
1.22
19.26
19.26
35.69
6.23
154.46
1.6
514.02
351.47
3341
16.85
0.35
3341
o777/
2.7
47.49
47.49
2194.73
0.18
38.69
25.68
77.39
6.74
1.77
73.63
1.35
105.28
8.35
142.48
191.72
439.74
98.51
3341
12.31
9.44
28.87
83.58
40.44
22.08
0.83
587.78

163.89
1.35
0.18
0.35

4975.19

314.56

107.85

107.85

385.18

88.27
77.39
38.69
103.77
54.53
144.23
17.59
73.63
98.51
24.62
24.07
93.23
7.03
5.28
34.54
57.78
8.81
260.33
35.18
3454
34.54
0.71
5.28

N/A

N/A

108.4
114.2
110.3
58.1
11.6
69.7
9.9
11.7
77.2
10.4

100.7
81.3
1.4
21.2
21.2
393
6.9
170
1.8
565.5
386.7
36.8
18.6
0.4
36.8

52.3
523
24143
0.2
42.6
283
85.2
7.5

81
1.5
115.9
9.2
156.8
210.9
483.8
108.4
36.8
13.6
10.4
31.8
92
44.5
243

646.6

180.3
1.5
0.2
0.4

5472.8

346.1

118.7

118.7

423.7

97.1
85.2
42.6
114.2
60
158.7
19.4
81
108.4
27.1
26.5

102.6
7.8
5.9

38
63.6
9.7
286.4
38.7
38

38
0.8
5.9




#1761
#2025
#7098
#3134
#1335
#7053
#7054
#2142
#1910
#1801
#1803
#1834
#1566
#7020
#3303
#1836
#2140
#2129
#2123
#2053
#3248
#1226
#7130
#1854
#1220
#1805
#1631
#1768
#7100
#1857
#7102
#7140
#3005
#2024
#2089
#2033
#2031
#2082
#1763
#1764
#1526
#1605
#3018
#1880
#1762
#2055
#1561
#2062
#2010
#1771
#3260
#3292
#3129
#7163
#7135
#3092
#1846
#8297
#3019
#1800
#1941
#1893
#1864
#2048
#1892
#1794
#3020
#1314
#1818
#7173
#1587
#2117
#1774
#2023
#1787
#2034
#1582
#1583
#1015
#1797
#1866
#3022
#3116
#2022
#2043
#2035
#1260

Mouthpiece, straight nipple 34.3 x 18 mm — inhalg
O-ring 36 x 2, NBR, 70 Sh

Head-up Display (HUD), complete - for Sidemount |
USB 2.0 "AB" cable

Calibration jig

Weight pocket, left

Weight pocket, right

O-ring 26 x 1.50, NBR, 70 Sh

Sidemount CCR, rack - titanium

BOV, ADV compression spring

BOV, body (with replaceable connector)

Low profile dump valve, cover

BOV, button

Head-up Display (HUD), complete — for Backmount
Head-up Display (HUD), complete - optional cable |
Low profile dump valve, plug

0O-ring 3.50 x 1, NBR, 70 Sh

O-ring 30 x 2, NBR, 70 Sh

O-ring 34 x 3, NBR 70

O-ring 32 x 2, NBR, 70 Sh

Corrugated hose, 1 1/2" x 22"

Overpressure valve, disc

Pressure sensor

Counterlung back mounted, right, bladder PES (yell
Counterlung, bladder PUR (transparent pliable foil)
Mouthpiece, straight nipple 39.3 x 40.6 mm — inh{
Counterlung bladder (yellow)

Mouthpiece, straight nipple 39.6 x 28 mm — exhal
Scrubber cartridge XT 2.5 kg (complete)

Extension piece to the DSV, elbow — asymmetric
Canister XT 2.5 kg (complete)

Scrubber cartridge XT 3.3 kg, outer tube with weld
Umbrella valve 32 mm

O-ring 10 x 1.50, NBR, 70 Sh

O-ring 10 x 1.80, FPM, 80 Sh

O-ring 10.77 x 2.62, NBR, 70 Sh

O-ring 10.82 x 1.78, NBR, 70 Sh

O-ring 11 x 1, FPM, 80 Sh

Mouthpiece, straight nipple 45 x 28 mm — inhale
Mouthpiece, straight nipple 45 x 28 mm — exhale
Additional spring to ADV

Scrubber cartridge 3.3 kg, central ring

Hose for ADV 798 mm

Scrubber cartridge XT 2.5 kg, central tube
Mouthpiece, straight nipple 34.3 x 18 mm — exhal
O-ring 115 x 2, NBR, 70 Sh

BOV, membrane cover

O-ring 11 x 2.50, NBR, 70 Sh

0O-ring 38 x 2, NBR, 70 Sh

BOV MAV, hose connector

Manometer Sunto, BAR, 300 bar

Manometer, PSI, 240 bar

Manometer, BAR, 300 bar

Scrubber cartridge, cover with pressed-in spring hg
ADV valve tool

Oxygen sensor Divesoft 22D

Dispensing valve Apeks, blind

Conversion BMCL to FMCL

Hose for oxygen supply 436 mm

iBOV, OTS connector

Dive/Surface Valve, body

BOV MAV, connetor 34.3 x 18 — left, inhale
Sidemount CCR, counterlung, cover

O-ring 142 x 3, NBR, 70 Sh

BOV MAV, connector 34.3 x18 — right, exhale
Diaphragm ADV, dispensing valve, rubber insert
Hose for manual diluent bypass 960 mm

Elbow 38.1 mm 65°, keyway code 2 (three tabs)
Manual add valve, valve insert 0.7 L/s

Scrubber cartridge, cover with springs

BOV - Purge button spring

O-ring 14x1

BOV MAV, valve body (axial mounting)

O-ring 160 x 3, NBR, 70 Sh

Diaphragm ADV, dispensing valve, seat 12 mm2
O-ring 16 x 2, NBR, 70 Sh

Hose branch straight 38.1 mm (1 1/2"), keyway coq
Hose branch straight 38.1 mm (1 1/2"), keyway co(
Mouthpiece, hose branch 38.1 mm (1 1/2") — inhg
BOV additional rail for HUD

Sidemount CCR, counterlung, inhale (left) bladder |
HP hose for manometer 929 mm

Hose for manual oxygen bypass 830 mm

0O-ring 22 x 2, NBR, 70 Sh

0-ring 23 x 1, NBR, 70 Sh

O-ring 24 x 2, NBR, 70 Sh

Fixing strap for 2 hoses

N/A

N/A

21.52
0.44
188.4
5.48
63.57
93.16
93.16
0.36
1092
1.67
122
32
A
157
188
8.88
0.08
0.24
0.4
0.33
56
20.82
219.2
64

64
21.52
64
21.52
318.72
58.16
343.36
88.48
5.48
0.11
0.77
0.11
0.11
0.55
21.52
21.52
0.66
16.48
40.55
31.2
21.52
3.29

0.12
0.33
30

92

78

78
99.04
9.2
86
4.4

39.46
44

125
30.6
168
2.19
30.6
1.68
56.99
62.47
15.12
62
0.48
0.12
8.24
3.36
6.4
0.22
25.21
25.21
29.59
21.84
102.12
149.06
56.99
0.22
0.44
0.44
3.29

N/A

N/A

23.70
0.50
207.30
6.10
70.00
102.50
102.50
0.40
1201.20
1.90
134.20
35.20
1.30
172.70
206.80
9.80
0.10
0.30
0.50
0.40
61.60
23.00
241.20
70.40
70.40
23.70
70.40
23.70
350.60
64.00
377.70
97.40
6.10
0.20
0.90
0.20
0.20
0.70
23.70
23.70
0.80
18.20
44.70
34.40
23.70
2,700

0.20
0.40
33.00
101.20
85.80
85.80
109.00
10.20
94.60
4.90

43.50
48.40
137.50
33.70
184.80
2.50
33.70
1.90
62.70
68.80
16.70
68.20
0.60
0.20
9.10
370
7.10
0.30
27.80
27.80
32.60
24.10
112.40
164.00
62.70
0.30
0.50
0.50
3.70

N/A

N/A

34.54
0.71
302.36
8.79
102.02
149.51
149.51
0.58
1752.55
2.68
195.8
51.36
1o7/7/
251.97
301.72
14.25
0.13
0.39
0.64
0.53
89.87
334
351.6
102.71
102.71
3454
102.71
3454
511.51
93.34
551.06
142
8.79
0.18
1.24
0.18
0.18
0.88
34.54
3454
1.06
26.45
65.08
50.07
34.54
5.28

0.19
0.53
48.15
147.65
125.18
125.18
158.95
14.77
138.02
7.06

63.33
70.62
200.61
49.11
269.62
351
49.11
2.7
91.46
100.26
24.27
99.5
0.77
0.19
13.22
5.39
10.27
0.35
40.46
40.46
47.49
35.05
163.89
239.23
91.46
0.35
0.71
0.71
5.28

N/A

N/A

38

0.8
332.6
9.7
112.3
164.5
164.5
0.7
1927.9

215.4
56.5

277.2
3319
15.7
0.2
0.5
0.8
0.6
98.9
36.8
386.8
113
113
38
113
38
562.7
102.7
606.2
156.2
9.7
0.2
1.4
0.2
0.2

38
38
1.2
29.1
71.6
5581
38
5.9

03
0.6
53
162.5
137.7
137.7
174.9
16.3
151.9
7.8

69.7
77.7
220.7
54.1
296.6
3.9
54.1

100.7
110.3
26.7
109.5
0.9
0.3
146

113
0.4
446
446
523
38.6
180.3
263.2
100.7
0.4
0.8
0.8
5.9




#2054
#2080
#2126
#1779
#1345
#3302
#1875
#1092
#1777
#1139
#8149
#2152
#7174
#8279
#1093
#7041
#2120
#7001
#2224
#1786
#2284
#1798
#1908
#1521
#1503
#7018
#1023
#8120
#1346
#7195
#8319
#7042
#7133
#7175
#7063
#1515
#1523
#7095
#2002
#3131
#8261
#2130
#7027
#1826
#2277
#2207
#2245
#8094
#8093
#1567
#3184
#2154
#1824
#1300
#3083
#8092
#8191
#7123
#1301
#1495
#1909
#8159
#1630
#7183
#2017
#8186
#2214
#8150
#1822
#2037
#2001
#1532
#2049
#3199
#1485
#1778
#1821
#2213
#3085
#2247
#1127
#2085
#2252
#3200
#8147
#7190
#7191

0-ring 33 x 2, NBR, 70 Sh

O-ring 37 x 2, NBR, 70 Sh

O-ring 37 x 2, EPDM

BOV, ADV nut

Corrugated hose, shortened 1 1/2" x 9"
Handset - Custom cable length

Canister XT 2.5 kg, tube

Head, locking plate

BOV MAV, ADV valve

Carrier frame, lock barb

Counterlung bladder (yellow) - pair

O-ring 21x2, MVQ70

Sidemount CCR, S-piece, inhale

Standard scrubber 2,5 Kg

Head, hinge plate

Tank 3 1/300 bar, "Diluent", with straight valve (DIN
O-ring 25 x 3.55, FPM (oxygen compatible), 80 Sh
He sensor

Screw M2 x 16, flat head Phillips, stainless
Diaphragm ADV, diaphragm cover

Screw M2 x 20, flat head Phillips, stainless
BOV, Drager connector

Low profile dump valve, valve insert
Counterlung bayonet connection, clamping plate, 1|
Counterlung bayonet connection, locking spring
Loop assembly

Tightening tool for counterlung bayonet connector
XL scrubber 3,3 Kg

Corrugated hose, shortened 1 1/2" x 11"

O ring service kit for UNF hose

Protection set light

Tank 3 L/300 bar, "Oxygen", with straight valve (M
Handset connector blank plug

Sidemount CCR, S-piece, exhale

Tank 3 L/300 bar, "Oxygen", with straight valve (DI|
Pushrod (opening pressure 5 kPa)

Extended base, narrow - Stainless

Sidemount conterlung, complete

O-ring 4 x 1, NBR, 70 Sh

Plug-in USB charger (EU, UK, USA, AU)

Service kit - Liberty screws

O-ring 41x2, EPDM

Scrubber cartridge (radial type) (complete)
Manual add valve swivelling, body

Screw M12 x 170, socket head, stainless
Screw M2 x 10, flat head Phillips, stainless
Screw M2 x 12, flat head Phillips, stainless
CCR Liberty Spare Parts Set 2

CCR Liberty Spare Parts Set 1

BOV, exhale valve insert

Backplate, extended+80 mm

O-ring 41x2, MVQ70

Manual add valve, body, key 1 (two tabs)
Clamping ring, wide

Internal retaining ring, hole 8 mm

CCR Liberty O-rings & Screws

Back mounted counterlungs

Front mounted counterlungs, pair

Clamping ring, narrow

Manual addition valve swivelling, bayonet lock
Clamping ring narrow 42 x 7 mm

GPS module

BOV, gate

Tank 2L 200 bar, steel, OXY

0-ring 60 x 3, NBR, 70 Sh

Maintenance set

Screw M3 x 20, socket head, stainless
Counterlung bladder, pair

Manual add valve, button "DIL"

O-ring 68 x 2, NBR, 70 Sh

0-ring 6 x 2, NBR, 70 Sh

Blanking plug 3/8-24

0O-ring 7.65 x 1.63, NBR, 70 Sh

Buoyancy compensator (wing) donut shape
Radial scrubber, cover of central seal

BOV, gate partition

Manual add valve, button "OXY"

Screw M3 x 25, socket head, stainless
Stainless steel ball, hardened, 3.175 mm (1/8")
Screw M3 x 6, socket head, stainless

Scrubber cartridge, central tube

O-ring 7.60 x 2.30, FPM, 80 Sh

Screw M3 x 8, flat head, stainless

Buoyancy compensator (wing) with bungee
Head drying fan

Hose for inflator, OXY sidemount, 1350 mm

Hose for inflator, DIL sidemount, 1410 mm

N/A

N/A

0.44
0.44
1.04
3.36
46.03
658
229.32
7.6

5.1
67.95
127.14
1.68
112.48
799
9.2
296.8
3.29
121.99
0.11
10.4
0.12
15.48
10.39
5.48
4.38
486.62
26.3
989
46.03

180
296.8
13
112.48
370.92
5.48
162
472
0.11
16.44

1.2
608
24.72
126
0.11
0.11
1293
214
10
272
1.2
27.1
12
0.34
50
526
526.08
12
14.25
7.92

41.12
198
0.77
318
0.11
126.4
10.1
0.77
0.08
5.88
0.08
345.24
8.77
10.68
10.1
0.11
0.44
0.22

0.77
0.11
345.24
59
49.76
49.76

N/A

N/A

0.50
0.50
1.20
3.70
50.70
723.80
252.30
8.40
5.70
74.80
139.90
1.90
123.80
878.90
10.20
326.50
3.70
134.20
0.20
11.50
0.20
17.10
11.50
6.10
4.90
535.30
29.00
1087.90
50.70
1.10
198.00
326.50
14.30
123.80
408.10
6.10
178.20
519.20
0.20
18.10
9.90
1.40
668.80
27.20
13.90
0.20
0.20
1422.30
235.40
11.00
299.20
1.40
29.90
13.20
0.40
55.00
578.60
578.70
13.20
15.70
8.80

45.30
217.80
0.90
349.80
0.20
139.10
11.20
0.90
0.10
6.50
0.10
379.80
9.70
11.80
11.20
0.20
0.50
0.30

0.90
0.20
379.80
64.90
54.80
54.80

N/A

N/A

0.71
0.71
1.67
5.39
73.87
1056.02
368.04
12.2
8.18
109.05
204.05
2.7
180.52
1282.32
14.77
476.33
5.28
195.78
0.18
16.69
0.19
24.84
16.67
8.79
7.03
780.98
42.21
1587.25
73.87
1.6
288.88
476.33
20.86
180.52
595.29
8.79
259.99
757.11
0.18
26.38
14.44
1.93
975.78
39.67
20.22
0.18
0.18
2075.14
343.45
16.05
436.53
1.93
43.49
19.26
0.55
80.25
844.18
844.31
19.26
22.87
12.71

65.99
317.77
1.24
510.36
0.18
202.86
16.21
1.24
0.13
9.44
0.13
554.08
14.07
17.14
16.21
0.18
0.71
0.35

1.24
0.18
554.08
94.69
79.86
79.82

N/A

N/A

0.8
0.8
1.9

81.3
1161.7
404.9
135

120
2245

198.6
1410.6
16.3
524
5.9
215.4
0.2
18.4
0.3
27.4
18.4
9.7
7.8
859.1
46.5
1746
81.3
1.8
317.8
524
23
198.6
654.9
9.7
286
832.9
0.2
29.1
15.9
2.2
1073.4
43.7
223
0.2
0.2
2282.7
377.8
17.7
480.2
2.2
47.9
21.2
0.7
88.3
928.6
928.8
21.2
25.2
14

72.6
349.6
1.4
561.4
0.2
223.2
17.9
1.4
0.2
10.4
0.2
609.5
15.5
18.9
179
0.2
0.8
0.4

1.4
0.2
609.5
104.2
87.9
87.9




#3006
#1484
#1730
#2215
#2246
#1773
#2212
#2216
#8156
#7055
#2026
#2079
#2208
#1872
#1736
#1733
#2211
#8256
#2274
#8138
#7182
#7192
#7193
#8099
#1842
#1843
#1782
#8084
#7152
#7012
#1785
#8175
#8192
#7181
#1735
#8257
#8136
#8135
#8185
#8134
#8132
#8131
#3212
#1775
#2076
#8113
#8097
#8280
#1809
#8310
#8311
#8323
#7070
#8196
#1578
#1501
#1613
#1811
#7180
#1812
#1776
#1814
#1815
#1591
#8309
#8308
#7179
#1848
#1849
#7178
#1858
#7154
#7155
#8200
#1616
#1901
#1320
#1784
#1233
#7029
#7066
#1140
#3004
#1912
#3198
#3196
#3290

Umbrella valve 35.50 mm, low opening pressure
Radial scrubber, central seal

Extended base, wide - Stainless

Screw M4 x 12, flat head Phillips, stainless

Screw M4 x 16, flat head Phillips, stainless

BOV, lever lock

Screw M4 x 16, socket head, stainless

Screw M4 x 20, flat head Phillips, stainless

Manual add valve, diluent, key 1 (two tabs)
Battery pack relief valve (complete)

O-ring 7.65 x 1.78, NBR, 70 Sh

O-ring 72x2, NBR, 70 Sh

Screw M4 x 20, socket head, stainless

BOV, MAV oxygen flow limiter

Titanium extended wide stand

Titanium basic lumbar support

Screw M4 x 50, socket head, stainless

Conversion SM to BMCL

Screw M4 x 6, flat head, stainless

Titanium backplate and extended wide stand

Tank 2L 200 bar, steel, DIL

Hose for inflator, DIL BOV, 1100mm

Hose for inflator, OXY BOV, 110 mm

Carrier frame, extended support - narrow
Diaphragm ADV L-piece left, body

Diaphragm ADV L-piece right, body

Diaphragm ADV standalone, body

Automatic Diluent Valve, axial design

BOV, MAV rotary dice with pressed-in pins

Battery pack Li-lon, 5.7 Ah

Diaphragm ADV, diaphragm center

Set of connectors 38.1 x 18 mm (narrow clamp)
Counterlung bayonet connection with watertrap, s
Tank 2L, 15 cu ft, 3442 PS, steel, OXY

Titanium extended narrow stand

Conversion SM to FMCL

Oxygen sensor tester kit

Titanium backplate and basic lumbar support
Protection set

Extended base, wide - Stainless

Single tank adapter - basic

Single tank adapter

Diaphragm ADV, diaphragm

BOV MAV, connector 38.1 — left, inhale

0-ring 7 x 1, NBR, 70 Sh

Straight hose nipples for the Liberty head

Head cover

Short scrubber 2,5 Kg

Mouthpiece, straight nipple 30.5 x 32 mm — exhal
Liberty LTE Red

Liberty Light Red -QRB

Conversion to LTE

LP hose plug with ribbon

Conversion to SM USA

Nut for 2nd stage

Counterlung bayonet connection, support ring

02 cell test equipment, insert

Divex DMM, union nut

Tank 2L, 15 cu ft, 3442 PS|, steel, DIL

Divex DMM, socket

BOV MAV, connector 38.1 — right, exhale

Elbow 38.1 mm 65°, reverse inhale (keyway code 1
Elbow 38.1 mm 65°, reverse exhale (keyway code 2|
Flow limiter for an inflator

Liberty LTE Black- QRB

Liberty Light Black

Tank 3L, 23 cu ft, 3442 PS|, steel, DIL

Elbow 38.1 mm 65°, turned inhale (keyway code 17
Elbow 38.1 mm 65°, turned exhale (keyway code 2]
Tank 3L, 23 cu ft, 3442 PS|, steel, OXY

Extension piece to the DSV, elbow — symmetric
Tank 3L 300 bar, steel, OXY

Tank 3L 300 bar, steel, DIL

CCR Liberty Spare Parts Set 3

Canister XT 3.3 kg, tube

Sidemount CCR, rack - stainless

Closeable connector M12x1 to 2nd stage 9/16-18 |
Diaphragm ADV, diaphragm washer

Overpressure valve, star plate

Block of oxygen sensors (without oxygen sensors)
Block of oxygen sensors, cover assembly (with cabl
Carrier frame, lock lever

internal part of 2nd stage regulator Apeks ATX40
Counterlung bayonet connection with watertrap, s
Divesoft disinfection

Sofnolime 797 - 20 kg

Nautec cylinder valve S, DIN G5/8 green, for 2L cyli|

N/A

N/A

N/A
N/A
N/A

N/A

N/A
N/A

33
5.48
206
0.11
0.11
7.92
0.11
0.11
86.52
4.38
197
0.77
0.11
1.52
405.52
252
0.33

0.09
920.64
198

45

45
164.4
117.28
117.28
5251}
117.27
27.84
162.21

52.4
70.24
280.72
328.8

235.64
712.4
330
208.24
306.88
394.56
4.2
24.24
0.08
64.66
131.52
799
21.52

A
2.19
29.2
8.24

280.72
20.32
30.56

61
61
14.58

263.12
61

61
263.12
58.16
189
189
1094
25,2
671.99
19.73
4.2
29.59
162.21
93.16
31.78

20.32
60
155.63
94.6

N/A

N/A

N/A
N/A
N/A

N/A

N/A
N/A

N/A

36.30
6.10
226.60
0.20
0.20
8.80
0.20
0.20
95.20
4.90
2.20
0.90
0.20
1.70
446.10
277.20
0.40

0.10
1012.80
217.80
49.50
49.50
180.90
129.10
129.10
57.40
129.00
30.70
178.50
4.40
57.70
77.30
308.80
361.70

259.30
783.70
363.00
229.10
337.60
434.10
4.70
26.70
0.10
71.20
144.70
878.90
23.70

8.80

1.30
2.50
32.20
9.10
308.80
22.40
33.70
67.10
67.10
16.10

289.50
67.10
67.10

289.50
64.00

207.90

207.90

1203.40

258.80

739.20
21.80

4.70
32.60

178.50

102.50
35.00

22.40
66.00
171.20
104.10

N/A

N/A

N/A
N/A
N/A

N/A

N/A
N/A

N/A

52.96
8.79
330.61
0.18
0.18
12.71
0.18
0.18
138.86
7.03
3.16
1.24
0.18
244
650.82
404.43
0.53

0.14
1477.54
317.77
72.22
72.22
263.85
188.22
188.22
83.62
188.21
44.68
260.33
6.42
84.1
112.73
450.53
527.69

378.18
1143.33
529.62
334.2
492.51
633.23
6.74
389
0.13
103.77
211.08
1282.32
34.54

12.84

o777/
3.51
46.86
13.22
450.53
3261
49.05
97.9
97.9
234

422.28
97.9
97.9

422.28

93.34
303.33
303.33

1755.76
377.47
1078.48
31.66
6.74

47.49
260.33
149.51

51

3261
96.29
249.77
151.82

N/A

N/A

N/A
N/A
N/A

N/A

N/A
N/A

N/A

58.3
9.7
363.7
0.2
0.2
14
0.2
0.2
152.8
7.8
35
1.4
0.2
2.7
716
444.9
0.6

0.2
1625.3
349.6
79.5
79.5
290.3
207.1
207.1
92
207.1
49.2
286.4
7.1
92.6
1241
495.6
580.5

416
1257.7
582.6
367.7
541.8
696.6
7.5
42.8
0.2
114.2
232.2
1410.6
38

14.2

38
51.6
14.6

495.6
35.9
54
107.7
107.7
25.8

464.6
107.7
107.7
464.6
102.7
333.7
333.7
1931.4
415.3
1186.4
349
7.5
52.3
286.4
164.5
56.1

359
106
274.8
167.1




#3291 Nautec cylinder valve S, DIN G5/8 black, for 2L cylir|
#3259 Nautec cylinder valve SH, DIN G5/8 green, for 2L cy|
#3258 Nautec cylinder valve SH, DIN G5/8 black

#8193 Liberty SM USA

#8067 Liberty FMCL

#2150 O-ring 10 x 1, FPM, 80 Sh

#8198 Conversion to SM EU

#3253 Hose MAV oxygen sidemount, 1350 mm

#7161 Hose MAV oxygen sidemount, 1350 mm

#3254 Hose for ADV sidemount, 810 mm

#7159 Hose for ADV sidemount, 810 mm

CCR Liberty > Accessories
Code Product

#1732 Titanium backplate

#8111 Travel head cover

#8098 Backplate D-ring

#8119 Hanging D-ring for Long and Wide stand
#3192 Nautec cylinder valve SLS, DIN G5/8, green
#1112 Counterlung Attachment Clip

#8307 Counterlung Attachment Clip - set

#2944 Buoyancy compensator bladder (Horseshoe)
#3295 Buoyancy compensator bladder (Donut)
#1537 Spare ribbon Remove before dive

#7071 CCR Liberty handle

#8116 O-rings pocket

#3250 Pressure gauge cover - black

#8114 Mouthpiece, elbow 38.1 mm set

#3249 Pressure gauge cover - green

#3161 Nautec cylinder valve SLS, DIN G5/8, black (with Byl
#3137 Nautec cylinder valve SLS, DIN G5/8, green (with By
#3370 Buoyancy compensator (wing) donut shape - Red
#8137 Titanium backplate and extended narrow stand
#7169 Spare stickers for scrubber cover - 10 pieces
#3124 Nautec cylinder valve SLS, M26x2 green
#3123 Nautec cylinder valve SLS, DIN G5/8 black
#3202 Protective sleeve for handset cable

#8105 Quick release harness kit

#8153 Set of covers for corrugated hoses

#7114 Flow limiter for 2nd stage hose

#8106 CCR Liberty caps set

#1590 Front Mounted Counter Lungs Drying Hanger
#7073 Strap for Argon tank

#3203 Neoprene pouch - black

#3130 Buoyancy compensator (wing)

#8208 Loop hose weights

#7034 Oxygen connector for backmount unit
#1589 Hanging loop for Argon tank

#3201 Silicone protective sleeve for handset

#3204 Neoprene pouch - red

#7167 Scrubber cover with stickers

#3364 Safety Mouthpiece

#3271 Hose for manual oxygen bypass 830 mm - green
#3270 Hose for oxygen supply 436 mm - green
#7064 HUD, Buddy Display Connector Blank Plug
#1986 HUD, Buddy Display Connector Blank Plug
#1980 Helium Sensor — Blind Plug

#3260 Manometer Sunto, BAR, 300 bar

#3292 Manometer, PSI, 240 bar

#3129 Manometer, BAR, 300 bar

#3092 Oxygen sensor Divesoft 22D

#7208 Axial oxygen connector for sidemount unit
#8149 Counterlung bladder (yellow) - pair

#8279 Standard scrubber 2,5 Kg

#7001 He sensor

#8120 XL scrubber 3,3 Kg

#7133 Handset connector blank plug

#3184 Backplate, extended+80 mm

#8191 Back mounted counterlungs

#7123 Front mounted counterlungs, pair

#8159 GPS module

#7183 Tank 2L 200 bar, steel, OXY

#8150 Counterlung bladder, pair

#3199 Buoyancy compensator (wing) donut shape
#3200 Buoyancy compensator (wing) with bungee
#8147 Head drying fan

#1736 Titanium extended wide stand

#1733 Titanium basic lumbar support

#8138 Titanium backplate and extended wide stand
#7182 Tank 2L 200 bar, steel, DIL

#8099 Carrier frame, extended support - narrow
#7181  Tank2L, 15 cu ft, 3442 PS, steel, OXY

#1735 Titanium extended narrow stand

#8136 Oxygen sensor tester kit

#8135 Titanium backplate and basic lumbar support
#8134 Extended base, wide - Stainless

#8132 Single tank adapter - basic

#8131 Single tank adapter

9.6
107.8
107.8
N/A
N/A
0.55
N/A
49.76
49.76
40.96
40.96

Customer price excl. VAT
438.4
64.66
16.44
19.73
107.8

7
42
122.08
116.48
3.29
16.44
10.96
6.58
191.8
6.58
122.12
122.12
345.24
844
10
107.8
107.8
9.86
86.58
23.02
11
42.74
27.4
16.44
16.44
345.24
82.2
45
10.96
12.06
16.44
79
145
56.99
39.46
12
12
55
92
78
78
86
28
127.14
799
121.99
989
13
272
526
526.08
N/A
198
126.4
345.24
345.24
59
405.52
252
920.64
198
164.4
280.72
328.8
235.64
712.4
208.24
306.88
394.56

104.10
118.60
118.60
N/A
N/A
0.70
N/A
54.80
54.80
45.10
45.10
0.00

482.30
71.20
18.10
21.80

118.60

7.70
46.20
134.30
128.20
3.70
18.10
12.10
7.30
211.00
7.30

134.40

134.40

379.80

928.40
11.00

118.60

118.60
10.90
95.30
25.40
12.10
47.10
30.20
18.10
18.10

379.80
90.50
49.50
12.10
13.30
18.10
86.90

159.50
62.70
43.50
13.20
13.20
60.50

101.20
85.80
85.80
94.60
30.80

139.90

878.90

134.20

1087.90
14.30

299.20

578.60

578.70

N/A

217.80

139.10

379.80

379.80
64.90

446.10

277.20

1012.80

217.80

180.90

308.80

361.70

259.30

783.70

229.10

337.60

434.10

151.82
173.01
173.01
N/A
N/A
0.88
N/A
79.86
79.86
65.74
65.74

Customer price excl. VAT
703.59
103.77

26.38
31.66
173.01
11.23
67.41
195.93
186.94
5.27
26.38
17.59
10.56
307.82
10.56
195.99
195.99
554.08
1354.54
16.05
173.01
173.01
15.82
138.95
36.94
17.65
68.59
43.97
26.38
26.38
554.08
131.92
72.22
17.59
19.36
26.38
126.79
232.71
91.46
63.33
19.26
19.26
88.27
147.65
125.18
125.18
138.02
44.94
204.05
1282.32
195.78
1587.25
20.86
436.53
844.18
844.31

N/A
317.77
202.86
554.08
554.08

94.69
650.82
404.43

1477.54
317.77
263.85
450.53
527.69
378.18
114333

334.2
492.51
633.23

N/A
N/A

N/A

N/A

167.1
190.4
190.4

87.9
87.9
724
72.4

774
114.2
29.1
349
190.4
124
74.2
215.6
205.7
5.8
29.1
19.4
11.7
338.7
11.7
215.6
215.6
609.5
1490
17.7
190.4
190.4
17.5
152.9
40.7
19.5
75.5
48.4
29.1
29.1
609.5
145.2
79.5
19.4
213
29.1
139.5
256
100.7
69.7
21.2
21.2
97.1
162.5
137.7
137.7
151.9
49.5
224.5
1410.6
215.4
1746
23
480.2
928.6
928.8

3496
223.2
609.5
609.5
104.2

716
444.9

1625.3
34956
290.3
495.6
580.5

416

1257.7
367.7
541.8
696.6




#8113
#8097
#8280
#7070
#7180
#7179
#7178
#7154
#7155
#3198
#3196
#3290
#3291
#3259
#3258

Straight hose nipples for the Liberty head

Head cover

Short scrubber 2,5 Kg

LP hose plug with ribbon

Tank 2L, 15 cu ft, 3442 PS|, steel, DIL

Tank 3L, 23 cu ft, 3442 PS|, steel, DIL

Tank 3L, 23 cu ft, 3442 PS|, steel, OXY

Tank 3L 300 bar, steel, OXY

Tank 3L 300 bar, steel, DIL

Divesoft disinfection

Sofnolime 797 - 20 kg

Nautec cylinder valve S, DIN G5/8 green, for 2L cyli|
Nautec cylinder valve S, DIN G5/8 black, for 2L cylir|
Nautec cylinder valve SH, DIN G5/8 green, for 2L cy|
Nautec cylinder valve SH, DIN G5/8 black

CCR Liberty > Accessories > Head accessories

Code
#8111
#8595642:
#7034
#7064
#1986
#7208
#7133
#8113
#8097

Product

Travel head cover

ODA

Oxygen connector for backmount unit
HUD, Buddy Display Connector Blank Plug
HUD, Buddy Display Connector Blank Plug
Axial oxygen connector for sidemount unit
Handset connector blank plug

Straight hose nipples for the Liberty head
Head cover

CCR Liberty > Accessories > Head electronic accessories

Code

#8159
#8147
#8136

Product

GPS module

Head drying fan

Oxygen sensor tester kit

CCR Liberty > Accessories > Scrubbers

Code

#7167
#8279
#6035
#8120
#8280

Product

Scrubber cover with stickers
Standard scrubber 2,5 Kg
Scrubber cartridge firming ring
XL scrubber 3,3 Kg

Short scrubber 2,5 Kg

CCR Liberty > Accessories > Counterlungs

Code

#8149
#8191
#7123
#8150

Product

Counterlung bladder (yellow) - pair
Back mounted counterlungs

Front mounted counterlungs, pair
Counterlung bladder, pair

CCR Liberty > Accessories > Consumables

Code
#3198
#3196

Product
Divesoft disinfection
Sofnolime 797 - 20 kg

CCR Liberty > Accessories > Other accessories

Code

#8098
#8119
#1112
#8307
#1537
#7071
#8116
#3250
#8114
#3249
#7169
#3202
#8105
#8153
#7114
#8106
#1590
#7073
#3203
#8208
#1589
#3201
#3204
#7167
#3364
#3271
#3270
#1980
#3006
#7070

Product

Backplate D-ring

Hanging D-ring for Long and Wide stand
Counterlung Attachment Clip

Counterlung Attachment Clip - set

Spare ribbon Remove before dive

CCR Liberty handle

O-rings pocket

Pressure gauge cover - black

Mouthpiece, elbow 38.1 mm set

Pressure gauge cover - green

Spare stickers for scrubber cover - 10 pieces
Protective sleeve for handset cable

Quick release harness kit

Set of covers for corrugated hoses

Flow limiter for 2nd stage hose

CCR Liberty caps set

Front Mounted Counter Lungs Drying Hanger
Strap for Argon tank

Neoprene pouch - black

Loop hose weights

Hanging loop for Argon tank

Silicone protective sleeve for handset
Neoprene pouch - red

Scrubber cover with stickers

Safety Mouthpiece

Hose for manual oxygen bypass 830 mm - green
Hose for oxygen supply 436 mm - green
Helium Sensor — Blind Plug

Umbrella valve 35.50 mm, low opening pressure
LP hose plug with ribbon

CCR Liberty > Accessories > Stands

Code

#1736
#1733
#8099
#1735
#8134

Product

Titanium extended wide stand

Titanium basic lumbar support

Carrier frame, extended support - narrow
Titanium extended narrow stand

Extended base, wide - Stainless

64.66
131.52
799

280.72
263.12
263.12
189
189

60
155.63
94.6
94.6
107.8
107.8

Customer price excl. VAT

64.66
N/A

45
12
12
28
13
64.66
131.52

Customer price excl. VAT
N/A
59
235.64

Customer price excl. VAT
79
799
5.5
989
799

Customer price excl. VAT
127.14
526
526.08
126.4

Customer price excl. VAT
60
155.63

Customer price excl. VAT
16.44
19.73

7

42
3.29
16.44
10.96
6.58
191.8
6.58
10
9.86
86.58
23.02
11
42.74
27.4
16.44
16.44
82.2
10.96
12.06
16.44
79
145
56.99
39.46
55

33

Customer price excl. VAT
405.52
252
164.4
328.8
208.24

71.20
144.70
878.90

8.80
308.80
289.50
289.50
207.90
207.90

66.00
171.20
104.10
104.10
118.60
118.60

0.00

71.20
N/A

49.50

13.20

13.20

30.80

14.30

71.20

144.70

0.00

N/A
64.90
259.30
0.00

86.90
878.90
6.10
1087.90
878.90
0.00

139.90
578.60
578.70
139.10

0.00

66.00
171.20
0.00

18.10
21.80
7.70
46.20
3.70
18.10
12.10
7.30
211.00
7.30
11.00
10.90
95.30
25.40
12.10
47.10
30.20
18.10
18.10
90.50
12.10
13.30
18.10
86.90
159.50
62.70
43.50
60.50
36.30
8.80
0.00

446.10
277.20
180.90
361.70
229.10

103.77
211.08
1282.32
12.84
450.53
422.28
422.28
303.33
303.33
96.29
249.77
151.82
151.82
173.01
173.01

Customer price excl. VAT
103.77
N/A
72.22
19.26
19.26
44.94
20.86
103.77
211.08

Customer price excl. VAT
N/A
94.69
378.18

Customer price excl. VAT
126.79
1282.32
8.83
1587.25
1282.32

Customer price excl. VAT
204.05
844.18
844.31
202.86

Customer price excl. VAT
96.29
249.77

Customer price excl. VAT
26.38
31.66
11.23
67.41

5.27
26.38
17.59
10.56

307.82
10.56
16.05
15.82
138.95
36.94
17.65
68.59
43.97
26.38
26.38
131.92
17.59
19.36
26.38
126.79
232.71
91.46
63.33
88.27
52.96
12.84

Customer price excl. VAT
650.82
404.43
263.85
527.69
334.2

N/A

N/A

114.2
232.2
1410.6
14.2
495.6
464.6
464.6
333.7
333.7
106
274.8
167.1
167.1
190.4
190.4

114.2

79.5
21.2
21.2
49.5
23
114.2
232.2

104.2
416

139.5
1410.6
9.8
1746
1410.6

224.5
928.6
928.8
223.2

106
274.8

29.1
349
124
74.2
5.8
29.1
19.4
11.7
338.7
11.7
17.7
17.5
152.9
40.7
19.5
75.5
48.4
29.1
29.1
145.2
19.4
213
29.1
139.5
256
100.7
69.7
97.1
58.3
14.2

716
444.9
290.3
580.5
367.7




#7214

Liberty Light Stand

CCR Liberty > Accessories > Backplates

Code

#1732
#8137
#8184
#8138
#8135
#8132
#8131

Product

Titanium backplate

Titanium backplate and extended narrow stand
Backplate, extended+80 mm

Titanium backplate and extended wide stand
Titanium backplate and basic lumbar support
Single tank adapter - basic

Single tank adapter

CCR Liberty > Accessories > Wings

Code

#2944#
#3295
#3370
#3130
#3199
#3200

Product

Buoyancy compensator bladder (Horseshoe)
Buoyancy compensator bladder (Donut)
Buoyancy compensator (wing) donut shape - Red
Buoyancy compensator (wing)

Buoyancy compensator (wing) donut shape
Buoyancy compensator (wing) with bungee

CCR Liberty > Accessories > Valves

Code

#3192
#3161
#3137
#3124
#3123
#3290
#3291
#3259
#3258

Product

Nautec cylinder valve SLS, DIN G5/8, green

Nautec cylinder valve SLS, DIN G5/8, black (with Byl
Nautec cylinder valve SLS, DIN G5/8, green (with By
Nautec cylinder valve SLS, M26x2 green

Nautec cylinder valve SLS, DIN G5/8 black

Nautec cylinder valve S, DIN G5/8 green, for 2L cyli|
Nautec cylinder valve S, DIN G5/8 black, for 2L cylir|
Nautec cylinder valve SH, DIN G5/8 green, for 2L cy|
Nautec cylinder valve SH, DIN G5/8 black

CCR Liberty > Accessories > Tanks

Code

#7183
#7182
#7181
#7180
#7179
#7178
#7154
#7155

Product

Tank 2L 200 bar, steel, OXY

Tank 2L 200 bar, steel, DIL

Tank 2L, 15 cu ft, 3442 PS, steel, OXY
Tank 2L, 15 cu ft, 3442 PS|, steel, DIL

Tank 3L, 23 cu ft, 3442 PS|, steel, DIL

Tank 3L, 23 cu ft, 3442 PS|, steel, OXY
Tank 3L 300 bar, steel, OXY

Tank 3L 300 bar, steel, DIL

CCR Liberty > Accessories > Manometers

Code

#3250
#3249
#3260
#3292
#3129

Product

Pressure gauge cover - black
Pressure gauge cover - green
Manometer Sunto, BAR, 300 bar
Manometer, PSI, 240 bar
Manometer, BAR, 300 bar

CCR Liberty > Accessories > Transport cases

Code

#3495
#3535
#3494
#3599
#3492
#3307
#3308

Product

Transport case Backmount

Transport case - personal label 79 x 39
Transport case Sidemount

Liberty Head Travel Case

Transport case 750H280

Pelican Storm Case

Pelican Air Case

CCR Liberty > Accessories > Sensors

Code
#3092
#7001

Product
Oxygen sensor Divesoft 22D
He sensor

CCR Liberty > Accessories > Transmitters

Code

#7216
#7219
#3564

Product

Transmitter with elbow DIL
Transmitter with elbow OXY
HP 90 degree Elbow

CCR Liberty > Spare parts

Code

#2087
#1224
#1229
#1520
#1199
#1313
#1629
#2269
#2270
#2271
#2121
#1841
#2027
#1261
#1919
#1077
#1744
#1895
#2156
#1330
#1322

Product

O-ring 160 x 3,5 NBR70

Overpressure valve, body

Manual bypass valve, core spring
Counterlung bayonet connection, clamping plate, |
Bleed valve body

Connector 02, banjo, 9/16-18 UNF

BOV, gate lock piece

Screw M4 x 10, socket head, stainless

Screw M5 x 30, flat head Phillips, stainless
Screw M5 x 25 socket head, stainless

O-ring 28 x 2.60, NBR, 70 Sh

Diaphragm ADV straight right, body

O-ring 1.78 x 1, NBR, 70 Sh

Fixing strap for 3 hoses

Connector 02, banjo, 9/16-18 UNF
Counterlung bayonet connection, holding ring
BOV, gate with valve chamber

BOV MAV, connector 30.5 x 32 — left, inhale
O-ring 9 x 1,5 NBR70

Fixing strap for lock lever

Closeable connector M12x1 to 2nd stage 9/16-18

Customer price excl. VAT
438.4
844
272
20.64
712.4

9

190

306.88
394.56

Customer price excl. VAT
1
1

22.08
16.48

345.24
345.24
345.24
345.24

Customer price excl. VAT

l
1

Customer price excl. VAT

107.8
22.12
22.12
107.8
107.8

94.6

94.6
107.8
107.8

198
198

280.72

2
2
2

Customer price excl. VAT

Customer price excl. VAT

N/A

Customer price excl. VAT
1

Customer price excl. VAT

Customer price excl. VAT

N/A
N/A
N/A
N/A

N/A

80.72
63.12
63.12
189
189

6.58
6.58
92
78
78

280

15
280
120

350
550

86
21.99

310
310
30

35
49.32
0.22
5.48
9.52
20.82
2.56

139.6

3.29
15.6
4.38
55.6
324
0.12
2.19
8.77

N/A

N/A
N/A
N/A
N/A

N/A

209.00
0.00

482.30
928.40
299.20
1012.80
783.70
337.60
434.10
0.00

134.30
128.20
379.80
379.80
379.80
379.80

0.00

118.60
134.40
134.40
118.60
118.60
104.10
104.10
118.60
118.60

0.00

217.80
217.80
308.80
308.80
289.50
289.50
207.90
207.90

0.00

7.30
7.30
101.20
85.80
85.80
0.00

308.00

16.50
308.00
132.00

385.00
605.00
0.00

94.60
134.20
0.00

341.00
341.00
33.00
0.00

3.90
54.30
0.30
6.10
10.50
23.00
2.90

153.60

3.70
17.20
4.90
61.20
35.70
0.20
2.50
9.70

304.93

Customer price excl. VAT
703.59
1354.54
436.53
1477.54
114333
492.51
633.23

Customer price excl. VAT
195.93
186.94
554.08
554.08
554.08
554.08

Customer price excl. VAT
173.01
195.99
195.99
173.01
173.01
151.82
151.82
173.01
173.01

Customer price excl. VAT
317.77
317.77
450.53
450.53
422.28
422.28
303.33
303.33

Customer price excl. VAT
10.56
10.56
147.65
125.18
125.18

Customer price excl. VAT
449.37
24.07
449.37
192.59
N/A
561.72
882.7

Customer price excl. VAT
138.02
195.78

Customer price excl. VAT
497.52
497.52
48.15

Customer price excl. VAT

5.62

79.15

0.35

8.79

15.28

33.41

4.11
N/A
N/A
N/A
N/A

224.04
N/A

5.28

25.04

7.03

89.23

52

0.19

3.51

14.07

N/A

N/A
N/A
N/A
N/A

N/A

335.5

774
1490
480.2
1625.3
1257.7
541.8
696.6

215.6
205.7
609.5
609.5
609.5
609.5

190.4
215.6
215.6
190.4
190.4
167.1
167.1
190.4
190.4

349.6
349.6
495.6
495.6
464.6
464.6
333.7
333.7

11.7
11.7
162.5
A7/7/
137.7

494.4

26.5
494.4
211.9

617.9
971

151.9
215.4

547.3
547.3
53

6.2
87.1
0.4
9.7
16.9
36.8
4.6

246.5

5.9
27.6
7.8
98.2
57.2
0.3
38
15.5




#3194
#7023
#7024
#1833
#7019
#2110
#1132
#3255
#7160
#1225
#2067
#1580
#1223
#1911
#1323
#1859
#1581
#1579
#1136
#3197
#1012
#2132
#1606
#8003
#1480
#1104
#1855
#1122
#2244
#2217
#1799
#2153
#1084
#1825
#2041
#1920
#1492
#1488
#1640
#2064
#1781
#1883
#1792
#1319
#1788
#2088
#1134
#1894
#8009
#2059
#2074
#1507
#2077
#2222
#2206
#1494
#1915
#1916
#1917
#1918
#1324
#1215
#1884
#2028
#2264
#2253
#7075
#2030
#8155
#1770
#2223
#2014
#2231
#2220
#2249
#1819
#2248
#1129
#3252
#7162
#1227
#3025
#1530
#2042
#2050
#1793
#2018

Membrane Apeks ATX

Multi-purpose USB connector

Counterlung, left

Low profile dump valve, body

Handset OLED 2.4

O-ring 26 x 2, NBR, 70 Sh

Canister, lock plate

Hose MAV diluent sidemount, 1410 mm

Hose MAV diluent sidemount, 1410 mm
Overpressure valve, retaining ring

0O-ring 13,95 x 2,62, FPM (oxygen compatible), 80 |
Mouthpiece, elbow 38.1 mm (1 1/2") — inhale
Overpressure valve, ratchet spring

Sidemount CCR, Banjo cover

Carrier frame, lumbar support

Banjo connection, hollow screw, w. sintered metal
Mouthpiece, elbow 38.1 mm (1 1/2") — exhale
Regulating screw, extended

1st stage manifold block, right

Sintered metal filter 7x16 mm

One-way valve insert

O-ring 8 x 1.50, NBR, 70 Sh

Scrubber cartridge XT 3.3 kg, central tube
Dive/Surface Valve

Bleed valve connector

Block of oxygen sensors, cell holder
Counterlung back mounted, left, bladder PES (yellg|
Scrubber cartridge, inner tube

Screw M3 x 10, socket head, stainless

Screw M3 x 10, flat head Phillips, stainless

BOV, fastening screw for connector

O-ring 37x2, MVQ70

Elbow 38.1 mm 65°, keyway code 1 (two tabs)
Manual add valve, body, key 2 (three tabs)
O-ring 4 x 1.80, NBR, 70 Sh

Closeable connector UNF, stem

Modular high-pressure system, inflator hose conne
Block of oxygen sensors, cell holder pad
Compression spring

O-ring 5 x 2, NBR, 70 Sh

Diaphragm ADV T-piece, body

BOV, MAV plug left

Diaphragm ADV, dispensing valve, lever
Handset, hinge screw

Diaphragm ADV, dispensing valve, body

O-ring 6 x 1.50, NBR, 70 Sh

1st stage manifold block, left

BOV MAV, connector 30.5 x 32 — right, exhale
Connection hose

O-ring 5.40 x 2, NBR, 70 Sh

0-ring 54 x 2, NBR, 70 Sh

Pushrod (opening pressure 4 kPa)

O-ring 58x2, NBR, 70 Sh

Screw M2 x 6, flat head Phillips, stainless

Screw M2 x 8, flat head Phillips, stainless
Manual addition valve swivelling, stop
Sidemount CCR, tank strap, left

Sidemount CCR, tank strap, right

Sidemount CCR, canister strap, left (longer) part
Sidemount CCR, canister strap, right (shorter) part
Carrier frame, bracket

Tee-piece 38.1 mm, split (water trap)

BOV, MAV plug right

0O-ring 6.08 x 1.78, NBR, 70 Sh

Screw M4 x 70, socket head, stainless

Screw M4 x 70, socket head, stainless for block of (
BOV manual add valve (MAV) — right, exhale, oxyg|
O-ring 28.30 x 1.78, NBR, 70 Sh

Manual add valve, oxygen, key 2 (three tabs)
BOV, MAV rotary dice

Screw M4 x 8, flat head hex, stainless

O-ring 13,5 x 1.50, NBR, 70 Sh

Screw M5 x 12, flat head Phillips, stainless
Screw M5 x 16, flat head Phillips, stainless
Screw M6 x 16, T30, stainless

Manual add valve, valve insert 4 L/s

Screw M6 x 8, T30, stainless

Scrubber cartridge, retaining ring

Hose for oxygen supply sidemount, 445 mm
Hose for oxygen supply sidemount, 445 mm
Overpressure valve, spindle

1st stage regulator Apeks DST with left manifold bl
Hose cap 9/16-18 UNF

O-ring 8.10 x 1.60, NBR, 70 Sh

O-ring 8.74 x 1.78, NBR, 70 Sh

Diaphragm ADV, dispensing valve, plug

0-ring 6 x 2, NBR, 70 Sh

N/A
N/A

15
178.65
272
21.84
548
0.22
10.96
51.2
Sil.2
3.29
1.64
83
0.22
5.6
121.66
20.16

162.21
16.8
13.15
0.08
45.6
373.74
5.48
87.68
64
37.26
0.2
0.08
8.88
1.04
62.47
27.11
0.08
13.76
16.44
26.3
1.68
0.08
115.76
9.68

11
1.6
0.11
162.21
324
10.1
0.11
0.66
5.48
0.77
0.11
0.11
11
216
21.6
14.64
20.16
53.7
72.34
9.68
0.11
0.33
5.28
148
0.33
114.8
12.12
0.11
0.13
0.11
0.11
0.55
15.12
0.33
9.86
28

28
17.54
264

0.08
0.11
10.4
0.11

N/A
N/A

16.50
196.60
299.20
24.10
602.80
0.30
12.10
56.40
56.40
3.70
1.90
91.30
0.30
6.20
133.90

22.20

178.50
18.50
14.50

0.10
50.20
411.20
6.10
96.50
70.40
41.00
0.30
0.10
9.80
1.20
68.80
29.90
0.10
15.20
18.10
29.00
1.90
0.10

127.40

10.70
2.20
1.30
1.80
0.20

178.50
35.70
11.20

0.20
0.80
6.10
0.90
0.20
0.20

12.10

23.80

23.80

16.20

22.20

59.10

79.60

10.70
0.20
0.40
5.90

162.80

0.40

126.30

13.40
0.20
0.20
0.20
0.20
0.70

16.70
0.40

10.90

30.80

30.80

19.30

290.40

6.60
0.10
0.20

11.50

0.20

N/A
N/A

24.07
286.72
436.53
35.05
879.49
0.35
17.59
82.17
82.17
5.28
2.63
133.21
0.35
8.99
195.25

32.35

260.33
26.96
211
0.13
73.18
599.82
8.79
140.72
102.71
59.8
0.32
0.13
14.25
1.67
100.26
4351
0.13
22.08
26.38
42.21
2.7
0.13
185.78
15.54
321
1.77
2.57
0.18
260.33
52
16.21
0.18
1.06
8.79
1.24
0.18
0.18
17.65
34.67
34.67
235
32.35
86.18
116.1
15.54
0.18
0.53
8.47
237.53
0.53
184.24
19.45
0.18
0.21
0.18
0.18
0.88
24.27
0.53
15.82
44.94
44.94
28.15
423.69
9.63
0.13
0.18
16.69
0.18

N/A
N/A

26.5
315.4
480.2
38.6
967.5
0.4
19.4
90.4
90.4
5.9
29
146.6
0.4
9.9
214.8

35.6

286.4
29.7
233

0.2
80.5
659.9
9.7
154.8
113
65.8
0.4
0.2
15.7
1.9

110.3

47.9

0.2
243
29.1
46.5

0.2
204.4
17.1
3.6

29
0.2
286.4
57.2
17.9
0.2
1.2
9.7
1.4
0.2
0.2
19.5
38.2
38.2
25.9
35.6
94.8
127.8
17.1
0.2
0.6
9.4
2613
0.6
202.7
214
0.2
0.3
0.2
0.2

26.7
0.6
17.5
49.5
49.5
31
466.1
10.6
0.2
0.2
18.4
0.2




#1628
#3130
#1934
#1925
#1610
#3021
#1931
#1019
#3011
#3008
#1802
#7078
#1519
#1850
#8158
#2078
#1924
#3087
#1275
#1804
#1627
#2275
#2073
#7084
#1128
#7085
#7083
#2009
#1491
#1840
#1470
#1027
#1914
#1937
#2210
#1827
#7021
#1823
#2280
#7076
#1765
#1766
#1014
#7067
#2209
#1486
#2038
#1927
#1010
#2081
#2045
#2016
#2125
#1497
#2021
#1932
#1604
#2058
#1592
#1933
#1543
#2236
#7014
#1120
#7189
#3023
#3024
#2084
#1004
#7025
#1121
#2071
#1498
#3114
#1218
#1608
#1214
#1853
#1557
#1219
#1928
#1334
#1783
#1612
#1232
#1559
#1255

BOV, body (with mouthpiece)

Buoyancy compensator (wing)

BOV MAV, left lever, short, green

BOV MAV, valve body - exhale

Scrubber cartridge XT 3.3 kg, inner tube

Hose for inflator 878 mm

BOV MAV, left lever, green

Counterlung bayonet connection, retaining nut
Retaining ring DIN 471, shaft 12 mm

Retaining ring DIN 472, bore 032 mm

BOV MAV, recoil spring

Bailout valve BOV with ADV, mouthpiece
Counterlung bayonet connection, clamping plate, ||
Tightening tool for diaphragm ADV

Manual add valve, swivelling, diluent, key 1 (two tg|
O-ring 75x2, NBR, 70 Sh

BOV MAV, valve body - inhale

Zip tie 280x4.5, black

Handset, hinge

BOV, regulator chamber (with HUD)

BOV, regulator chamber (without HUD)

Screw M3 x 12, flat head, stainless

O-ring 6 x 1, NBR, 70 Sh

MAV, valve core, diluent 4 L/s

Canister, tube

MAV, valve core, oxygen 0.7 L/s

Diaphragm ADV, dispensing valve (accessory)
O-ring 34 x 2 NBR, 70Sh

Modular high-pressure system, inflator hose conne|
Diaphragm ADV straight left, body

Automatic Diluent Valve, Lever

BOV MAV, connector 39.6 x 28 — left, inhale
Sidemount CCR, hose fastening strap

Coupling insert

Screw M4 x 10, flat head Phillips, stainless

Manual add valve, gate valve

Buddy Display

Manual add valve, snap ring

Screw M4 x 30, socket head, stainless

BOV manual add valve (MAV) — left, inhale, diluen
Mouthpiece, straight nipple 44.6 x 18 mm — inhalg
Mouthpiece, straight nipple 44.6 x 18 mm — exhal
Dive/Surface Valve, retaining ring

Apeks DST, Connector DIN (G 5/8), assembly
Screw M3 x 16, socket head, stainless

Bayonet socket, cover

0-ring 65 x 2, NBR, 70 Sh

Multitool for low profile dump valve

Dive/Surface Valve, gate handle

O-ring 7,66 x 1,78, FPM, 80 Sh

O-ring 12.5 x 2, NBR, 70 Sh

O-ring 12 x 2, NBR, 70 Sh

0O-ring 12 x 3, NBR, 70 Sh

Mouthpiece, hose branch 38.1 mm (1 1/2") — exh{
0-ring 19 x 2, NBR, 70 Sh

BOV MAV, right lever, black

Scrubber cartridge, retaining ring

0-ring 9.25 x 1.78, NBR, 70 Sh

Relief valve 300 kPa, body

BOV MAV, right lever, short, black

Relief valve 300 kPa, plug

Set screw M3 x 6, flat, hex, stainless

Crotch strap, complete

Scrubber cartridge, cover

Dive/Surface Valve, snap ring with eyelets

Tank strap

Central strap

O-ring 8.10 x 1.60, FPM, 80 Sh

Automatic Diluent Valve, Body

Counterlung, right

Scrubber cartridge, plug

0O-ring 9.70 x 1, NBR, 70 Sh

Counterlung bayonet conection, socket, right versij
1st stage regulator Apeks DST with right manifold I
Counterlung, left, cover

Scrubber cartridge 3.3 kg, plug

Tee-piece 38.1 mm, through

Counterlung, back mounted, left (cover)

Relief valve 300 kPa, compression spring
Counterlung, right, cover

BOV multitool

Canister, edge protector

Diaphragm ADV (T-piece), banjo connector

02 cell test equipment, plug

Modular high-pressure system, inflator hose conne|
Relief valve 300 kPa, plug support

Dive/Surface Valve, gate

161.76
345.24
252
12.4
28.8
56.99

16.44
0.33
1.42
0.84

868.32
5.48
8.4
114.76
0.88
124
0.36
2.19
155
154
0.08
0.11
40
207.14
40

33.52
0.22

24.11

139.6
7.67

43.68
7.36
6.72
0.11

15.48

100
1.68
0.6
148

21.52

21.52
0.22

69.05
0.11

19.73
0.77

9.2
2.19
0.55
0.22
0.12

0.2

29.59
0.22

5.88
0.11
6.4
2.52
0.36
0.22
49.32
59.36
35
12.06
15.34
0.66
36.17
336
51.51
0.04
20.82
264
100
10.4
72.34
116.8
1.68
100
22
10.96
20.96
24

11
4.2
38.36

178.00
379.80
2.80
13.70
31.70
62.70
3.30
18.10
0.40
1.60
1.00
955.20
6.10
9.30
126.30
1.00
13.70
0.40
2.50
170.50
169.40
0.10
0.20
44.00
227.90
44.00
36.90
0.30
26.60
153.60
8.50
48.10
8.10
7.40
0.20
17.10
110.00
1.90
0.70
162.80
23.70
23.70
0.30
76.00
0.20
21.80
0.90
10.20
2.50
0.70
0.30
0.20
0.30
32.60
0.30
3.30
6.50
0.20
7.10
2.80
0.40
0.30
54.30
65.30
3.90
13.30
16.90
0.80
39.80
369.60
56.70
0.10
23.00
290.40
110.00
11.50
79.60
128.50
1.90
110.00
24.20
12.10
23.10
26.40
12.10
4.70
42.20

259.61
554.08
4.04
19.9
46.22
91.46
4.81
26.38
0.53
2.28
1.35
1393.57
8.79
13.48
184.08
1.41
19.9
0.58
3.51
248.76
247.15
0.13
0.18
64.2
332.44
64.2
53.8
0.35
38.69
224.04
12.31
70.1
11.81
10.78
0.18
24.84
160.49
2.7
0.96
237.53
34.54
3454
0.35
110.82
0.18
31.66
1.24
14.77
3.51
0.88
0.35
0.19
0.32
47.49
0.35
4.81
9.44
0.18
10.27
4.04
0.58
0.35
75
95.27
5.62
19.36
24.62
1.06
58.05
539.25
82.67
0.06
33.41
423.69
160.49
16.69
116.03
187.45
27
160.49
35.31
17.59
33.64
38.52
17.65
6.74
61.56

285.6
609.5
4.5
219
50.9
100.7
53
29.1
0.6
2.6
1.5
1533
9.7
14.9
202.5
1.6
219
0.7
39
273.7
271.9
0.2
0.2
70.7
365.7
70.7
59.2
0.4
42.6
246.5
13.6
77.2
13
11.9
0.2
27.4
176.6

11
261.3
38
38
0.4
122
0.2
349
1.4
16.3
39

0.4
0.3
0.4
52.3
0.4
5.3
10.4
0.2
11.3
4.5
0.7
0.4
87.1
104.8
6.2
213
27.1
1.2
63.9
593.2
91
0.1
36.8
466.1
176.6
18.4
127.7
206.2

176.6
38.9
19.4
37.1
42.4
19.5

7.5
67.8




#1852
#1123
#1130
#7141
#8083
#1584
#7045
#1216
#1538
#1856
#1340
#1028
#1839
#3298
#1131
#1278
#1603
#7043
#1791
#8167
#3251
#7079
#7013
#1845
#2029
#1021
#1126
#2133
#1476
#1475
#7097
#2044
#1500
#1614
#8006
#1558
#1471
#1923
#3213
#8160
#1813
#1125
#1124
#7028
#8072
#7052
#1527
#1838
#7194
#1594
#1593
#1780
#3215
#7080
#1865
#1796
#2032
#2036
#7026
#8143
#1882
#1617
#8144
#8082
#1217
#1585
#3007
#7039
#1469
#1926
#8071
#1472
#3195
#1228
#2047
#1262
#1808
#1913
#3120
#8035
#3128
#1806
#1767
#1528
#1141
#1761
#2025

Counterlung, back mounted,right (cover)

Scrubber cartridge, outer tube

Canister, water trap cover

Scrubber cartridge XT 2.5 kg outer tube with welde
Counterlung bayonet connection, left version, lock
Transport cover for the head, cover

Charging cable USB

Blind plug

LP hose plug 9/16-18 UNF with lug

Blanking plug 7/16-20 (high pressure)

Automatic Diluent Valve, Plate

BOV MAV, connector 39.6 x 28 — right, exhale
Diaphragm ADV, dispensing valve, seat 20 mm2
CIRCUIT DIRECTION (Right to Left)

Canister, hinge barb

Corrugated hose, 1 1/2" x 13"

Compression spring - scrubber XT

Crotch strap, raw

BOV MAV, valve cover

Low profile dump valve

Low profile dump valve, umbrella valve

Scrubber cartridge 3.3 kg (complete)

Jumper for battery pack

Dispensing valve Apeks, lock

O-ring 20.35 x 1.78, NBR, 70 Sh

Counterlung bayonet connection, socket, left versif
Scrubber cartridge, pressure spring

O-ring 21x2, EPDM

Counterlung bayonet connection, socket, left versif
Counterlung bayonet conection, socket, right versij
Sidemount CCR, loop assembly

O-ring 10 x 2, NBR, 70 Sh

Counterlung bayonet connection, socket, left versif
02 cell test equipment, clamp handle

Counterlung bayonet connection, socket, left versif
Relief valve 300 kPa, screw

Automatic Diluent Valve, Shaft

BOV MAV, connector 44.6 x 18 — left, inhale
Diaphragm ADV, dispensing valve, spring

Divex DMM, connector

Divex DMM, retaining ring

Scrubber cartridge, bottom

Canister, bottom

Canister (complete)

Counterlung bayonet connection, socket, left versif
HUD raiser 17 mm

Rotary stop

Diaphragm ADV, dispensing valve, seat 16 mm2

O ring service kit for BCD inflator

02 cell test equipment, upper plate

02 cell test equipment, bottom plate

BOV, ADV screw

Low profile dump valve, compression spring
Canister XT 3.3 kg

Sidemount CCR, counterlung, exhale (right) bladde
BOV retaining ring for ADV screw

0-ring 2.90 x 1.78, NBR, 70 Sh

O-ring 20 x 2, NBR, 70 Sh

Head (complete, without HUD, BD, handsets)
Counterlung back mounted, left (complete)
Canister XT, flat bottom

Canister 3.3 kg, bottom

Counterlung back mounted, right (complete)
Counterlung bayonet connection, socket, right very
Adjusting tool for counterlung bayonet connectors|
Transport cover for the head, stopper

Mouthpiece "Divex"

Harness, complete

Automatic Diluent Valve, Sidewall

BOV MAV, connector 44.6 x 18 — right, exhale
Counterlung bayonet connection, socket, right very
Harness, raw strap

Diaphragm protector Apeks ATX

Overpressure valve, knob

O-ring 158 x 2, NBR, 70 Sh

Fixing strap for 4 hoses

Mouthpiece, straight nipple 30.5 x 32 mm — inhalg
Sidemount CCR, rear handle

Schrader valve, JRA core

Overpressure valve

1st stage overpressure relief valve 3/8-24 UNF
Mouthpiece, straight nipple 39.3 x 40.6 mm — exh
Mouthpiece, straight nipple 39.6 x 28 mm — inhalg
Overpressure valve, core spring, hard

Carrier frame, lock lever pivot

Mouthpiece, straight nipple 34.3 x 18 mm — inhalg

0-ring 36 x 2, NBR, 70 Sh

N/A

116.8
64.66
106.31
105.6
61.38
64.66
62.47
32.88
6.56
5.6
6.58
43.68
5.88

56.99
46.03
0.76
22.24
3.88
96.24
1
320.28
20.82
10.5
0.22
20.82
il
1.68
29.59
29.59
1367.52
0.11
24.11
16
48.22
4.2
il
45.88
0.84
65.6
5.2
88.78
119.46
274
61.38
20.82
7.67
5.88
18
52.08
25.2
13.76
0.52
366.24
102.12
0.84
0.11
0.22
3100
196
67.2
67.2
240
48.22
24.11
64.66
33.98
89.87
10.96
45.88
61.38
15.34
15
58.09
4.38
3.29
21.52
36
5.49
162.21
21.92
21.52
21.52
0.44
3.29
21.52
0.44

N/A

128.50
71.20
117.00
116.20
67.60
71.20
68.80
36.20
7.30
6.20
7.30
48.10
6.50

62.70
50.70
0.90
24.50
4.30
105.90
1.10
352.40
23.00
11.60
0.30
23.00
1.30
1.90
32.60
32.60
1504.30
0.20
26.60
17.60
53.10
4.70
1.30
50.50
1.00
72.20
5.80
97.70
131.50
301.40
67.60
23.00
8.50
6.50
19.80
57.30
27.80
15.20
0.60
402.90
112.40
1.00
0.20
0.30
3410.00
215.60
74.00
74.00
264.00
53.10
26.60
71.20
37.40
98.90
12.10
50.50
67.60
16.90
16.50
63.90
4.90
3.70
23.70
39.60
6.10
178.50
24.20
23.70
23.70
0.50
3.70
23.70
0.50

N/A

187.45
103.77
170.62
169.48
98.51
103.77
100.26
52.77
10.53
8.99
10.56
70.1
9.44

91.46
73.87
1.22
35.69
6.23
154.46
16
514.02
33.41
16.85
0.35
33.41
1.77
2.7
47.49
47.49
2194.73
0.18
38.69
25.68
77.39
6.74
1.77
73.63
135
105.28
8.35
142.48
191.72
439.74
98.51
33.41
12.31
9.44
28.87
83.58
40.44
22.08
0.83
587.78
163.89
135
0.18
0.35
4975.19
314.56
107.85
107.85
385.18
77.39
38.69
103.77
54.53
144.23
17.59
73.63
98.51
24.62
24.07
93.23
7.03
5.28
34.54
57.78
8.81
260.33
35.18
34.54
34.54
0.71
5.28
34.54
0.71

N/A

206.2
114.2
187.7
186.5
108.4
114.2
110.3
58.1
11.6
9.9
11.7
77.2
10.4

100.7
81.3
1.4
393
6.9
170
1.8
565.5
36.8
18.6
0.4
36.8

52.3
523
24143
0.2
42.6
283
85.2
7.5

81
1.5
115.9
9.2
156.8
210.9
483.8
108.4
36.8
13.6
10.4
31.8
92
44.5
243

646.6
180.3
1.5
0.2
0.4
5472.8
346.1
118.7
118.7
423.7
85.2
42.6
114.2
60
158.7
19.4
81
108.4
27.1
26.5
102.6
7.8
5.9
38
63.6
9.7
286.4
38.7
38

38
0.8
5.9
38
0.8




#7098
#3134
#1335
#7053
#7054
#2142
#1910
#1801
#1803
#1834
#1566
#7020
#3303
#1836
#2140
#2129
#2123
#2053
#3248
#1226
#1854
#1220
#1805
#1631
#1768
#7100
#1857
#7102
#7140
#3005
#2024
#2089
#2033
#2031
#2082
#1763
#1764
#1526
#1605
#3018
#1880
#1762
#2055
#1561
#2062
#2010
#1771
#7163
#7135
#1846
#3019
#1800
#1941
#1893
#1864
#2048
#1892
#1794
#3020
#2086
#1314
#1818
#7173
#1587
#2117
#1774
#2023
#1787
#2034
#1582
#1583
#1015
#1797
#1866
#3022
#3116
#2022
#2043
#2035
#1260
#2054
#2080
#2126
#1779
#1345
#3302
#1875

Head-up Display (HUD), complete - for Sidemount |
USB 2.0 "AB" cable

Calibration jig

Weight pocket, left

Weight pocket, right

O-ring 26 x 1.50, NBR, 70 Sh

Sidemount CCR, rack - titanium

BOV, ADV compression spring

BOV, body (with replaceable connector)

Low profile dump valve, cover

BOV, button

Head-up Display (HUD), complete — for Backmount
Head-up Display (HUD), complete - optional cable |
Low profile dump valve, plug

0O-ring 3.50 x 1, NBR, 70 Sh

O-ring 30 x 2, NBR, 70 Sh

O-ring 34 x 3, NBR 70

O-ring 32 x 2, NBR, 70 Sh

Corrugated hose, 1 1/2" x 22"

Overpressure valve, disc

Counterlung back mounted, right, bladder PES (yell
Counterlung, bladder PUR (transparent pliable foil)
Mouthpiece, straight nipple 39.3 x 40.6 mm — inhj
Counterlung bladder (yellow)

Mouthpiece, straight nipple 39.6 x 28 mm — exhal
Scrubber cartridge XT 2.5 kg (complete)

Extension piece to the DSV, elbow — asymmetric
Canister XT 2.5 kg (complete)

Scrubber cartridge XT 3.3 kg, outer tube with weld
Umbrella valve 32 mm

O-ring 10 x 1.50, NBR, 70 Sh

O-ring 10 x 1.80, FPM, 80 Sh

O-ring 10.77 x 2.62, NBR, 70 Sh

O-ring 10.82 x 1.78, NBR, 70 Sh

0O-ring 11 x 1, FPM, 80 Sh

Mouthpiece, straight nipple 45 x 28 mm — inhale
Mouthpiece, straight nipple 45 x 28 mm — exhale
Additional spring to ADV

Scrubber cartridge 3.3 kg, central ring

Hose for ADV 798 mm

Scrubber cartridge XT 2.5 kg, central tube
Mouthpiece, straight nipple 34.3 x 18 mm — exhal
O-ring 115 x 2, NBR, 70 Sh

BOV, membrane cover

O-ring 11 x 2.50, NBR, 70 Sh

O-ring 38 x 2, NBR, 70 Sh

BOV MAV, hose connector

Scrubber cartridge, cover with pressed-in spring hg
ADV valve tool

Dispensing valve Apeks, blind

Hose for oxygen supply 436 mm

iBOV, OTS connector

Dive/Surface Valve, body

BOV MAV, connetor 34.3 x 18 — left, inhale
Sidemount CCR, counterlung, cover

O-ring 142 x 3, NBR, 70 Sh

BOV MAV, connector 34.3 x18 — right, exhale
Diaphragm ADV, dispensing valve, rubber insert
Hose for manual diluent bypass 960 mm

O-ring 53x2, NBR 70

Elbow 38.1 mm 65°, keyway code 2 (three tabs)
Manual add valve, valve insert 0.7 L/s

Scrubber cartridge, cover with springs

BOV - Purge button spring

O-ring 14x1

BOV MAV, valve body (axial mounting)

O-ring 160 x 3, NBR, 70 Sh

Diaphragm ADV, dispensing valve, seat 12 mm2
0-ring 16 x 2, NBR, 70 Sh

Hose branch straight 38.1 mm (1 1/2"), keyway co(
Hose branch straight 38.1 mm (1 1/2"), keyway coq
Mouthpiece, hose branch 38.1 mm (1 1/2") — inhg
BOV additional rail for HUD

Sidemount CCR, counterlung, inhale (left) bladder |
HP hose for manometer 929 mm

Hose for manual oxygen bypass 830 mm

0-ring 22 x 2, NBR, 70 Sh

O-ring 23 x 1, NBR, 70 Sh

0-ring 24 x 2, NBR, 70 Sh

Fixing strap for 2 hoses

0-ring 33 x 2, NBR, 70 Sh

O-ring 37 x 2, NBR, 70 Sh

O-ring 37 x 2, EPDM

BOV, ADV nut

Corrugated hose, shortened 1 1/2" x 9"

Handset - Custom cable length

Canister XT 2.5 kg, tube

N/A

N/A

188.4
5.48
63.57
93.16
93.16
0.36
1092
1.67
122
32
A
157
188
8.88
0.08
0.24
0.4
0.33
56
20.82
64

64
21.52
64
21.52
318.72
58.16
343.36
88.48
5.48
0.11
0.77
0.11
0.11
0.55
21.52
21.52
0.66
16.48
40.55
31.2
21.52
3.29

0.12
0.33
30
99.04
9.2
4.4
39.46
44
125
30.6
168
2.19
30.6
1.68
56.99

62.47
15.12
62
0.48
0.12
8.24
3.36
6.4
0.22
25.21
25.21
29.59
21.84
102.12
149.06
56.99
0.22
0.44
0.44
3.29
0.44
0.44
1.04
3.36
46.03
658
229.32

N/A

N/A

207.30
6.10
70.00
102.50
102.50
0.40
1201.20
1.90
134.20
35.20
1.30
172.70
206.80
9.80
0.10
0.30
0.50
0.40
61.60
23.00
70.40
70.40
23.70
70.40
23.70
350.60
64.00
377.70
97.40
6.10
0.20
0.90
0.20
0.20
0.70
23.70
23.70
0.80
18.20
44.70
34.40
23.70
3.70

0.20
0.40
33.00
109.00
10.20
4.90
43.50
48.40
137.50
33.70
184.80
2.50
33.70
1.90
62.70

68.80
16.70
68.20
0.60
0.20
9.10
3.70
7.10
0.30
27.80
27.80
32.60
24.10
112.40
164.00
62.70
0.30
0.50
0.50
3.70
0.50
0.50
1.20
3.70
50.70
723.80
252.30

N/A

N/A

302.36
8.79
102.02
149.51
149.51
0.58
1752.55
2.68
195.8
51.36
1o7/7/
251.97
301.72
14.25
0.13
0.39
0.64
0.53
89.87
334
102.71
102.71
34.54
102.71
34.54
511.51
93.34
551.06
142
8.79
0.18
1.24
0.18
0.18
0.88
3454
34.54
1.06
26.45
65.08
50.07
3454
5.28

0.19
0.53
48.15
158.95
14.77
7.06
63.33
70.62
200.61
49.11
269.62
351
49.11
2.7
91.46

100.26
24.27
99.5
0.77
0.19
13.22
5.39
10.27
0.35
40.46
40.46
47.49
35.05
163.89
239.23
91.46
0.35
0.71
0.71
5.28
0.71
0.71
1.67
5.39
73.87
1056.02
368.04

N/A

N/A

3326
9.7
112.3
164.5
164.5
0.7
1927.9

215.4
56.5

277.2
3319
15.7
0.2
0.5
0.8
0.6
98.9
36.8
113
113
38
113
38
562.7
102.7
606.2
156.2
9.7
0.2
1.4
0.2
0.2

38
38
1.2
29.1
71.6
55.1
38
59

03
0.6
53
174.9
16.3
7.8
69.7
77.7
220.7
54.1
296.6
3.9
54.1

100.7

110.3
26.7
109.5
0.9
0.3
14.6

113
0.4
44.6
44.6
52.3
38.6
180.3
263.2
100.7
0.4
0.8
0.8
5.9
0.8
0.8
1.9

81.3
1161.7
404.9




#1092
#1777
#1139
#2152
#7174
#1093
#7041
#2120
#7001
#2224
#1786
#2284
#1798
#1908
#1521
#1503
#7018
#1023
#1346
#7195
#7042
#7175
#7063
#1515
#1523
#7095
#2002
#3131
#2130
#7027
#1826
#2277
#2207
#2245
#1567
#8184
#2154
#1824
#1300
#3083
#1301
#1495
#1909
#1630
#2017
#2214
#1822
#2037
#2001
#1532
#2049
#1485
#1778
#1821
#2213
#3085
#2247
#1127
#2085
#2252
#7190
#7191
#3006
#1484
#1730
#2215
#2246
#1773
#2212
#2216
#8156
#7055
#2026
#2079
#2208
#1872
#2211
#2274
#7192
#7193
#1842
#1843
#2012
#1782
#3084
#7152
#7012

Head, locking plate

BOV MAV, ADV valve

Carrier frame, lock barb

O-ring 21x2, MVQ70

Sidemount CCR, S-piece, inhale

Head, hinge plate

Tank 3 1/300 bar, "Diluent", with straight valve (DIN
O-ring 25 x 3.55, FPM (oxygen compatible), 80 Sh
He sensor

Screw M2 x 16, flat head Phillips, stainless
Diaphragm ADV, diaphragm cover

Screw M2 x 20, flat head Phillips, stainless
BOV, Drager connector

Low profile dump valve, valve insert
Counterlung bayonet connection, clamping plate, 1|
Counterlung bayonet connection, locking spring
Loop assembly

Tightening tool for counterlung bayonet connector
Corrugated hose, shortened 1 1/2" x 11"

O ring service kit for UNF hose

Tank 3 L/300 bar, "Oxygen", with straight valve (M
Sidemount CCR, S-piece, exhale

Tank 3 L/300 bar, "Oxygen", with straight valve (DI|
Pushrod (opening pressure 5 kPa)

Extended base, narrow - Stainless

Sidemount conterlung, complete

O-ring 4 x 1, NBR, 70 Sh

Plug-in USB charger (EU, UK, USA, AU)

O-ring 41x2, EPDM

Scrubber cartridge (radial type) (complete)
Manual add valve swivelling, body

Screw M12 x 170, socket head, stainless
Screw M2 x 10, flat head Phillips, stainless
Screw M2 x 12, flat head Phillips, stainless
BOV, exhale valve insert

Backplate, extended+80 mm

O-ring 41x2, MVQ70

Manual add valve, body, key 1 (two tabs)
Clamping ring, wide

Internal retaining ring, hole 8 mm

Clamping ring, narrow

Manual addition valve swivelling, bayonet lock
Clamping ring narrow 42 x 7 mm

BOV, gate

0O-ring 60 x 3, NBR, 70 Sh

Screw M3 x 20, socket head, stainless

Manual add valve, button "DIL"

O-ring 68 x 2, NBR, 70 Sh

0-ring 6 x 2, NBR, 70 Sh

Blanking plug 3/8-24

O-ring 7.65 x 1.63, NBR, 70 Sh

Radial scrubber, cover of central seal

BOV, gate partition

Manual add valve, button "OXY"

Screw M3 x 25, socket head, stainless
Stainless steel ball, hardened, 3.175 mm (1/8")
Screw M3 x 6, socket head, stainless

Scrubber cartridge, central tube

O-ring 7.60 x 2.30, FPM, 80 Sh

Screw M3 x 8, flat head, stainless

Hose for inflator, OXY sidemount, 1350 mm
Hose for inflator, DIL sidemount, 1410 mm
Umbrella valve 35.50 mm, low opening pressure
Radial scrubber, central seal

Extended base, wide - Stainless

Screw M4 x 12, flat head Phillips, stainless
Screw M4 x 16, flat head Phillips, stainless
BOV, lever lock

Screw M4 x 16, socket head, stainless

Screw M4 x 20, flat head Phillips, stainless
Manual add valve, diluent, key 1 (two tabs)
Battery pack relief valve (complete)

O-ring 7.65 x 1.78, NBR, 70 Sh

O-ring 72x2, NBR, 70 Sh

Screw M4 x 20, socket head, stainless

BOV, MAV oxygen flow limiter

Screw M4 x 50, socket head, stainless

Screw M4 x 6, flat head, stainless

Hose for inflator, DIL BOV, 1100mm

Hose for inflator, OXY BOV, 110 mm
Diaphragm ADV L-piece left, body

Diaphragm ADV L-piece right, body

4 x 2 NBR, 70Sh

Diaphragm ADV standalone, body

Automatic Diluent Valve, axial design

BOV, MAV rotary dice with pressed-in pins

Battery pack Li-lon, 5.7 Ah

N/A

7.6

5.1
67.95
1.68
112.48
9.2
296.8
3.29
121.99
0.11
10.4
0.12
15.48
10.39
5.48
4.38
486.62
26.3
46.03

296.8
112.48
370.92

5.48
162
472

0.11

16.44

A2
608

24.72

12.6

0.11

0.11

10
272
A2
27.1
12
0.34
12

14.25

7.92

41.12

0.77

0.11

10.1

0.77

0.08

5.88

0.08

8.77

10.68

10.1

0.11

0.44

0.22

0.77
0.11
49.76
49.76
33
5.48
206
0.11
0.11
7.92
0.11
0.11
86.52
4.38
197
0.77
0.11
1.52
0.33
0.09
45

45
117.28
117.28
0.11
52.1
117.27
27.84
162.21

N/A

8.40
5.70
74.80
1.90
123.80
10.20
326.50
3.70
134.20
0.20
11.50
0.20
17.10
11.50
6.10
4.90
535.30
29.00
50.70
1.10
326.50
123.80
408.10
6.10
178.20
519.20
0.20
18.10
1.40
668.80
27.20
13.90
0.20
0.20
11.00
299.20
1.40
29.90
13.20
0.40
13.20
15.70
8.80
45.30
0.90
0.20
11.20
0.90
0.10
6.50
0.10
9.70
11.80
11.20
0.20
0.50
0.30

0.90
0.20
54.80
54.80
36.30
6.10
226.60
0.20
0.20
8.80
0.20
0.20
95.20
4.90
2.20
0.90
0.20
1.70
0.40
0.10
49.50
49.50
129.10
129.10
0.20
57.40
129.00
30.70
178.50

N/A

12.2
8.18
109.05
2.7
180.52
14.77
476.33
5.28
195.78
0.18
16.69
0.19
24.84
16.67
8.79
7.03
780.98
42.21
73.87
1.6
476.33
180.52
595.29
8.79
259.99
757.11
0.18
26.38
1.93
975.78
39.67
20.22
0.18
0.18
16.05
436.53
1.93
43.49
19.26
0.55
19.26
22.87
12.71
65.99
1.24
0.18
16.21
1.24
0.13
9.44
0.13
14.07
17.14
16.21
0.18
0.71
0.35

1.24
0.18
79.86
79.82
52.96
8.79
330.61
0.18
0.18
12.71
0.18
0.18
138.86
7.03
3.16
1.24
0.18
244
0.53
0.14
72.22
72.22
188.22
188.22
0.18
83.62
188.21
44.68
260.33

N/A

135

120

198.6
16.3
524
5.9
215.4
0.2
18.4
0.3
27.4
18.4
9.7
7.8
859.1
46.5
813
1.8
524
198.6
654.9
9.7
286
832.9
0.2
29.1
22
1073.4
43.7
223
0.2
0.2
1777/
480.2
272
47.9
21.2
0.7
21.2
25.2
14
72.6
1.4
0.2
17.9
1.4
0.2
10.4
0.2
15.5
189
17.9
0.2
0.8
0.4

1.4
0.2
87.9
87.9
58.3
9.7
363.7
0.2
0.2
14
0.2
0.2
152.8
7.8
35
1.4
0.2
2.7
0.6
0.2
79.5
79.5
207.1
207.1
0.2
92
207.1
49.2
286.4




#1785
#8175
#8192
#3212
#1775
#2076
#1809
#1578
#1501
#1613
#1811
#1812
#1776
#1814
#1815
#1591
#1848
#1849
#1858
#1616
#1901
#1320
#1784
#1233
#7029
#7066
#1140
#3004
#1912
#2294
#2150
#2051
#3253
#7161
#3254
#7159

Diaphragm ADV, diaphragm center

Set of connectors 38.1 x 18 mm (narrow clamp)
Counterlung bayonet connection with watertrap, s
Diaphragm ADV, diaphragm

BOV MAV, connector 38.1 — left, inhale

O-ring 7 x 1, NBR, 70 Sh

Mouthpiece, straight nipple 30.5 x 32 mm — exhal
Nut for 2nd stage

Counterlung bayonet connection, support ring

02 cell test equipment, insert

Divex DMM, union nut

Divex DMM, socket

BOV MAV, connector 38.1 — right, exhale

Elbow 38.1 mm 65°, reverse inhale (keyway code 1
Elbow 38.1 mm 65°, reverse exhale (keyway code 2|
Flow limiter for an inflator

Elbow 38.1 mm 65°, turned inhale (keyway code 17
Elbow 38.1 mm 65°, turned exhale (keyway code 2]
Extension piece to the DSV, elbow — symmetric
Canister XT 3.3 kg, tube

Sidemount CCR, rack - stainless

Closeable connector M12x1 to 2nd stage 9/16-18 |
Diaphragm ADV, diaphragm washer

Overpressure valve, star plate

Block of oxygen sensors (without oxygen sensors)
Block of oxygen sensors, cover assembly (with cabl
Carrier frame, lock lever

internal part of 2nd stage regulator Apeks ATX40
Counterlung bayonet connection with watertrap, s
Screw M6 x 12, T30, stainless

0O-ring 10 x 1, FPM, 80 Sh

0O-ring 1,42 x 1,52 NBR90O

Hose MAV oxygen sidemount, 1350 mm

Hose MAV oxygen sidemount, 1350 mm

Hose for ADV sidemount, 810 mm

Hose for ADV sidemount, 810 mm

CCR Liberty > Spare parts > Components

Code

#2087
#1224
#1229
#1520
#1199
#1313
#1629
#2269
#2270
#2271
#2121
#1841
#2027
#1261
#1919
#1077
#1744
#1895
#2156
#1330
#1322
#3194
#7023
#7024
#1833
#7019
#2110
#1132
#3255
#7160
#1225
#2067
#1580
#1223
#1911
#1323
#1859
#1581
#1579
#1136
#3197
#1012
#2132
#1606
#8003
#1480
#1104
#1855
#1122

Product

O-ring 160 x 3,5 NBR70

Overpressure valve, body

Manual bypass valve, core spring

Counterlung bayonet connection, clamping plate, |
Bleed valve body

Connector 02, banjo, 9/16-18 UNF

BOV, gate lock piece

Screw M4 x 10, socket head, stainless

Screw M5 x 30, flat head Phillips, stainless

Screw M5 x 25 socket head, stainless

O-ring 28 x 2.60, NBR, 70 Sh

Diaphragm ADV straight right, body

O-ring 1.78 x 1, NBR, 70 Sh

Fixing strap for 3 hoses

Connector 02, banjo, 9/16-18 UNF

Counterlung bayonet connection, holding ring
BOV, gate with valve chamber

BOV MAV, connector 30.5 x 32 — left, inhale
O-ring 9 x 1,5 NBR70

Fixing strap for lock lever

Closeable connector M12x1 to 2nd stage 9/16-18 |
Membrane Apeks ATX

Multi-purpose USB connector

Counterlung, left

Low profile dump valve, body

Handset OLED 2.4

0-ring 26 x 2, NBR, 70 Sh

Canister, lock plate

Hose MAV diluent sidemount, 1410 mm

Hose MAV diluent sidemount, 1410 mm
Overpressure valve, retaining ring

O-ring 13,95 x 2,62, FPM (oxygen compatible), 80 |
Mouthpiece, elbow 38.1 mm (1 1/2") — inhale
Overpressure valve, ratchet spring

Sidemount CCR, Banjo cover

Carrier frame, lumbar support

Banjo connection, hollow screw, w. sintered metal
Mouthpiece, elbow 38.1 mm (1 1/2") — exhale
Regulating screw, extended

1st stage manifold block, right

Sintered metal filter 7x16 mm

One-way valve insert

O-ring 8 x 1.50, NBR, 70 Sh

Scrubber cartridge XT 3.3 kg, central tube
Dive/Surface Valve

Bleed valve connector

Block of oxygen sensors, cell holder

Counterlung back mounted, left, bladder PES (yellg|

Scrubber cartridge, inner tube

52.4
70.24
4.2
24.24
0.08
21.52
Al
2.19
29.2
8.24
20.32
30.56
61
61
14.58
61
61
58.16
235.2
671.99
19.73
4.2
29.59
162.21
93.16
31.78

20.32
0.45
0.55

0.1

49.76

49.76

40.96

40.96

Customer price excl. VAT

3.5

49.32

0.22

5.48

9.52

20.82

2.56
N/A
N/A
N/A
N/A

139.6
N/A

3.29

15.6

4.38

55.6

324

0.12

2.19

8.77

15

178.65

272

21.84

548

0.22

10.96

51.2

51.2

3.29

1.64

83

0.22

5.6

121.66

20.16
N/A
N/A

162.21

16.8

13.15

0.08

45.6

373.74

5.48

87.68

64

37.26

N/A

N/A
N/A
N/A
N/A

N/A

N/A
N/A

4.40
57.70
77.30

4.70
26.70

0.10
23.70

1.30

2.50
32.20

9.10
22.40
33.70
67.10
67.10
16.10
67.10
67.10
64.00

258.80
739.20
21.80

4.70

32.60
178.50
102.50

35.00

22.40
0.50
0.70
0.20

54.80

54.80

45.10

45.10
0.00

3.90
54.30
0.30
6.10
10.50
23.00
2.90

153.60

3.70
17.20
4.90
61.20
35.70
0.20
2.50
9.70
16.50
196.60
299.20
24.10
602.80
0.30
12.10
56.40
56.40
3.70
1.90
91.30
0.30
6.20
133.90
22.20

178.50
18.50
14.50

0.10
50.20
411.20
6.10
96.50
70.40
41.00

6.42
84.1
112.73
6.74
38.9
0.13
34.54
1.77
3.51
46.86
13.22
3261
49.05
97.9
97.9
234
97.9
97.9
93.34
377.47
1078.48
31.66
6.74
47.49
260.33
149.51
51
N/A
32.61
0.7
0.88
0.16
79.86
79.86
65.74
65.74

Customer price excl. VAT

5.62

79.15

0.35

8.79

15.28

33.41

4.11
N/A
N/A
N/A
N/A

224.04
N/A

5.28

25.04

7.03

89.23

52

0.19

3.51

14.07

24.07

286.72

436.53

35.05

879.49

0.35

17.59

82.17

82.17

5.28

2.63

133.21

0.35

8.99

195.25

32.35
N/A
N/A

260.33

26.96

211

0.13

73.18

599.82

8.79

140.72

102.71

59.8

N/A

N/A
N/A
N/A
N/A

N/A

N/A
N/A

7.1
92.6
1241
7.5
42.8
0.2
38

39
51.6
146
35.9

54
107.7
107.7

25.8
107.7
107.7
102.7
4153
1186.4
349

7.5

52.3
286.4
164.5

56.1

35.9
0.8

0.2
87.9
87.9
72.4
724

6.2
87.1
0.4
9.7
16.9
36.8
4.6

246.5

5.9
27.6
7.8
98.2
57.2
0.3
38
15.5
26.5
315.4
480.2
38.6
967.5
0.4
19.4
90.4
90.4
5.9
2.9
146.6
0.4
9.9
214.8
35.6

286.4
29.7
233

0.2
80.5
659.9
9.7
154.8
113
65.8




#2244
#2217
#1799
#2153
#1084
#1825
#2041
#1920
#1492
#1488
#1640
#2064
#1781
#1883
#1792
#1319
#1788
#2088
#1134
#1894
#8009
#2059
#2074
#1507
#2077
#2222
#2206
#1494
#1915
#1916
#1917
#1918
#1324
#1215
#1884
#2028
#2264
#2253
#7075
#2030
#8155
#1770
#2223
#2014
#2231
#2220
#2249
#1819
#2248
#1129
#3252
#7162
#1227
#3025
#1530
#2042
#2050
#1793
#2018
#1628
#3130
#1934
#1925
#1610
#3021
#1931
#1019
#3011
#3008
#1802
#7078
#1519
#1850
#8158
#2078
#1924
#3087
#1275
#1804
#1627
#2275
#2073
#7084
#1128
#7085
#7083
#2009

Screw M3 x 10, socket head, stainless

Screw M3 x 10, flat head Phillips, stainless
BOV, fastening screw for connector

O-ring 37x2, MVQ70

Elbow 38.1 mm 65°, keyway code 1 (two tabs)
Manual add valve, body, key 2 (three tabs)
O-ring 4 x 1.80, NBR, 70 Sh

Closeable connector UNF, stem

Modular high-pressure system, inflator hose conne
Block of oxygen sensors, cell holder pad
Compression spring

O-ring 5 x 2, NBR, 70 Sh

Diaphragm ADV T-piece, body

BOV, MAV plug left

Diaphragm ADV, dispensing valve, lever
Handset, hinge screw

Diaphragm ADV, dispensing valve, body

O-ring 6 x 1.50, NBR, 70 Sh

1st stage manifold block, left

BOV MAV, connector 30.5 x 32 — right, exhale
Connection hose

O-ring 5.40 x 2, NBR, 70 Sh

O-ring 54 x 2, NBR, 70 Sh

Pushrod (opening pressure 4 kPa)

O-ring 58x2, NBR, 70 Sh

Screw M2 x 6, flat head Phillips, stainless
Screw M2 x 8, flat head Phillips, stainless
Manual addition valve swivelling, stop
Sidemount CCR, tank strap, left

Sidemount CCR, tank strap, right

Sidemount CCR, canister strap, left (longer) part
Sidemount CCR, canister strap, right (shorter) part
Carrier frame, bracket

Tee-piece 38.1 mm, split (water trap)

BOV, MAV plug right

0O-ring 6.08 x 1.78, NBR, 70 Sh

Screw M4 x 70, socket head, stainless

Screw M4 x 70, socket head, stainless for block of (
BOV manual add valve (MAV) — right, exhale, oxyg|
O-ring 28.30 x 1.78, NBR, 70 Sh

Manual add valve, oxygen, key 2 (three tabs)
BOV, MAV rotary dice

Screw M4 x 8, flat head hex, stainless

O-ring 13,5 x 1.50, NBR, 70 Sh

Screw M5 x 12, flat head Phillips, stainless
Screw M5 x 16, flat head Phillips, stainless
Screw M6 x 16, T30, stainless

Manual add valve, valve insert 4 L/s

Screw M6 x 8, T30, stainless

Scrubber cartridge, retaining ring

Hose for oxygen supply sidemount, 445 mm
Hose for oxygen supply sidemount, 445 mm
Overpressure valve, spindle

1st stage regulator Apeks DST with left manifold bl
Hose cap 9/16-18 UNF

O-ring 8.10 x 1.60, NBR, 70 Sh

O-ring 8.74 x 1.78, NBR, 70 Sh

Diaphragm ADV, dispensing valve, plug

0O-ring 6 x 2, NBR, 70 Sh

BOV, body (with mouthpiece)

Buoyancy compensator (wing)

BOV MAV, left lever, short, green

BOV MAV, valve body - exhale

Scrubber cartridge XT 3.3 kg, inner tube

Hose for inflator 878 mm

BOV MAV, left lever, green

Counterlung bayonet connection, retaining nut
Retaining ring DIN 471, shaft 312 mm
Retaining ring DIN 472, bore 032 mm

BOV MAV, recoil spring

Bailout valve BOV with ADV, mouthpiece
Counterlung bayonet connection, clamping plate, |
Tightening tool for diaphragm ADV

Manual add valve, swivelling, diluent, key 1 (two tg|
O-ring 75x2, NBR, 70 Sh

BOV MAV, valve body - inhale

Zip tie 280x4.5, black

Handset, hinge

BOV, regulator chamber (with HUD)

BOV, regulator chamber (without HUD)

Screw M3 x 12, flat head, stainless

O-ring 6 x 1, NBR, 70 Sh

MAV, valve core, diluent 4 L/s

Canister, tube

MAV, valve core, oxygen 0.7 L/s

Diaphragm ADV, dispensing valve (accessory)

O-ring 34 x 2 NBR, 70Sh

0.2
0.08
8.88
1.04

62.47
27.11
0.08
13.76
16.44
26.3
1.68
0.08
115.76
9.68

1.1
1.6
0.11
162.21
324
10.1
0.11
0.66
5.48
0.77
0.11
0.11
11
216
21.6
14.64
20.16
53.7
72.34
9.68
0.11
0.33
5.28
148
0.33
114.8
12.12
0.11
0.13
0.11
0.11
0.55
15.12
0.33
9.86
28

28
17.54
264

0.08
0.11
10.4
0.11
161.76
345.24
2.52
124
28.8
56.99

16.44
0.33
1.42
0.84

868.32
5.48
8.4
114.76
0.88
124
0.36
2.19
155
154
0.08
0.11
40
207.14
40

33.52
0.22

0.30
0.10
9.80
1.20
68.80
29.90
0.10
15.20
18.10
29.00
1.90
0.10
127.40
10.70
2.20
1.30
1.80
0.20
178.50
35.70
11.20
0.20
0.80
6.10
0.90
0.20
0.20
12.10
23.80
23.80
16.20
22.20
59.10
79.60
10.70
0.20
0.40
5.90
162.80
0.40
126.30
13.40
0.20
0.20
0.20
0.20
0.70
16.70
0.40
10.90
30.80
30.80
19.30
290.40
6.60
0.10
0.20
11.50
0.20
178.00
379.80
2.80
13.70
31.70
62.70
3.30
18.10
0.40
1.60
1.00
955.20
6.10
9.30
126.30
1.00
13.70
0.40
2.50
170.50
169.40
0.10
0.20
44.00
227.90
44.00
36.90
0.30

0.32
0.13
14.25
1.67
100.26
43.51
0.13
22.08
26.38
4221
27
0.13
185.78
15.54
3.21
1.77
2.57
0.18
260.33
52
16.21
0.18
1.06
8.79
1.24
0.18
0.18
17.65
34.67
34.67
235
32.35
86.18
116.1
15.54
0.18
0.53
8.47
237.53
0.53
184.24
19.45
0.18
0.21
0.18
0.18
0.88
24.27
0.53
15.82
44.94
44.94
28.15
423.69
9.63
0.13
0.18
16.69
0.18
259.61
554.08
4.04
19.9
46.22
91.46
4.81
26.38
0.53
2.28
135
1393.57
8.79
13.48
184.08
1.41
19.9
0.58
3.51
248.76
247.15
0.13
0.18
64.2
332.44
64.2
53.8
0.35

0.4
0.2
15.7
1.9
110.3
47.9
0.2
243
29.1
46.5

0.2
204.4
17.1
3.6

29
0.2
286.4
57.2
17.9
0.2
1.2
9.7
1.4
0.2
0.2
19.5
38.2
38.2
25.9
35.6
94.8
127.8
17.1
0.2
0.6
9.4
261.3
0.6
202.7
214
0.2
0.3
0.2
0.2

26.7
0.6
17.5
49.5
49.5
31
466.1
10.6
0.2
0.2
18.4
0.2
285.6
609.5
4.5
219
50.9
100.7
5.3
29.1
0.6
2.6
1.5
1533
9.7
149
202.5
1.6
21.9
0.7
38
273.7
271.9
0.2
0.2
70.7
365.7
70.7
59.2
0.4




#1491
#1840
#1470
#1027
#1914
#1937
#2210
#1827
#7021
#1823
#2280
#7076
#1765
#1766
#1014
#7067
#7034
#2209
#1486
#2038
#1927
#1010
#2102
#2081
#2045
#2016
#2125
#1497
#2021
#1932
#1604
#2058
#1592
#1933
#1543
#2236
#7014
#1120
#7189
#3023
#3024
#2084
#1004
#7025
#1121
#2071
#1498
#3114
#3090
#1218
#1608
#1214
#1853
#1557
#1219
#1928
#3223
#1334
#1783
#1612
#1232
#1559
#1255
#1852
#1123
#1130
#7141
#8083
#1584
#7045
#1216
#1538
#1856
#1340
#1028
#1839
#3298
#1131
#1278
#1603
#7043
#1791
#8167
#3251
#7079
#7013
#1845

Modular high-pressure system, inflator hose conne
Diaphragm ADV straight left, body

Automatic Diluent Valve, Lever

BOV MAV, connector 39.6 x 28 — left, inhale
Sidemount CCR, hose fastening strap

Coupling insert

Screw M4 x 10, flat head Phillips, stainless

Manual add valve, gate valve

Buddy Display

Manual add valve, snap ring

Screw M4 x 30, socket head, stainless

BOV manual add valve (MAV) — left, inhale, diluen
Mouthpiece, straight nipple 44.6 x 18 mm — inhalg
Mouthpiece, straight nipple 44.6 x 18 mm — exhal
Dive/Surface Valve, retaining ring

Apeks DST, Connector DIN (G 5/8), assembly
Oxygen connector for backmount unit

Screw M3 x 16, socket head, stainless

Bayonet socket, cover

O-ring 65 x 2, NBR, 70 Sh

Multitool for low profile dump valve

Dive/Surface Valve, gate handle

0-ring 9 x 2, NBR, 70 Sh

O-ring 7,66 x 1,78, FPM, 80 Sh

O-ring 12.5 x 2, NBR, 70 Sh

O-ring 12 x 2, NBR, 70 Sh

0-ring 12 x 3, NBR, 70 Sh

Mouthpiece, hose branch 38.1 mm (1 1/2") — exh{
0-ring 19 x 2, NBR, 70 Sh

BOV MAV, right lever, black

Scrubber cartridge, retaining ring

0O-ring 9.25 x 1.78, NBR, 70 Sh

Relief valve 300 kPa, body

BOV MAV, right lever, short, black

Relief valve 300 kPa, plug

Set screw M3 x 6, flat, hex, stainless

Crotch strap, complete

Scrubber cartridge, cover

Dive/Surface Valve, snap ring with eyelets

Tank strap

Central strap

O-ring 8.10 x 1.60, FPM, 80 Sh

Automatic Diluent Valve, Body

Counterlung, right

Scrubber cartridge, plug

0O-ring 9.70 x 1, NBR, 70 Sh

Counterlung bayonet conection, socket, right versij
1st stage regulator Apeks DST with right manifold I
Molex connector - body

Counterlung, left, cover

Scrubber cartridge 3.3 kg, plug

Tee-piece 38.1 mm, through

Counterlung, back mounted, left (cover)

Relief valve 300 kPa, compression spring
Counterlung, right, cover

BOV multitool

Overpressure valve handle

Canister, edge protector

Diaphragm ADV (T-piece), banjo connector

02 cell test equipment, plug

Modular high-pressure system, inflator hose conne
Relief valve 300 kPa, plug support

Dive/Surface Valve, gate

Counterlung, back mounted,right (cover)

Scrubber cartridge, outer tube

Canister, water trap cover

Scrubber cartridge XT 2.5 kg outer tube with welde
Counterlung bayonet connection, left version, lock
Transport cover for the head, cover

Charging cable USB

Blind plug

LP hose plug 9/16-18 UNF with lug

Blanking plug 7/16-20 (high pressure)

Automatic Diluent Valve, Plate

BOV MAV, connector 39.6 x 28 — right, exhale
Diaphragm ADV, dispensing valve, seat 20 mm2
CIRCUIT DIRECTION (Right to Left)

Canister, hinge barb

Corrugated hose, 1 1/2" x 13"

Compression spring - scrubber XT

Crotch strap, raw

BOV MAV, valve cover

Low profile dump valve

Low profile dump valve, umbrella valve

Scrubber cartridge 3.3 kg (complete)

Jumper for battery pack

Dispensing valve Apeks, lock

N/A

24.11
139.6
7.67
43.68
7.36
6.72
0.11
15.48
100
1.68
0.6
148
21.52
21.52
0.22
69.05
45
0.11
19.73
0.77
9.2
2.19
0.11
0.55
0.22
0.12
0.2
29.59
0.22

5.88
0.11
6.4
2.52
0.36
0.22
49.32
59.36
35
12.06
15.34
0.66
36.17
336
51.51
0.04
20.82
264
0.4
100
10.4
72.34
116.8
1.68
100
22
10.6
10.96
20.96
24

11
4.2
38.36
116.8
64.66
106.31
105.6
61.38
64.66
62.47
32.88
6.56
5.6
6.58
43.68
5.88

56.99
46.03
0.76
22.24
3.88
96.24

320.28
20.82
10.5

N/A

26.60
153.60
8.50
48.10
8.10
7.40
0.20
17.10
110.00
1.90
0.70
162.80
23.70
23.70
0.30
76.00
49.50
0.20
21.80
0.90
10.20
2.50
0.20
0.70
0.30
0.20
0.30
32.60
0.30
3.30
6.50
0.20
7.10
2.80
0.40
0.30
54.30
65.30
3.90
13.30
16.90
0.80
39.80
369.60
56.70
0.10
23.00
290.40
0.50
110.00
11.50
79.60
128.50
1.90
110.00
24.20
11.70
12.10
23.10
26.40
12.10
4.70
42.20
128.50
71.20
117.00
116.20
67.60
71.20
68.80
36.20
7.30
6.20
7.30
48.10
6.50

62.70
50.70
0.90
24.50
4.30
105.90
1.10
352.40
23.00
11.60

N/A

38.69
224.04
12.31
70.1
11.81
10.78
0.18
24.84
160.49
2.7
0.96
237.53
34.54
3454
0.35
110.82
72.22
0.18
31.66
1.24
14.77
3.51
0.18
0.88
0.35
0.19
0.32
47.49
0.35
4.81
9.44
0.18
10.27
4.04
0.58
0.35
75
95.27
5.62
19.36
24.62
1.06
58.05
539.25
82.67
0.06
33.41
423.69
0.64
160.49
16.69
116.03
187.45
2.7
160.49
3531
17.01
17.59
33.64
38.52
17.65
6.74
61.56
187.45
103.77
170.62
169.48
98.51
103.77
100.26
52.77
10.53
8.99
10.56
70.1
9.44

91.46
73.87
1.22
35.69
6.23
154.46
1.6
514.02
3341
16.85

N/A

42.6
246.5
13.6
77.2
13
11.9
0.2
27.4
176.6

1.1
261.3
38
38
0.4
122
79.5
0.2
349
1.4
16.3
3.9
0.2

0.4
0.3
0.4
52.3
0.4
5.3
10.4
0.2
11.3
4.5
0.7
0.4
87.1
104.8
6.2
213
27.1
1.2
63.9
593.2
91
0.1
36.8
466.1
0.8
176.6
18.4
127.7
206.2

176.6
38.9
18.8
19.4
37.1
42.4
19.5

7.5
67.8

206.2

114.2

187.7

186.5

108.4

114.2

110.3
58.1
11.6

9.9
11.7
77.2
10.4

100.7
81.3
1.4
393
6.9
170
1.8
565.5
36.8
18.6




#2029
#1021
#1126
#2133
#1476
#1475
#7097
#2044
#1500
#1614
#8006
#1558
#1471
#1923
#3213
#8160
#1813
#1125
#1124
#7028
#8072
#7052
#1527
#1838
#8145
#1594
#1593
#1780
#3215
#7080
#1865
#1796
#2032
#2036
#7026
#8143
#1882
#1617
#8144
#8082
#1217
#1585
#3007
#7039
#1469
#1926
#8071
#1472
#3195
#1228
#2047
#1262
#1808
#1913
#3120
#8035
#3128
#1806
#1767
#1528
#1141
#1761
#2025
#7098
#3134
#1335
#7053
#7054
#2142
#1052
#1910
#1801
#1803
#1834
#1566
#7020
#3303
#1836
#2140
#2129
#2123
#2053
#3248
#1226
#1854
#1220
#1805

O-ring 20.35 x 1.78, NBR, 70 Sh

Counterlung bayonet connection, socket, left versif
Scrubber cartridge, pressure spring

O-ring 21x2, EPDM

Counterlung bayonet connection, socket, left versif
Counterlung bayonet conection, socket, right versif
Sidemount CCR, loop assembly

O-ring 10 x 2, NBR, 70 Sh

Counterlung bayonet connection, socket, left versif
02 cell test equipment, clamp handle

Counterlung bayonet connection, socket, left versif
Relief valve 300 kPa, screw

Automatic Diluent Valve, Shaft

BOV MAV, connector 44.6 x 18 — left, inhale
Diaphragm ADV, dispensing valve, spring

Divex DMM, connector

Divex DMM, retaining ring

Scrubber cartridge, bottom

Canister, bottom

Canister (complete)

Counterlung bayonet connection, socket, left versif
HUD raiser 17 mm

Rotary stop

Diaphragm ADV, dispensing valve, seat 16 mm2
Conversion FMCL to BMCL - BOV + ADV + MAV

02 cell test equipment, upper plate

02 cell test equipment, bottom plate

BOV, ADV screw

Low profile dump valve, compression spring
Canister XT 3.3 kg

Sidemount CCR, counterlung, exhale (right) bladde
BOV retaining ring for ADV screw

0O-ring 2.90 x 1.78, NBR, 70 Sh

O-ring 20 x 2, NBR, 70 Sh

Head (complete, without HUD, BD, handsets)
Counterlung back mounted, left (complete)
Canister XT, flat bottom

Canister 3.3 kg, bottom

Counterlung back mounted, right (complete)
Counterlung bayonet connection, socket, right very
Adjusting tool for counterlung bayonet connectors|
Transport cover for the head, stopper

Mouthpiece "Divex"

Harness, complete

Automatic Diluent Valve, Sidewall

BOV MAV, connector 44.6 x 18 — right, exhale
Counterlung bayonet connection, socket, right very
Harness, raw strap

Diaphragm protector Apeks ATX

Overpressure valve, knob

O-ring 158 x 2, NBR, 70 Sh

Fixing strap for 4 hoses

Mouthpiece, straight nipple 30.5 x 32 mm — inhalg
Sidemount CCR, rear handle

Schrader valve, JRA core

Overpressure valve

1st stage overpressure relief valve 3/8-24 UNF
Mouthpiece, straight nipple 39.3 x 40.6 mm — exh
Mouthpiece, straight nipple 39.6 x 28 mm — inhalg
Overpressure valve, core spring, hard

Carrier frame, lock lever pivot

Mouthpiece, straight nipple 34.3 x 18 mm — inhalg
0-ring 36 x 2, NBR, 70 Sh

Head-up Display (HUD), complete - for Sidemount |
USB 2.0 "AB" cable

Calibration jig

Weight pocket, left

Weight pocket, right

O-ring 26 x 1.50, NBR, 70 Sh

Flow limiter for an inflator

Sidemount CCR, rack - titanium

BOV, ADV compression spring

BOV, body (with replaceable connector)

Low profile dump valve, cover

BOV, button

Head-up Display (HUD), complete — for Backmount
Head-up Display (HUD), complete - optional cable |
Low profile dump valve, plug

O-ring 3.50 x 1, NBR, 70 Sh

O-ring 30 x 2, NBR, 70 Sh

O-ring 34 x 3, NBR 70

O-ring 32 x 2, NBR, 70 Sh

Corrugated hose, 1 1/2" x 22"

Overpressure valve, disc

Counterlung back mounted, right, bladder PES (yell
Counterlung, bladder PUR (transparent pliable foil)

Mouthpiece, straight nipple 39.3 x 40.6 mm — inhj

0.22
20.82
il
1.68
29.59
29.59
1367.52
0.11
24.11
16
48.22
4.2
il
45.88
0.84
65.6
5.2
88.78
119.46
274
61.38
20.82
7.67
5.88
1479
52.08
25.2
13.76
0.52
366.24
102.12
0.84
0.11
0.22
3100
196
67.2
67.2
240
48.22
24.11
64.66
33.98
89.87
10.96
45.88
61.38
15.34
15
58.09
4.38
3.29
21.52
36
5.49
162.21
21.92
21.52
21.52
0.44
3.29
21.52
0.44
188.4
5.48
63.57
93.16
93.16
0.36
14.58
1092
1.67
122
32
A
157
188
8.88
0.08
0.24
0.4
0.33
56
20.82
64

64
21.52

0.30
23.00
1.30
1.90
32.60
32.60
1504.30
0.20
26.60
17.60
53.10
4.70
1.30
50.50
1.00
72.20
5.80
97.70
131.50
301.40
67.60
23.00
8.50
6.50
1626.90
57.30
27.80
15.20
0.60
402.90
112.40
1.00
0.20
0.30
3410.00
215.60
74.00
74.00
264.00
53.10
26.60
71.20
37.40
98.90
12.10
50.50
67.60
16.90
16.50
63.90
4.90
3.70
23.70
39.60
6.10
178.50
24.20
23.70
23.70
0.50
3.70
23.70
0.50
207.30
6.10
70.00
102.50
102.50
0.40
16.10
1201.20
1.90
134.20
35.20
1.30
172.70
206.80
9.80
0.10
0.30
0.50
0.40
61.60
23.00
70.40
70.40
23.70

0.35
33.41
1.77
2.7
47.49
47.49
2194.73
0.18
38.69
25.68
77.39
6.74
1.77
73.63
135
105.28
8.35
142.48
191.72
439.74
98.51
33.41
12.31
9.44
2373.65
83.58
40.44
22.08
0.83
587.78
163.89
135
0.18
0.35
4975.19
314.56
107.85
107.85
385.18
77.39
38.69
103.77
54.53
144.23
17.59
73.63
98.51
24.62
24.07
93.23
7.03
5.28
34.54
57.78
8.81
260.33
35.18
34.54
34.54
0.71
5.28
34.54
0.71
302.36
8.79
102.02
149,51
149,51
0.58
23.4
1752.55
2.68
195.8
51.36
1.77
251.97
301.72
14.25
0.13
0.39
0.64
0.53
89.87
33.4
102.71
102.71
34.54

0.4
36.8

52.3
52.3
24143
0.2
42.6
283
85.2
7.5

81
1.5
115.9
9.2
156.8
210.9
483.8
108.4
36.8
13.6
10.4
2611.1
92
44.5
243

646.6
180.3
1.5
0.2
0.4
5472.8
346.1
118.7
118.7
423.7
85.2
42.6
114.2
60
158.7
19.4
81
108.4
27.1
26.5
102.6
7.8
5.9
38
63.6
9.7
286.4
38.7
38

38
0.8
5.9
38
0.8
3326
9.7
112.3
164.5
164.5
0.7
25.8
1927.9

215.4
56.5

277.2
3319
15.7
0.2
0.5
0.8
0.6
98.9
36.8
113
113
38




#1631
#1768
#7100
#1857
#7102
#7140
#3005
#2024
#2089
#2033
#2031
#2082
#1763
#1764
#1526
#1605
#3018
#1880
#1762
#2055
#1561
#2062
#2010
#1771
#7163
#7135
#1846
#3019
#1800
#1941
#1893
#1864
#2048
#1892
#1794
#3020
#2086
#1314
#1818
#7173
#1587
#2117
#1774
#2023
#1787
#2034
#1582
#1583
#1015
#1797
#1866
#3022
#3116
#2022
#2043
#2035
#7208
#1260
#2054
#2080
#2126
#1779
#1345
#3302
#1875
#1092
#1777
#1139
#2152
#7174
#3299
#2096
#1093
#7041
#2120
#7001
#2224
#1786
#2284
#1798
#1908
#1521
#1503
#7018
#1023
#1346
#7042

Counterlung bladder (yellow)

Mouthpiece, straight nipple 39.6 x 28 mm — exhal
Scrubber cartridge XT 2.5 kg (complete)

Extension piece to the DSV, elbow — asymmetric
Canister XT 2.5 kg (complete)

Scrubber cartridge XT 3.3 kg, outer tube with weld
Umbrella valve 32 mm

O-ring 10 x 1.50, NBR, 70 Sh

O-ring 10 x 1.80, FPM, 80 Sh

0O-ring 10.77 x 2.62, NBR, 70 Sh

O-ring 10.82 x 1.78, NBR, 70 Sh

O-ring 11 x 1, FPM, 80 Sh

Mouthpiece, straight nipple 45 x 28 mm — inhale
Mouthpiece, straight nipple 45 x 28 mm — exhale
Additional spring to ADV

Scrubber cartridge 3.3 kg, central ring

Hose for ADV 798 mm

Scrubber cartridge XT 2.5 kg, central tube
Mouthpiece, straight nipple 34.3 x 18 mm — exhal
O-ring 115 x 2, NBR, 70 Sh

BOV, membrane cover

O-ring 11 x 2.50, NBR, 70 Sh

O-ring 38 x 2, NBR, 70 Sh

BOV MAV, hose connector

Scrubber cartridge, cover with pressed-in spring hg
ADV valve tool

Dispensing valve Apeks, blind

Hose for oxygen supply 436 mm

iBOV, OTS connector

Dive/Surface Valve, body

BOV MAV, connetor 34.3 x 18 — left, inhale
Sidemount CCR, counterlung, cover

O-ring 142 x 3, NBR, 70 Sh

BOV MAV, connector 34.3 x18 — right, exhale
Diaphragm ADV, dispensing valve, rubber insert
Hose for manual diluent bypass 960 mm

O-ring 53x2, NBR 70

Elbow 38.1 mm 65°, keyway code 2 (three tabs)
Manual add valve, valve insert 0.7 L/s

Scrubber cartridge, cover with springs

BOV - Purge button spring

O-ring 14x1

BOV MAV, valve body (axial mounting)

O-ring 160 x 3, NBR, 70 Sh

Diaphragm ADV, dispensing valve, seat 12 mm2
O-ring 16 x 2, NBR, 70 Sh

Hose branch straight 38.1 mm (1 1/2"), keyway coq
Hose branch straight 38.1 mm (1 1/2"), keyway co(
Mouthpiece, hose branch 38.1 mm (1 1/2") — inhg
BOV additional rail for HUD

Sidemount CCR, counterlung, inhale (left) bladder |
HP hose for manometer 929 mm

Hose for manual oxygen bypass 830 mm

0O-ring 22 x 2, NBR, 70 Sh

0-ring 23 x 1, NBR, 70 Sh

O-ring 24 x 2, NBR, 70 Sh

Axial oxygen connector for sidemount unit

Fixing strap for 2 hoses

0-ring 33 x 2, NBR, 70 Sh

O-ring 37 x 2, NBR, 70 Sh

O-ring 37 x 2, EPDM

BOV, ADV nut

Corrugated hose, shortened 1 1/2" x 9"

Handset - Custom cable length

Canister XT 2.5 kg, tube

Head, locking plate

BOV MAV, ADV valve

Carrier frame, lock barb

O-ring 21x2, MVQ70

Sidemount CCR, S-piece, inhale

BAILOUT FEED LOCATION (On the left)

O-ring 6,75 x 1,78 , FPM, 80 Sh

Head, hinge plate

Tank 3 1/300 bar, "Diluent", with straight valve (DIN
O-ring 25 x 3.55, FPM (oxygen compatible), 80 Sh
He sensor

Screw M2 x 16, flat head Phillips, stainless
Diaphragm ADV, diaphragm cover

Screw M2 x 20, flat head Phillips, stainless

BOV, Drager connector

Low profile dump valve, valve insert

Counterlung bayonet connection, clamping plate, 1|
Counterlung bayonet connection, locking spring
Loop assembly

Tightening tool for counterlung bayonet connector
Corrugated hose, shortened 1 1/2" x 11"

Tank 3 L/300 bar, "Oxygen", with straight valve (M]

N/A

N/A

N/A

64
21.52
318.72
58.16
343.36
88.48
5.48
0.11
0.77
0.11
0.11
0.55
21.52
21.52
0.66
16.48
40.55
31.2
21.52
3.29

0.12
0.33
30
99.04
9.2
a4
39.46
a4
125
30.6
168
2.19
30.6
1.68
56.99

62.47
15.12
62
0.48
0.12
8.24
3.36
6.4
0.22
25.21
25.21
29.59
21.84
102.12
149.06
56.99
0.22
0.44
0.44
28
3.29
0.44
0.44
1.04
3.36
46.03
658
229.32
7.6

5.1
67.95
1.68
112.48

0.39
9.2
296.8
3.29
121.99
0.11
10.4
0.12
15.48
10.39
5.48
4.38
486.62
26.3
46.03
296.8

N/A

N/A

N/A

70.40
23.70
350.60
64.00
377.70
97.40
6.10
0.20
0.90
0.20
0.20
0.70
23.70
23.70
0.80
18.20
44.70
34.40
23.70
2,700

0.20
0.40
33.00
109.00
10.20
4.90
43.50
48.40
137.50
33.70
184.80
2.50
33.70
1.90
62.70

68.80
16.70
68.20
0.60
0.20
9.10
B0
7.10
0.30
27.80
27.80
32.60
24.10
112.40
164.00
62.70
0.30
0.50
0.50
30.80
3.70
0.50
0.50
1.20
3.70
50.70
723.80
252.30
8.40
5.70
74.80
1.90
123.80

0.50
10.20
326.50
3.70
134.20
0.20
11.50
0.20
17.10
11.50
6.10
4.90
535.30
29.00
50.70
326.50

N/A

N/A

N/A

102.71
3454
511.51
93.34
551.06
142
8.79
0.18
1.24
0.18
0.18
0.88
34.54
3454
1.06
26.45
65.08
50.07
34.54
5.28

0.19
0.53
48.15
158.95
14.77
7.06
63.33
70.62
200.61
49.11
269.62
351
49.11
27
91.46

100.26
24.27
99.5
0.77
0.19
13.22
5.39
10.27
0.35
40.46
40.46
47.49
35.05
163.89
239.23
91.46
0.35
0.71
0.71
44.94
5.28
0.71
0.71
1.67
5.39
73.87
1056.02
368.04
12.2
8.18
109.05
27
180.52

0.63
14.77
476.33
5.28
195.78
0.18
16.69
0.19
24.84
16.67
8.79
7.03
780.98
4221
73.87
476.33

N/A

N/A

N/A

113
38
562.7
102.7
606.2
156.2
9.7
0.2
1.4
0.2
0.2

38
38
1.2
29.1
71.6
5581
38
5.9

03
0.6
53
1749
16.3
7.8
69.7
77.7
220.7
54.1
296.6
39
54.1

100.7

110.3
26.7
109.5
0.9
0.3
146

113
0.4
44.6
44.6
52.3
38.6
180.3
263.2
100.7
0.4
0.8
0.8
49.5
5.9
0.8
0.8
1.9

81.3
1161.7
404.9
135

120

198.6

0.7
16.3
524
5.9
215.4
0.2
18.4
0.3
27.4
18.4
9.7
7.8
859.1
46.5
81.3
524




#7175
#3301
#7063
#1515
#1523
#7095
#2002
#3131
#2130
#7027
#1826
#2277
#2207
#2245
#1567
#8184
#2154
#1824
#1300
#3083
#1301
#1495
#1909
#1630
#2017
#2214
#1822
#2037
#2001
#1532
#2049
#1485
#1778
#1821
#2213
#3085
#2247
#1127
#2085
#2252
#7190
#7191
#3006
#1484
#1730
#2215
#2246
#1773
#2212
#2216
#8156
#7055
#2026
#2079
#2208
#1872
#2211
#2274
#7192
#7193
#1842
#4444
#1843
#2012
#1782
#8084
#7152
#7012
#1785
#8175
#8192
#3212
#1775
#2076
#1809
#1578
#1501
#1613
#1811
#1812
#1776
#1814
#1815
#7004
#1848
#1849
#1858

Sidemount CCR, S-piece, exhale

KNOB EXTENSION LEVER

Tank 3 L/300 bar, "Oxygen", with straight valve (DI|
Pushrod (opening pressure 5 kPa)

Extended base, narrow - Stainless

Sidemount conterlung, complete

O-ring 4 x 1, NBR, 70 Sh

Plug-in USB charger (EU, UK, USA, AU)

O-ring 41x2, EPDM

Scrubber cartridge (radial type) (complete)
Manual add valve swivelling, body

Screw M12 x 170, socket head, stainless

Screw M2 x 10, flat head Phillips, stainless
Screw M2 x 12, flat head Phillips, stainless
BOV, exhale valve insert

Backplate, extended+80 mm

O-ring 41x2, MVQ70

Manual add valve, body, key 1 (two tabs)
Clamping ring, wide

Internal retaining ring, hole 8 mm

Clamping ring, narrow

Manual addition valve swivelling, bayonet lock
Clamping ring narrow 42 x 7 mm

BOV, gate

0-ring 60 x 3, NBR, 70 Sh

Screw M3 x 20, socket head, stainless

Manual add valve, button "DIL"

O-ring 68 x 2, NBR, 70 Sh

O-ring 6 x 2, NBR, 70 Sh

Blanking plug 3/8-24

O-ring 7.65 x 1.63, NBR, 70 Sh

Radial scrubber, cover of central seal

BOV, gate partition

Manual add valve, button "OXY"

Screw M3 x 25, socket head, stainless

Stainless steel ball, hardened, 3.175 mm (1/8")
Screw M3 x 6, socket head, stainless

Scrubber cartridge, central tube

O-ring 7.60 x 2.30, FPM, 80 Sh

Screw M3 x 8, flat head, stainless

Hose for inflator, OXY sidemount, 1350 mm
Hose for inflator, DIL sidemount, 1410 mm
Umbrella valve 35.50 mm, low opening pressure
Radial scrubber, central seal

Extended base, wide - Stainless

Screw M4 x 12, flat head Phillips, stainless
Screw M4 x 16, flat head Phillips, stainless
BOV, lever lock

Screw M4 x 16, socket head, stainless

Screw M4 x 20, flat head Phillips, stainless
Manual add valve, diluent, key 1 (two tabs)
Battery pack relief valve (complete)

O-ring 7.65 x 1.78, NBR, 70 Sh

O-ring 72x2, NBR, 70 Sh

Screw M4 x 20, socket head, stainless

BOV, MAV oxygen flow limiter

Screw M4 x 50, socket head, stainless

Screw M4 x 6, flat head, stainless

Hose for inflator, DIL BOV, 1100mm

Hose for inflator, OXY BOV, 110 mm
Diaphragm ADV L-piece left, body

Added costs

Diaphragm ADV L-piece right, body

4 x 2 NBR, 70Sh

Diaphragm ADV standalone, body

Automatic Diluent Valve, axial design

BOV, MAV rotary dice with pressed-in pins
Battery pack Li-lon, 5.7 Ah

Diaphragm ADV, diaphragm center

Set of connectors 38.1 x 18 mm (narrow clamp)
Counterlung bayonet connection with watertrap, s
Diaphragm ADV, diaphragm

BOV MAV, connector 38.1 — left, inhale

O-ring 7 x 1, NBR, 70 Sh

Mouthpiece, straight nipple 30.5 x 32 mm — exhal
Nut for 2nd stage

Counterlung bayonet connection, support ring
02 cell test equipment, insert

Divex DMM, union nut

Divex DMM, socket

BOV MAV, connector 38.1 — right, exhale
Elbow 38.1 mm 65°, reverse inhale (keyway code 1
Elbow 38.1 mm 65°, reverse exhale (keyway code 2|
Solenoid

Elbow 38.1 mm 65°, turned inhale (keyway code 17
Elbow 38.1 mm 65°, turned exhale (keyway code 2]

Extension piece to the DSV, elbow — symmetric

N/A

112.48
0.01
370.92
5.48
162
472
0.11
16.44
A2
608
24.72
12.6
0.11
0.11
10
272
2
27.1
12
0.34
12
14.25
7.92
41.12
0.77
0.11
10.1
0.77
0.08
5.88
0.08
8.77
10.68
10.1
0.11
0.44
0.22

0.77
0.11
49.76
49.76
33
5.48
206
0.11
0.11
7.92
0.11
0.11
86.52
4.38
197
0.77
0.11
1.52
0.33
0.09
45

45
117.28

117.28
0.11
5251}

117.27

27.84

162.21

52.4
70.24
4.2
24.24
0.08
21.52
Al
2.19
29.2
8.24
20.32
30.56
61
61
314.3
61
61
58.16

N/A

123.80
0.10
408.10
6.10
178.20
519.20
0.20
18.10
1.40
668.80
27.20
13.90
0.20
0.20
11.00
299.20
1.40
29.90
13.20
0.40
13.20
15.70
8.80
45.30
0.90
0.20
11.20
0.90
0.10
6.50
0.10
9.70
11.80
11.20
0.20
0.50
0.30

0.90
0.20
54.80
54.80
36.30
6.10
226.60
0.20
0.20
8.80
0.20
0.20
95.20
4.90
2.20
0.90
0.20
1.70
0.40
0.10
49.50
49.50
129.10
1.10
129.10
0.20
57.40
129.00
30.70
178.50
4.40
57.70
77.30
4.70
26.70
0.10
23.70
1.30
2.50
32.20
9.10
22.40
33.70
67.10
67.10
345.80
67.10
67.10
64.00

N/A

180.52
0.01
595.29
8.79
259.99
757.11
0.18
26.38
1.93
975.78
39.67
20.22
0.18
0.18
16.05
436.53
1.93
43.49
19.26
0.55
19.26
22.87
12.71
65.99
1.24
0.18
16.21
1.24
0.13
9.44
0.13
14.07
17.14
16.21
0.18
0.71
0.35

1.24
0.18
79.86
79.82
52.96
8.79
330.61
0.18
0.18
12.71
0.18
0.18
138.86
7.03
3.16
1.24
0.18
244
0.53
0.14
72.22
72.22
188.22

188.22
0.18
83.62
188.21
44.68
260.33
6.42
84.1
112.73
6.74
38.9
0.13
34.54
1.77
3.51
46.86
13.22
3261
49.05
97.9
97.9
504.42
97.9
97.9
93.34

N/A

198.6
0.1
654.9
9.7
286
832.9
0.2
29.1
22
1073.4
43.7
223
0.2
0.2
1777/
480.2
272
47.9
21.2
0.7
21.2
25.2
14
72.6
1.4
0.2
17.9
1.4
0.2
10.4
0.2
15.5
189
17.9
0.2
0.8
0.4

1.4
0.2
87.9
87.9
58.3
9.7
363.7
0.2
0.2
14
0.2
0.2
152.8
7.8
35
1.4
0.2
2.7
0.6
0.2
79.5
79.5
207.1
1.1
207.1
0.2
92
207.1
49.2
286.4
7.1
92.6
1241
7.5
42.8
0.2
38

39
51.6
146
359

54
107.7
107.7
554.9
107.7
107.7
102.7




#1616
#1901
#1320
#1784
#1233
#7029
#7066
#1140
#3004
#3297
#1912
#2051
#3253
#7161
#3254
#7159

Canister XT 3.3 kg, tube

Sidemount CCR, rack - stainless

Closeable connector M12x1 to 2nd stage 9/16-18 |
Diaphragm ADV, diaphragm washer

Overpressure valve, star plate

Block of oxygen sensors (without oxygen sensors)
Block of oxygen sensors, cover assembly (with cabl
Carrier frame, lock lever

internal part of 2nd stage regulator Apeks ATX40
CIRCUIT DIRECTION (Left to right)

Counterlung bayonet connection with watertrap, s
O-ring 1,42 x 1,52 NBR90O

Hose MAV oxygen sidemount, 1350 mm

Hose MAV oxygen sidemount, 1350 mm

Hose for ADV sidemount, 810 mm

Hose for ADV sidemount, 810 mm

CCR Liberty > Spare parts kits

Code

#8262
#8263
#3269
#3309
#3268
#8261
#8094
#8093
#8092
#8318
#8259
#8200

Product

Service kit - Liberty o-rings
Service kit - Liberty spare parts
Service kit - Apeks XTX20 2nd stage
Service kit - Apeks Flight 1st stage
Service kit - Apeks DST 1st stage
Service kit - Liberty screws

CCR Liberty Spare Parts Set 2

CCR Liberty Spare Parts Set 1

CCR Liberty O-rings & Screws
HS/Freedom button service kit 2
HS/Freedom button service kit 1
CCR Liberty Spare Parts Set 3

CCR Liberty > Accessories sets

Code

#8187
#8188
#8319
#8186
#8185

Product

Cleaning set
Gadget set
Protection set light
Maintenance set
Protection set

CCR Liberty > Conversion kits

Code Product

#8322 Conversion FMCL to BMCL — BOV+ADV + MAV T-pi|
#8321 Conversion FMCL to BMCL — DSV+MAV+ADV T-pie
#8145 Conversion FMCL to BMCL - BOV + ADV + MAV
Other CCRs

Code Product

#8295 Conversion FMCL to BMCL - Hollis PRISM 2

Other CCRs > Conversion Kits

Code Product

#8145 Conversion FMCL to BMCL - BOV + ADV + MAV
#8295 Conversion FMCL to BMCL - Hollis PRISM 2
BOV/DSV/ADV

Code Product

#8207 Service kit - BOV

#8213 BOV + ADV with hose nipples 30.5 mm, 1 3/16"
#1929 Sidemount DSV MAV, left lever DIL

#7206 Membrane ADV, direct bayonet, left - With shut-of|
#ddd Membrane ADV, direct bayonet, left - With shut-of|
#7207 Membrane ADV, direct bayonet, left - With shut-of|
#0000 Membrane ADV, direct bayonet, left - With shut-of|
#1234 HUD holder drawings for 3D print

#1930 Sidemount DSV MAV, right lever OXY

#7132 Hose connection 9/16 closable with banjo

#7110 Membrane ADV in L-piece, left

#7111 Membrane ADV, direct bayonet, right

#7082 Membrane ADV in T-piece with shut-off valve
#7081 Membrane ADV

#7147 DSV without hose nipples

#8174 BOV with hose nipples 39.3 mm, 1 9/16"

#7117 Manual addition valves, DIL + OXY 34.4 mm (1 3/8'|
#70941  Membrane ADV, direct bayonet, left - without shut]
#7094 Membrane ADV, direct bayonet, left - without shut]
##7094  Membrane ADV, direct bayonet, left - without shut]
##7206  Membrane ADV, direct bayonet, left - without shut]
#8142 BOV + ADV with hose nipples 38.1 mm, 1 1/2"
#3272 BOV hose 110 cm - green

#8209 Divesoft BOV spare o-rings

#7109 Membrane ADV in L-piece, right

#7088 BOV OTS without hose nipples

#7116 Manual addition valves, DIL + OXY 30.5 mm (1 3/1€
#8173 BOV with hose nipples 44.6 mm, 1 3/4"

#7131 Shearwater NERD holder for Divesoft BOV

#1943 Adapter for JJ-CCR / Shearwater HUD holder for DS|
#8249 Complete loop with BOV + T-piece ADV + MAV
#8248 Complete loop with BOV + T-piece ADV

#8247 Loop with DSV + T-piece ADV + MAV

#7177 DSV with elbows without nipples

#8172 BOV with hose nipples 39.6 mm, 1 9/16"

#7145 Manual addition valves, DIL + OXY 44.6 mm (1 3/4"|

235.2

671.99

19.73

42

29.59

162.21

93.16

31.78
N/A
N/A

20.32

0.1

49.76

49.76

40.96

40.96

Customer price excl. VAT
19
219
16
16
32
9
1293
214
50
15
17
1094

Customer price excl. VAT
119
105
180
318
330

Customer price excl. VAT
1592.7
1302
1479

Customer price excl. VAT
1620

Customer price excl. VAT
1479
1620

Customer price excl. VAT
35
899
3
284
2323
284
284

N/A

36.96
233
254
224
142
391
850
370
254
254
254
254
899

45

233
830
370
850
33
11
1433
1208
914
471
850
370

N/A
N/A

N/A

258.80
739.20
21.80
4.70
32.60
178.50
102.50
35.00

22.40

0.20
54.80
54.80
45.10
45.10

0.00

20.90
240.90
17.60
17.60
35.20
9.90
1422.30
235.40
55.00
16.50
18.70
1203.40
0.00

130.90
115.50
198.00
349.80
363.00

0.00

1752.00
1432.20
1626.90

0.00

1782.00
0.00

1626.90
1782.00
0.00

38.50
988.90
3.30
312.40
2555.30
312.40
312.40

3.30
40.70
256.30
279.40
246.40
156.20
430.10
935.00
407.00
279.40
279.40
279.40
279.40
988.90
49.50
8.80
256.30
913.00
407.00
935.00
36.30
12.10
1576.30
1328.80
1005.40
518.10
935.00
407.00

377.47

1078.48

31.66

6.74

47.49

260.33

149.51

51
N/A
N/A

32.61

0.16

79.86

79.86

65.74

65.74

Customer price excl. VAT

30.49
351.47
25.68
25.68
51.36
14.44
2075.14
343.45
80.25
24.07
27.28
1755.76

Customer price excl. VAT
190.89
168.51
288.88
510.36
529.62

Customer price excl. VAT
2556.12
2089.58
2373.65

Customer price excl. VAT
2599.94

Customer price excl. VAT
2373.65
2599.94

Customer price excl. VAT
56.14
1442.81
4.81
455.79
2323
455.79
455.79

N/A

4.81
59.32
373.94
407.64
359.5
227.9
627.52
1364.17
593.81
407.64
407.64
407.64
407.64
1442.81
72.22
12.84
373.94
1332.07
593.81
1364.17
52.96
17.65
2299.82
1938.72
1466.88
755.91
1364.17
593.81

N/A
N/A

N/A

415.3
1186.4
349
7.5
52.3
286.4
164.5
56.1

35.9

0.2
87.9
87.9
72.4
724

33.6
386.7
28.3
283
56.5
15.9
2282.7
377.8
88.3
26.5
30.1
1931.4

210
185.4
317.8
561.4
582.6

2811.8
2298.6
2611.1

2860

2611.1
2860

61.8
1587.1
5.3
501.4
2555.3
501.4
501.4

5.3
65.3
4114
448.5
395.5
250.7
690.3
1500.6
653.2
448.5
448.5
448.5
448.5
1587.1
79.5
14.2
411.4
1465.3
653.2
1500.6
58.3
19.5
2529.9
2132.6
1613.6
831.6
1500.6
653.2




#1530
#1807
#1760
#7089
#7087
#1810
#8226
#1759
#3364
#8169
#1758
#1757
#1945
#8170
#8141
#8165
#7068
#8171
#8109
#8229
#8107
#7086
#8231
#8225
#8233
#7136
#8304
#8303
#8234
#8166
#8235
#8245
#8232
#8230
#8236
#8202
#3164
#8221
#8287
#8163
#8220
#1789
#1790
#8278
#8277
#7093
#8180
#8181
#3170
#3284
#3267
#8154
#3363
#8288
#8162
#8246
#8282
#8224
#8291
#8161
#8286
#8219
#7170
#8290
#8285
#8203
#8284
#8210
#8289
#8283
#8146
#8281
#8218
#8255
#8217
#8216
#8215
#7122
#8214

Hose cap 9/16-18 UNF

Clamping ring for DSV/BOV for Cooper hoses
Clamping ring for DSV/BOV for JJ-CCR

BOV + ADV OTS without hose nipples

BOV + ADV Drager without hose nipples
Clamping ring for DSV/BOV for AP Inspiration
DSV + MAVs 34.4 mm (1 3/8")

Clamping ring for DSV for Hollis Prism 2

Safety Mouthpiece

BOV with hose nipples 30.5 mm, 1 3/16"
Clamping ring for DSV for rEvo, SF2

Clamping ring for DSV for ISC Megalodon

ADV Blind Plug

BOV with hose nipples 34.4 mm, 1 3/8"

BOV + ADV without hose nipples

Hose nipples (44.6 mm, 1 3/4")

Watertight screw cap 9/16-18 UNF

BOV with hose nipples 45.0 mm, 1 3/4"

BOV without hose nipples

DSV + MAVs 44.6 mm (1 3/4")

BOV with hose nipples 38.1 mm, 1 1/2"

BOV Dréger without hose nipples

DSV with hose nipples 30.5 mm, 1 3/16"

DSV + MAVs 30.5 mm (1 3/16")

DSV with hose nipples 39.3 mm, 1 9/16"

DSV + MAVs 38.1 mm (1 1/2")

Adapter HUD rEvo, single

Adapter HUD rEvo, double

DSV with hose nipples 39.6 mm, 1 9/16"

Hose nipples (39.3 mm, 1 9/16")

DSV with hose nipples 45.0 mm, 1 3/4"

Hose nipples (38.1 mm, 1 1/2")

DSV with hose nipples 34.4 mm, 1 3/8"

DSV with hose nipples 38.1 mm, 1 1/2"

DSV with hose nipples 44.6 mm, 1 3/4"

BOV + MAVs 30.5 mm, 1 3/16"

Hose nipples (39.6 mm, 1 9/16")

BOV + MAVs 34.4 mm, 1 3/8"

DSV with elbows (45.0 mm, 1 3/4")

Hose nipples (45.0 mm, 1 3/4")

BOV + MAVs 38.1 mm, 1 1/2"

BOV MAV, left lever DIL

BOV MAV, right lever OXY

BOV KNOB EXTENSION

BOV KNOB EXTENSION w/ ADV switch button
BOV diluent hose adapter

JJ-CCR / Shearwater HUD holder for Divesoft BOV
Narked at 90/AP Diving HUD holder for Divesoft B(|
BOV hose 110 cm

Hose for ADV in T-piece, 60 cm

Clamping ring (for ISC Meg, SF2, rEvo, Hollis BOV)
DSV/BOV snap rings with eyelets

Quick Disconnect connector - BCD Nipple to 9/16 fq
DSV with elbows + MAVs 38.1 mm (1 1/2")
Hose nipples (34.4 mm, 1 3/8")

Complete loop with DSV + T-piece ADV

DSV with elbows (34.4 mm, 13/8")

BOV + MAVs 44.6 mm, 1 3/4"

DSV with elbows + MAVs 44.6 mm (13/4")
Hose nipples (30.5 mm, 1 3/16")

DSV with elbows (39.6 mm, 1 9/16")

BOV + ADV + MAVs (44.6 mm, 1 3/4")

Offset adapter for JJ-CCR / Shearwater HUD holder|
DSV with elbows + MAVs 30.5 mm (1 3/16")
DSV with elbows (39.3 mm, 1 9/16")

BOV + ADV + MAVs (34.4 mm, 1 3/8")

DSV with elbows (44.6 mm, 13/4")

BOV + ADV + MAVs (30.5 mm, 1 3/16")

DSV with elbows + MAVs 34.4 mm (1 3/8")
DSV with elbows, (30.5 mm, 1 3/16")

BOV +ADV + MAVs (38.1 mm, 11/2")

DSV with elbows (38.1 mm, 1 1/2")

BOV + ADV with hose nipples 44.6 mm, 1 3/4"
Service kit - MAV

BOV + ADV with hose nipples 45.0 mm, 1 3/4"
BOV + ADV with hose nipples 39.6 mm, 1 9/16"
BOV + ADV with hose nipples 39.3 mm, 1 9/16"
Manual addition valves, DIL + OXY 38.1 mm (1 1/2"|
BOV + ADV with hose nipples for 34.4 mm, 1 3/8"

BOV/DSV/ADV > Accessories

Code

#8207
#1929
#1234
#1930
#3272
#8209

Product

Service kit - BOV

Sidemount DSV MAV, left lever DIL
HUD holder drawings for 3D print
Sidemount DSV MAV, right lever OXY
BOV hose 110 cm - green

Divesoft BOV spare o-rings

Customer price excl. VAT

N/A

12
12
879
879
12
749
12
145
850
12
12
11
850
891
47
4.8
850
842
749
850
830
399
749
399
749
24
26
399
47
399
47
399
399
399
1200
47
1200
479
47
1200

19.68
20.8
79

14

19

45
48

45
829
47
689
479
1200
829
47
479
1250
18
829
479
1249
479
1249
829
479
1249
479
899
25
899
899
899
370
899

35
3

45

N/A

6.60
13.20
13.20
966.90
966.90
13.20
823.90
13.20
159.50
935.00
13.20
13.20
12.10
935.00
980.10
51.70
5.30
935.00
926.20
823.90
935.00
913.00
438.90
823.90
438.90
823.90
26.40
28.60
438.90
51.70
438.90
51.70
438.90
438.90
438.90
1320.00
51.70
1320.00
526.90
51.70
1320.00
3.30
3.30
21.70
22.90
86.90
15.40
20.90
49.50
52.80
4.40
7.70
49.50
911.90
51.70
757.90
526.90
1320.00
911.90
51.70
526.90
1375.00
19.80
911.90
526.90
1373.90
526.90
1373.90
911.90
526.90
1373.90
526.90
988.90
27.50
988.90
988.90
988.90
407.00
988.90

0.00

38.50
3.30

3.30
49.50
8.80

9.63
19.26
19.26

1410.71
1410.71
19.26
1202.07
19.26
232.71
1364.17
19.26
19.26
17.65
1364.17
1429.97
75.43
7.7
1364.17
1351.33
1202.07
1364.17
1332.07
640.36
1202.07
640.36
1202.07
38.52
41.73
640.36
75.43
640.36
75.43
640.36
640.36
640.36
1925.88
75.43
1925.88
768.75
75.43
1925.88

4.81

4.81
31.58
33.38

126.79
22.47
30.49
72.22
77.04

6.42
11.23
72.22

1330.46
75.43
1105.78
768.75
1925.88
1330.46
75.43
768.75
2006.13
28.89
1330.46
768.75
2004.52
768.75
2004.52
1330.46
768.75
2004.52
768.75
1442.81
40.12
1442.81
1442.81
1442.81
593.81
1442.81

Customer price excl. VAT
56.14
4.81
N/A
4.81
72.22
12.84

N/A

10.6
21.2
21.2
1551.8
1551.8
21.2
13223
21.2
256
1500.6
21.2
21.2
19.5
1500.6
1573
83

8.5
1500.6
1486.5
13223
1500.6
1465.3
704.4
1322.3
704.4
13223
42.4
46
704.4
83
704.4
83
704.4
704.4
704.4
2118.5
83
2118.5
845.7
83
21185
5.3

53
348
36.8
139.5
24.8
33.6
79.5
84.8
7oAl
124
79.5
1463.6
83
1216.4
845.7
2118.5
1463.6
83
845.7
2206.8
31.8
1463.6
845.7
2205
845.7
2205
1463.6
845.7
2205
845.7
1587.1
44.2
1587.1
1587.1
1587.1
653.2
1587.1

61.8
5.3

53
79.5
14.2




#7131 Shearwater NERD holder for Divesoft BOV

#1943 Adapter for JJ-CCR / Shearwater HUD holder for DS|
#1530 Hose cap 9/16-18 UNF

#1807 Clamping ring for DSV/BOV for Cooper hoses
#1760 Clamping ring for DSV/BOV for JJ-CCR

#1810 Clamping ring for DSV/BOV for AP Inspiration
#1759 Clamping ring for DSV for Hollis Prism 2

#3364 Safety Mouthpiece

#1758 Clamping ring for DSV for rEvo, SF2

#1757 Clamping ring for DSV for ISC Megalodon

#1945 ADV Blind Plug

#7068 Watertight screw cap 9/16-18 UNF

#8304 Adapter HUD rEvo, single

#8303 Adapter HUD rEvo, double

#3006 Umbrella valve 35.50 mm, low opening pressure
#1789 BOV MAV, left lever DIL

#1790 BOV MAV, right lever OXY

#8278 BOV KNOB EXTENSION

#8277 BOV KNOB EXTENSION w/ ADV switch button
#7093 BOV diluent hose adapter

#8180 JJ-CCR / Shearwater HUD holder for Divesoft BOV
#8181 Narked at 90/AP Diving HUD holder for Divesoft B(|
#3170 BOV hose 110 cm

#3284 Hose for ADV in T-piece, 60 cm

#3267 Clamping ring (for ISC Meg, SF2, rEvo, Hollis BOV)
#8154 DSV/BOV snap rings with eyelets

#3363 Quick Disconnect connector - BCD Nipple to 9/16 fq
#7170 Offset adapter for JJ-CCR / Shearwater HUD holder|
#8255 Service kit - MAV

BOV/DSV/ADV > Manual Addition Valves

Code Product

#7117 Manual addition valves, DIL + OXY 34.4 mm (1 3/8"|
#7116 Manual addition valves, DIL + OXY 30.5 mm (1 3/1¢
#7145 Manual addition valves, DIL + OXY 44.6 mm (1 3/4"|
#7218 Manual Addition Valves DIL+OXY 44.6mm (1-3/4")
#7122 Manual addition valves, DIL + OXY 38.1 mm (1 1/2|
BOV/DSV/ADV > Hose nipples

Code Product

#8165 Hose nipples (44.6 mm, 1 3/4")

#8166 Hose nipples (39.3 mm, 1 9/16")

#8245 Hose nipples (38.1 mm, 1 1/2")

#8164 Hose nipples (39.6 mm, 1 9/16")

#8163 Hose nipples (45.0 mm, 1 3/4")

#8162 Hose nipples (34.4 mm, 1 3/8")

#8161 Hose nipples (30.5 mm, 1 3/16")

BOV/DSV/ADV > ADV

Code Product

#7206 Membrane ADV, direct bayonet, left - With shut-of|
#ddd Membrane ADV, direct bayonet, left - With shut-of|
#7207 Membrane ADV, direct bayonet, left - With shut-of|
#0000 Membrane ADV, direct bayonet, left - With shut-of|
#7132 Hose connection 9/16 closable with banjo

#7110 Membrane ADV in L-piece, left

#7111 Membrane ADV, direct bayonet, right

#7082 Membrane ADV in T-piece with shut-off valve
#7081 Membrane ADV

#70941  Membrane ADV, direct bayonet, left - without shut]
#7094 Membrane ADV, direct bayonet, left - without shut]
##7094  Membrane ADV, direct bayonet, left - without shut]
##7206  Membrane ADV, direct bayonet, left - without shut]
#7109 Membrane ADV in L-piece, right

BOV/DSV/ADV > Loops

Code Product

#8249 Complete loop with BOV + T-piece ADV + MAV
#8248 Complete loop with BOV + T-piece ADV

#8247 Loop with DSV + T-piece ADV + MAV

#8246 Complete loop with DSV + T-piece ADV
BOV/DSV/ADV > DSV

Code Product

#7147 DSV without hose nipples

#7177 DSV with elbows without nipples

#8226 DSV + MAVs 34.4 mm (1 3/8")

#8229 DSV + MAVs 44.6 mm (1 3/4")

#8231 DSV with hose nipples 30.5 mm, 1 3/16"

#8225 DSV + MAVs 30.5 mm (1 3/16")

#8233 DSV with hose nipples 39.3 mm, 1 9/16"

#7136 DSV + MAVs 38.1 mm (1 1/2")

#8234 DSV with hose nipples 39.6 mm, 1 9/16"

#8235 DSV with hose nipples 45.0 mm, 1 3/4"

#8232 DSV with hose nipples 34.4 mm, 1 3/8"

#8230 DSV with hose nipples 38.1 mm, 1 1/2"

#8236 DSV with hose nipples 44.6 mm, 1 3/4"

#8287 DSV with elbows (45.0 mm, 1 3/4")

#8288 DSV with elbows + MAVs 38.1 mm (1 1/2")

#8282 DSV with elbows (34.4 mm, 1.3/8")

#8291 DSV with elbows + MAVs 44.6 mm (1 3/4")

#8286 DSV with elbows (39.6 mm, 1 9/16")

33
11

12
12
12
12
145
12
12
11
4.8
24
26
33

19.68
20.8
79

14

19

45
48

45
18
25

Customer price excl. VAT
370
370
370
370
370

Customer price excl. VAT
47
47
47
47
47
47
47

Customer price excl. VAT
284
2323
284
284
36.96
233
254
224
142
254
254
254
254
233

Customer price excl. VAT
1433
1208
914
689

Customer price excl. VAT
391
471
749
749
399
749
399
749
399
399
399
399
399
479
829
479
829
479

36.30
12.10
6.60
13.20
13.20
13.20
13.20
159.50
13.20
13.20
12.10
5.30
26.40
28.60
36.30
3.30
3.30
21.70
22.90
86.90
15.40
20.90
49.50
52.80
4.40
7.70
49.50
19.80
27.50
0.00

407.00
407.00
407.00
407.00
407.00

0.00

51.70
51.70
51.70
51.70
51.70
51.70
51.70

0.00

312.40
2555.30
312.40
312.40
40.70
256.30
279.40
246.40
156.20
279.40
279.40
279.40
279.40
256.30
0.00

1576.30
1328.80
1005.40
757.90
0.00

430.10
518.10
823.90
823.90
438.90
823.90
438.90
823.90
438.90
438.90
438.90
438.90
438.90
526.90
911.90
526.90
911.90
526.90

52.96
17.65
9.63
19.26
19.26
19.26
19.26
232.71
19.26
19.26
17.65
7.7
38.52
41.73
52.96
4.81
4.81
31.58
33.38
126.79
22.47
30.49
72.22
77.04
6.42
11.23
72.22
28.89
40.12

Customer price excl. VAT
593.81
593.81
593.81
593.81
593.81

Customer price excl. VAT
75.43
75.43
75.43
75.43
75.43
75.43
75.43

Customer price excl. VAT

455.79

2323
455.79
455.79

59.32
373.94
407.64

359.5

227.9
407.64
407.64
407.64
407.64
373.94

Customer price excl. VAT
2299.82
1938.72
1466.88
1105.78

Customer price excl. VAT
627.52
755.91

1202.07
1202.07
640.36
1202.07
640.36
1202.07
640.36
640.36
640.36
640.36
640.36
768.75
1330.46
768.75
1330.46
768.75

58.3
19.5
10.6
21.2
21.2
21.2
21.2
256
21.2
21.2
19.5
8.5
42.4
46
58.3
5.3
53
348
36.8
139.5
24.8
33.6
79.5
84.8
7ol
124
79.5
31.8
44.2

653.2
653.2
653.2
653.2
653.2

83
83
83
83
83
83
83

501.4
2555.3
501.4
501.4
65.3
411.4
448.5
395.5
250.7
448.5
448.5
448.5
448.5
411.4

2529.9
2132.6
1613.6
1216.4

690.3
831.6
13223
13223
704.4
13223
704.4
13223
704.4
704.4
704.4
704.4
704.4
845.7
1463.6
845.7
1463.6
845.7




#8290
#8285
#8284
#8289
#8283
#8281

DSV with elbows + MAVs 30.5 mm (1 3/16")
DSV with elbows (39.3 mm, 1 9/16")

DSV with elbows (44.6 mm, 1 3/4")

DSV with elbows + MAVs 34.4 mm (1 3/8")
DSV with elbows, (30.5 mm, 1 3/16")

DSV with elbows (38.1 mm, 1 1/2")

BOV/DSV/ADV > DSV > DSV + MAVs

Code

#8226
#8229
#8225
#7136
#8403

Product

DSV + MAVs 34.4 mm (1 3/8")
DSV + MAVs 44.6 mm (1 3/4")
DSV + MAVs 30.5 mm (1 3/16")
DSV + MAVs 38.1 mm (1 1/2")
DSV + MAVS 44.6mm (1-3/4”)

BOV/DSV/ADV > DSV > DSV

Code

#7147
#8231
#8233
#8234
#8235
#8232
#8230
#8236

Product

DSV without hose nipples

DSV with hose nipples 30.5 mm, 1 3/16"
DSV with hose nipples 39.3 mm, 1 9/16"
DSV with hose nipples 39.6 mm, 1 9/16"
DSV with hose nipples 45.0 mm, 1 3/4"
DSV with hose nipples 34.4 mm, 1 3/8"
DSV with hose nipples 38.1 mm, 1 1/2"
DSV with hose nipples 44.6 mm, 1 3/4"

BOV/DSV/ADV > DSV > DSV with elbows

Code

#7177
#8287
#8288
#8282
#8291
#8286
#8290
#8285
#8284
#8289
#8283
#8281

Product

DSV with elbows without nipples

DSV with elbows (45.0 mm, 1 3/4")

DSV with elbows + MAVs 38.1 mm (1 1/2")
DSV with elbows (34.4 mm, 1 3/8")

DSV with elbows + MAVs 44.6 mm (1 3/4")
DSV with elbows (39.6 mm, 1 9/16")

DSV with elbows + MAVs 30.5 mm (1 3/16")
DSV with elbows (39.3 mm, 1 9/16")

DSV with elbows (44.6 mm, 1 3/4")

DSV with elbows + MAVs 34.4 mm (1 3/8")
DSV with elbows, (30.5 mm, 1 3/16")

DSV with elbows (38.1 mm, 1 1/2")

BOV/DSV/ADV > BOV

Code

#8213
#8174
#8142
#8209
#7088
#8173
#8172
#7089
#7087
#8169
#8170
#8141
#3171
#8109
#8107
#7086
#8202
#8221
#8220
#8224
#8219
#8203
#8210
#8146
#8218
#8217
#8216
#8215
#8214

Product

BOV + ADV with hose nipples 30.5 mm, 1 3/16"
BOV with hose nipples 39.3 mm, 1 9/16"

BOV + ADV with hose nipples 38.1 mm, 1 1/2"
Divesoft BOV spare o-rings

BOV OTS without hose nipples

BOV with hose nipples 44.6 mm, 1 3/4"

BOV with hose nipples 39.6 mm, 1 9/16"

BOV + ADV OTS without hose nipples

BOV + ADV Dréger without hose nipples

BOV with hose nipples 30.5 mm, 1 3/16"

BOV with hose nipples 34.4 mm, 1 3/8"

BOV + ADV without hose nipples

BOV with hose nipples 45.0 mm, 1 3/4"

BOV without hose nipples

BOV with hose nipples 38.1 mm, 1 1/2"

BOV Drager without hose nipples

BOV + MAVs 30.5 mm, 1 3/16"

BOV + MAVs 34.4 mm, 1 3/8"

BOV + MAVs 38.1 mm, 1 1/2"

BOV + MAVs 44.6 mm, 1 3/4"

BOV + ADV + MAVs (44.6 mm, 1 3/4")

BOV + ADV + MAVs (34.4 mm, 1 3/8")

BOV + ADV + MAVs (30.5 mm, 1 3/16")

BOV +ADV + MAVs (38.1 mm, 11/2")

BOV + ADV with hose nipples 44.6 mm, 1 3/4"
BOV + ADV with hose nipples 45.0 mm, 1 3/4"
BOV + ADV with hose nipples 39.6 mm, 1 9/16"
BOV + ADV with hose nipples 39.3 mm, 1 9/16"
BOV + ADV with hose nipples for 34.4 mm, 1 3/8"

BOV/DSV/ADV > BOV > BOV

Code

#8174
#8173
#8172
#8169
#8170
#8171
#8109
#8107

Product

BOV with hose nipples 39.3 mm, 1 9/16"
BOV with hose nipples 44.6 mm, 1 3/4"
BOV with hose nipples 39.6 mm, 1 9/16"
BOV with hose nipples 30.5 mm, 1 3/16"
BOV with hose nipples 34.4 mm, 1 3/8"
BOV with hose nipples 45.0 mm, 1 3/4"
BOV without hose nipples

BOV with hose nipples 38.1 mm, 1 1/2"

BOV/DSV/ADV > BOV > BOV + ADV + MAVs

Code

#8219
#8203
#8210
#8146

Product

BOV + ADV + MAVs (44.6 mm, 1 3/4")
BOV + ADV + MAVs (34.4 mm, 1 3/8")
BOV + ADV + MAVs (30.5 mm, 1 3/16")
BOV + ADV + MAVs (38.1 mm, 1 1/2")

BOV/DSV/ADV >BOV > BOV + MAVs

Code
#8202

Product
BOV + MAVs 30.5 mm, 1 3/16"

829
479
479
829
479
479

Customer price excl. VAT
749
749
749
749
749

Customer price excl. VAT
391
399
399
399
399
399
399
399

Customer price excl. VAT
471
479
829
479
829
479
829
479
479
829
479
479

Customer price excl. VAT
899
850
899

830
850
850
879
879
850
850
891
850
842
850
830
1200
1200
1200
1200
1250
1249
1249
1249
899
899
899
899
899

Customer price excl. VAT
850
850
850
850
850
850
842
850

Customer price excl. VAT
1250
1249
1249
1249

Customer price excl. VAT
1200

911.90
526.90
526.90
911.90
526.90
526.90

0.00

823.90
823.90
823.90
823.90
823.90

0.00

430.10
438.90
438.90
438.90
438.90
438.90
438.90
438.90

0.00

518.10
526.90
911.90
526.90
911.90
526.90
911.90
526.90
526.90
911.90
526.90
526.90

0.00

988.90
935.00
988.90
8.80
913.00
935.00
935.00
966.90
966.90
935.00
935.00
980.10
935.00
926.20
935.00
913.00
1320.00
1320.00
1320.00
1320.00
1375.00
1373.90
1373.90
1373.90
988.90
988.90
988.90
988.90
988.90
0.00

935.00
935.00
935.00
935.00
935.00
935.00
926.20
935.00

0.00

1375.00
1373.90
1373.90
1373.90

0.00

1320.00

1330.46
768.75
768.75

1330.46
768.75
768.75

Customer price excl. VAT
1202.07
1202.07
1202.07
1202.07
1202.07

Customer price excl. VAT
627.52
640.36
640.36
640.36
640.36
640.36
640.36
640.36

Customer price excl. VAT
755.91
768.75

1330.46
768.75
1330.46
768.75
1330.46
768.75
768.75
1330.46
768.75
768.75

Customer price excl. VAT
1442.81
1364.17
1442.81

12.84
1332.07
1364.17
1364.17
1410.71
1410.71
1364.17
1364.17
1429.97
1364.17
1351.33
1364.17
1332.07
1925.88
1925.88
1925.88
1925.88
2006.13
2004.52
2004.52
2004.52
1442.81
1442.81
1442.81
1442.81
1442.81

Customer price excl. VAT
1364.17
1364.17
1364.17
1364.17
1364.17
1364.17
1351.33
1364.17

Customer price excl. VAT
2006.13
2004.52
2004.52
2004.52

Customer price excl. VAT
1925.88

1463.6
845.7
845.7

1463.6
845.7
845.7

13223
13223
13223
13223
13223

690.3
704.4
704.4
704.4
704.4
704.4
704.4
704.4

831.6
845.7
1463.6
845.7
1463.6
845.7
1463.6
845.7
845.7
1463.6
845.7
845.7

1587.1
1500.6
1587.1
14.2
1465.3
1500.6
1500.6
1551.8
1551.8
1500.6
1500.6
1573
1500.6
1486.5
1500.6
1465.3
2118.5
21185
2118.5
21185
2206.8
2205
2205
2205
1587.1
1587.1
1587.1
1587.1
1587.1

1500.6
1500.6
1500.6
1500.6
1500.6
1500.6
1486.5
1500.6

2206.8
2205
2205
2205

21185




#8221
#8220
#8224

BOV + MAVs 34.4 mm, 1 3/8"
BOV + MAVs 38.1 mm, 1 1/2"
BOV + MAVs 44.6 mm, 1 3/4"

BOV/DSV/ADV >BOV > BOV + ADV

Code

#8213
#8142
#8141
#8218
#8217
#8216
#8215
#8214

Product

BOV + ADV with hose nipples 30.5 mm, 1 3/16"
BOV + ADV with hose nipples 38.1 mm, 1 1/2"
BOV + ADV without hose nipples

BOV + ADV with hose nipples 44.6 mm, 1 3/4"
BOV + ADV with hose nipples 45.0 mm, 1 3/4"
BOV + ADV with hose nipples 39.6 mm, 1 9/16"
BOV + ADV with hose nipples 39.3 mm, 1 9/16"
BOV + ADV with hose nipples for 34.4 mm, 1 3/8"

BOV/DSV/ADV > BOV > BOV for Full face mask

Code

#7088
#7089
#7087
#7086

Product

BOV OTS without hose nipples

BOV + ADV OTS without hose nipples
BOV + ADV Dréger without hose nipples
BOV Drager without hose nipples

Merchandise

Code
#3505
#3547
#3500
#3504
#3567
#3354
#3357
#3355
#3356
#3345
#3337
#3334
#3344
#3340
#3316
#3548
#3314
#3313
#3550
#3551
#3351
#3350
#3353
#3352
#3346
#3566
#3312
#3332
#3329
#3338
#33355
#3335
#3342
#3347
#3339
#3330
#3343
#3333
#3336

Product

KEY RING - REMOVE BEFORE DIVE
Mask strap cover

Stickers

Lanyard

Divesoft Duck giant - black
T-shirt Don’t get fizzed - Grey
T-shirt Don’t get fizzed - Grey
T-shirt Don’t get fizzed - Grey
T-shirt Don’t get fizzed - Grey
T-shirt Don’t get fizzed - Grey
T-shirt Diver - Grey

T-shirt Diver - Grey

T-shirt Diver - Grey

T-shirt Diver - Grey

O-ring picking tool

duck clips

Line Cookie - Red

Line Arrow - Red

Divesoft Duck - red

Divesoft Duck - black

T-shirt Don’t get fizzed - White
T-shirt Don’t get fizzed - White
T-shirt Don’t get fizzed - White
T-shirt Don’t get fizzed - White
T-shirt Don’t get fizzed - White
Divesoft Duck giant - red

Line Arrow - White

T-shirt DIVESOFT - Black
T-shirt DIVESOFT - Black
T-shirt DIVESOFT - Black
T-shirt DIVESOFT - Black
T-shirt DIVESOFT - Black
T-shirt DIVESOFT - Black
DIVESOFT Shorts

T-shirt Diver - White

T-shirt Diver - White

T-shirt Diver - White

T-shirt Diver - White

T-shirt Diver - White

Merchandise > T-shirts

Code

#3354
#3357
#3355
#3356
#3345
#3337
#3334
#3344
#3340
#3440
#3439
#3438
#3437
#3472
#3351
#3350
#3353
#3352
#3346
#3443
#3442
#3441
#3444
#3445
#3332

Product

T-shirt Don’t get fizzed - Grey
T-shirt Don’t get fizzed - Grey
T-shirt Don’t get fizzed - Grey
T-shirt Don’t get fizzed - Grey
T-shirt Don’t get fizzed - Grey
T-shirt Diver - Grey

T-shirt Diver - Grey

T-shirt Diver - Grey

T-shirt Diver - Grey

Ladies Polo Stripe

Ladies Polo Stripe

Ladies Polo Stripe

Ladies Polo Stripe

Ladies Polo Stripe

T-shirt Don’t get fizzed - White
T-shirt Don’t get fizzed - White
T-shirt Don’t get fizzed - White
T-shirt Don’t get fizzed - White
T-shirt Don’t get fizzed - White
Mens Polo Stripe

Mens Polo Stripe

Mens Polo Stripe

Mens Polo Stripe

Mens Polo Stripe

T-shirt DIVESOFT - Black

Customer price excl. VAT

Customer price excl. VAT

Customer price excl. VAT

Customer price excl. VAT

1200
1200
1200

899
899
891
899
899
899
899
899

830
879
879
830

15
15
15
15
15
90
0.5
15
15
15
15
15
15

15
15
15
15
15

15
15
15
15
15
15
15
15
15
29.9
29.9
29.9
29.9
29.9
15
15
15
15
15
29.9
29.9
29.9
29.9
29.9
15

1320.00
1320.00
1320.00

0.00

988.90
988.90
980.10
988.90
988.90
988.90
988.90
988.90

0.00

913.00
966.90
966.90
913.00

0.00

1.70
11.00

2.20

2.20
99.00
16.50
16.50
16.50
16.50
16.50
16.50
16.50
16.50
16.50

1.10

6.60

1.10

0.60

5.50

5.50
16.50
16.50
16.50
16.50
16.50
99.00

0.60
16.50
16.50
16.50
16.50
16.50
16.50

9.90
16.50
16.50
16.50
16.50
16.50

0.00

16.50
16.50
16.50
16.50
16.50
16.50
16.50
16.50
16.50
32.90
32.90
32.90
32.90
32.90
16.50
16.50
16.50
16.50
16.50
32.90
32.90
32.90
32.90
32.90
16.50

1925.88
1925.88
1925.88

Customer price excl. VAT
1442.81
1442.81
1429.97
1442.81
1442.81
1442.81
1442.81
1442.81

Customer price excl. VAT
1332.07
1410.71
1410.71
1332.07

Customer price excl. VAT
241
16.05
3.21
3.21
144.44
24.07
24.07
24.07
24.07
24.07
24.07
24.07
24.07
24.07
1.6
9.63
1.6
0.8
8.02
8.02
24.07
24.07
24.07
24.07
24.07
144.44
0.8
24.07
24.07
24.07
24.07
24.07
24.07
14.44
24.07
24.07
24.07
24.07
24.07

Customer price excl. VAT
24.07
24.07
24.07
24.07
24.07
24.07
24.07
24.07
24.07
47.99
47.99
47.99
47.99
47.99
24.07
24.07
24.07
24.07
24.07
47.99
47.99
47.99
47.99
47.99
24.07

21185
2118.5
21185

1587.1
1587.1

1573
1587.1
1587.1
1587.1
1587.1
1587.1

1465.3
1551.8
1551.8
1465.3

2.7
1777/
3.6
3.6
158.9
26.5
26.5
26.5
26.5
26.5
26.5
26.5
26.5
26.5
1.8
10.6
1.8
0.9
8.9
8.9
26.5
26.5
26.5
26.5
26.5
158.9
0.9
26.5
26.5
26.5
26.5
26.5
26.5
15.9
26.5
26.5
26.5
26.5
26.5

26.5
26.5
26.5
26.5
26.5
26.5
26.5
26.5
26.5
52.8
52.8
52.8
52.8
52.8
26.5
26.5
26.5
26.5
26.5
52.8
52.8
52.8
52.8
52.8
26.5




#3329 T-shirt DIVESOFT - Black
#3338 T-shirt DIVESOFT - Black
#33355  T-shirt DIVESOFT - Black
#3335 T-shirt DIVESOFT - Black
#3342 T-shirt DIVESOFT - Black
#3339 T-shirt Diver - White

#3330 T-shirt Diver - White

#3343 T-shirt Diver - White

#3333 T-shirt Diver - White

#3336 T-shirt Diver - White
Merchandise > Jacket

Code Product

#3471 Ladies Outdoor Jacket

#3468 Ladies Outdoor Jacket

#3469 Ladies Outdoor Jacket

#3470 Ladies Outdoor Jacket

#3467 Ladies Outdoor Jacket

#3532 LADIES STRETCHFLEECE JACKET STRIPE
#3531 LADIES STRETCHFLEECE JACKET STRIPE
#3530 MENS STRETCHFLEECE JACKET STRIPE
#3529 MENS STRETCHFLEECE JACKET STRIPE
#3527 MENS STRETCHFLEECE JACKET STRIPE
#3526 MENS STRETCHFLEECE JACKET STRIPE
#3528 MENS STRETCHFLEECE JACKET STRIPE
#3463 Mens Outdoor Jacket

#3462 Mens Outdoor Jacket

#3465 Mens Outdoor Jacket

#3464 Mens Outdoor Jacket

#3466 Mens Outdoor Jacket

#3449 Mens Stretchfleece Jacket
#3448 Mens Stretchfleece Jacket
#3447 Mens Stretchfleece Jacket
#3446 Mens Stretchfleece Jacket
#3450 Mens Stretchfleece Jacket
#3451 Mens Stretchfleece Jacket
#3549 Ladies Stretchfleece Jacket
#3453 Ladies Stretchfleece Jacket
#3455 Ladies Stretchfleece Jacket
#3454 Ladies Stretchfleece Jacket
#3452 Ladies Stretchfleece Jacket
Merchandise > Headwear

Code Product

#3456 Snapback

#3458 Flexfit Ripstop Sandwich Cap
#3457 Flexfit Ripstop Sandwich Cap
#3460 Roll-Up Beanie

#3459 Casual Outsize Crocheted Cap
Merchandise > Others

Code Product

#3461 Hand Towel

#3500 Stickers

#3567 Divesoft Duck giant - black
#3572 Liberty Shallow

#3571 Liberty Shallow

#3574 Liberty Shallow

#3573 Liberty Shallow

#3484 USB Flash disc 32GB

#3316 O-ring picking tool

#3486 Wristband

#3485 Wristband

#3483 Poster set

#3314 Line Cookie - Red

#3313 Line Arrow - Red

#3581 Banner

#3582 Banner

#3436 Belt

#3550 Divesoft Duck - red

#3551 Divesoft Duck - black

#3487  Mug

#3566 Divesoft Duck giant - red
#3312 Line Arrow - White

#3347 DIVESOFT Shorts

#3496  Flag

15
15
15
15
15
15
15
15
15
15

Customer price excl. VAT
99.9
99.9
99.9
99.9
99.9
59.9
59.9
59.9
59.9
59.9
59.9
59.9
99.9
99.9
99.9
99.9
99.9
59.9
59.9
59.9
59.9
59.9
59.9
59.9
59.9
59.9
59.9
59.9

Customer price excl. VAT
7.9
19.9
19.9
7.9
14.9

Customer price excl. VAT
12.9

90
59.9
59.9
59.9
59.9

7.9

0.4
0.4
17

0.5
40
70

12.9

149
90
0.5

79.9

16.50
16.50
16.50
16.50
16.50
16.50
16.50
16.50
16.50
16.50

0.00

109.90
109.90
109.90
109.90
109.90
65.90
65.90
65.90
65.90
65.90
65.90
65.90
109.90
109.90
109.90
109.90
109.90
65.90
65.90
65.90
65.90
65.90
65.90
65.90
65.90
65.90
65.90
65.90
0.00

8.70
21.90
21.90

8.70
16.40

0.00

14.20
2.20
99.00
65.90
65.90
65.90
65.90
8.70
1.10
0.50
0.50
18.70
1.10
0.60
44.00
77.00
14.20
5.50
5.50
16.40
99.00
0.60
9.90
87.90

24.07
24.07
24.07
24.07
24.07
24.07
24.07
24.07
24.07
24.07

Customer price excl. VAT
160.33
160.33
160.33
160.33
160.33

96.13
96.13
96.13
96.13
96.13
96.13
96.13
160.33
160.33
160.33
160.33
160.33
96.13
96.13
96.13
96.13
96.13
96.13
96.13
96.13
96.13
96.13
96.13

Customer price excl. VAT
12.68
31.94
31.94
12.68
2391

Customer price excl. VAT
20.7
3.21

144.44
96.13
96.13
96.13
96.13
12.68

1.6
0.64
0.64
27.28
1.6

0.8
64.2
112.34
20.7
8.02
8.02
23.91
144.44
0.8
14.44
128.23

26.5
26.5
26.5
26.5
26.5
26.5
26.5
26.5
26.5
26.5

176.4
176.4
176.4
176.4
176.4
105.8
105.8
105.8
105.8
105.8
105.8
105.8
176.4
176.4
176.4
176.4
176.4
105.8
105.8
105.8
105.8
105.8
105.8
105.8
105.8
105.8
105.8
105.8

14
35.2
35.2

14
26.4

22.8
3.6
158.9
105.8
105.8
105.8
105.8
14
1.8
0.8
0.8
30.1
1.8
0.9
70.7
123.6
22.8
8.9
8.9
26.4
158.9
0.9
15.9
141.1




